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17



rlindisp P frupel

“m:lrm‘hnu': ‘]'\/'IHITI:B G]—E I G2_E lullﬁlrp Eu: f: G — Gy
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U wildiiuEup Lhunlyuy lu[unluu[uunl[lrpnu/b\
f:(Z,+) — (Zn,+) npuybu f(m) = mmodulon: [Jljuuyn L,
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19



Lupruslyfry spusukip

Ulsdisizmnesd. Wfrgrp H-p G puddpsp Eufdusfundiin b, uyufivpu H < G
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livfuinbup noppalifh Sy pukp: \fulpud bynnddyuitn g bupnud”
pausslipfs wnbiwnalyys oo ly i sl

1. a € aH
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iy C = ahy = bhy Ik bla = hzh;l e H, neunfi aH = bH:
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L puindfy [Feapladp Sfipn Emule witnfbpd lupy. ncubynyg fudpbpf
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witiGpuud kg bl pusfuspusg, np

(ab)'(cd) = b 'aled e H (11)

Woumplip (11)-fp disitanfop qlagpp, bpp b = d: Yo qlagpod”
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wunL[bmlL, lrpp H<G I -$Lul[mn[1—pwlll/;u[¢?/nl_(uﬂ funulﬁ E iy

funcdpp Guinfuivbup plpinnp-funcdp (Eum H b(llﬁwﬁJL/izﬁ) I
G\H wpuiimf ljipuitnuliup wyy funcdpp:

28



Uk dfs f 2 Gi — Go LndindipBfugpdfs Skan pgefond” Ety Chanlejuy
bplye. prsqdin g nitiulyy dfiPrclyp
kerf = {x € G1 | flx) = ¢}
b uqunnlybpp
Imf={ye G | Ix € G flx) =y}

Llppnnknp, np dipncyp sp lppog quwmoply fiuky, puisp ap fle) = e
I mpkadire € kerf:

ZundingfEup, np di9nchp Gi-p b wgunnlibpp Go-f Eufdwfudplpu Eu:
Yy Sondivgr mnneg Eup (1) wyuydinifr ﬂllﬂnL@ﬂL‘llEf

{}\/15"143 X1,X2 € kerf, Ly

fixr'x2) = faHfz) = (Fxn) flxz) = e
puitf np f(x1) = fx2) = e: (1)-p wnnyy k:
U‘ﬁz'"-l[ﬂ (l'"["rluL El'/glul'll"LlIﬁ EGi-nuf? hpn‘g, [7/3[7 h e kerf, iy

S hx) = f)Afx) = flx)ef(x) = flx) 7' fix) = e I
x'hx € kerf:

Shyop y1,y2 € Imf: Yuuiflin x1,x2 € Gi, np flx1) = y1 I
f2) = yar Nlwbup  flxy'x2) = (fAxn)'Ax2) = yi'y2,  owwnnfy
yi'y2 € Imf b (1)-pr snenngyy k=

R witifs np wpunnlbypiv Eufdwfuncdp b Go-nol wopu wlfuluym L, np f
wnmmunnlbpnodfy - Gi-pg IMf Ymjingba  Codindap$pgd” F L
ulgpuluitn [ Gy — Gy Cadindip$pfugdpy  nouncdinsfipn [dnicup
Cutig by E f 2 G — Imf Codindivppfrgdpy meomdisfypn [dyuivg:
Newnp,  wowing  fugloivpmfdyniup fuwpunkpe lpopog Eup

29



lllu[lrlu(lllu'-["lul[l[ITL Ll}lll(ll(ll wijli i bwygprif, bpp G, = Imf

Wegmp f: G — Imf SadindiapP g b Vyrpfivs b wnng by, np
fla) = fib) = ((b))"'fla) = e =
f(b"Hfl@) =e = fibla) =e =
b~'a € kerf < akerf = bkerf:

Wutinps, Eplpne sppbpp spubpnkpp Sondfulfunad” £y dfufi b
dfnufin win qlwpmd; bpp Condiulfumod” Eu upuitigm] Sifuwd Caulif

I]_IJJIJITF([I Elllﬂ ljl‘lgﬂLl[/l: ﬂLumﬁ UMLUHL[I_U& L_ l["n/lu/}uupd‘lzg
wpmunyunnlbipnul G\ Ker f $uwlpnnp-fudpf I I f- fr dpple
g : G\kerf — Imf
g(akerf) = fla)

q]ulplll[nur l,—, Iy g—(ll flllnllh[h?)fn_llr b: hullluu[lru, ‘Blll(lll'l Iy g—‘ll

thopudpipdtp b dinul’ E mnnog by
g((akerf)(bkerf)) = g(akerf)g(bkerf)
ll[llylrlll(lll'l &llnﬂLﬂlﬂL(llE, Fl_l{lg
g((akerf)(bkerf)) = g(abkerf) = flab) =
Na)f(b) = glakerf)g(bkerf):

(14)

(Lnpladd” 3 .(DgrddivpPfosgel]s divsufits [Fnapkiddfs)
b relpnnp- funcdin Iy [ﬂlI;H_I;TIT-g)fILLLI}I fi9nclf
gmilipp - Conlinlip gy syl
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hw(lln(luul[w(ll :ﬂLI;1LI;1[1$fMlLIEI

busigbu g funkup, Cndidippgdp digacdyp unpling Eufdufunodp

l[LuanLgbL/udizlrpﬁ 4n1/711/;1[1$[ullru{fhu[bu, iy lr‘l:/«?w[unulizﬂ l[uulllﬁ
iy il ol ol ol
mp H < G: GQunnigbup Ckinloyuy wypmungunnlybpnodp.
gnLp yhitp LyLuy Ly [fedpn
f:G— G\H

@) = all 15)

PDrunnpby f—E JﬂLplu‘Ew(llZ[ﬂL[I vnapp wiined” E iy lﬂlll[7[7ﬂl[
&(lu[w& (ll_ iy unppp ll[ulpﬂL(lllul[ﬂll) [Lu[nul[[lg rpufi 11172
éwlﬁuyﬂflug, npf—E [nlﬁu/ﬁpﬂ)ﬁzllrl;

flab) = abH = (aH)(bH) = f(a)f(b):
Guitliup dfignclyp: Ypn Cundivg quinkup prypnp x € G, np f(x) = eH:
Ruyy f(x) = xH, fuly xH = H < x € H: (\unnfr kerf = H:
Gunngfwd  Lodindiap$fupliy  fogfocd”™ b Juitritlpai
Cndimdnppfigidle wju poffiv nprpfned ™t G fudpr bt H npdig
Eufduwfuddpo: Yyugfrun] upupgfly, np
Yunliguilpuit iy Eufdufuncdis Sufung il F

Conlinlinpfoaplle i oncly b lpsiliggasyusits: Sonlialigs ol
LI]12ﬂL[[ (lln[nrluL Fuldwifuncdp E:

wuﬁ(ll_g(ll Eufdwsfudpfi L/ﬁgnl_l[ L/I(lllTLﬂL [Luml[nl_ﬁzlnfllg Lundivpdbp E
‘lln[urluL L/I(IIITLHL(II I Lly‘ll llluplrLﬁ E 'HL"”ITL iy bu ‘lln[urluL Euldifindpf
[wdiupd‘[zg vwilldininod?
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byndipBpugdpy diunfi [Henpladp Copding E dleadbpgfond” Gl
Goilienunful g pudikpf hgdas Wpomphbap kil
pfrasg proasedfs (upunnlybpp)

f
G —  Imf
rflogs

G\ kerf

npnky [ G — Imf wpfud CadindipPpgdi E f* : G — G\ kerf
huivimwlyuin: Sodinliip$pgdis B f*(a) = akerf L g : G\kerf — Imf
fgmdip$fuplic b pulpnnp-fudpf b apunnlbphe dp9le: Yo qfroog poandp
Cunnlppipulpuit b upuivmf, op wlpnud G- fudpf oplik @ wnopply np
upmprf by pupdifbup, dipn by univlip Imf-fi fla) umuppfiu: Ppnp,
g(f*(@)) = glakerf) = fla) Cunlivdwfu (14-15) wuldisivndfiskpp:

bgmdippfgdfy divufiv [Heaplkdis wunal b ap aplik G fudpfs pogop
Cmlinlipd  wppunnlbivbpp lpopkyh b anuivay fbpgubym] upo pogop
wnpdivg Bufdwpodpbpp b lpunmglynd - pulpnnp-fudpbpy. ponm uyn
wnpulivg Eufdwfudpbph:
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Bhlyldy fudpbp

Yoo G-u funudp £ L a € G: \puiulifup {(a) = {a" | n € Z}:
Wjuwypn & np (a) < G:
Liupunfnp k bplyne g bayp.
1. a" wnpplpp unoppbp Eu popop 0-fr Candivg
2. gmyndfdyniu ncukun ¥ m npa” = a”:

‘]\flmwpl[lr‘ll‘g LI 2[1‘[1 I]_lTLLLBE.‘ 11 luanLH[T(lI‘B < lrmlyluL f
Lu[1u1luu.[£uu1[[l?[1nLllzl\

fi{a) = Z
fla*) =k

npunky Z-p ofbpyind o pun goolepdiin: Yulupn - onp fop
tnfudfuupdtpnply wpmuyunnlbpoal” o (a) v Z-fp dfpun b
fla™™) = fla")f(a™), numnp win pgndipppoged” b Yugfuny wnwfi
playpond™ (@) fgrdipp E undpong [Gifliph fudpfit b, opladis, witeflp)
E:

rlipnp pbwypnol” gynddinin niubu wndpng) n = m np a” = a™:
‘bhymp n > m: Rugdivyunlbynf a® = a"-p wp b &wfu divakpp
a™"-mf lpnnuivwinp a"" = e: (\ennfr bphpopy playpool” g
wilbuusfinpp qpuljuit undpng n-p, op a" = e: TYymppin b unneg by, np
e,a,a%,...,a""" wmwppkpp ponpu b wmeppkp B pulungbo,  EjdE
a=d, 0<j<i<n-1, wuypu a7 =e b 0<i—j<n: Jkpdfiu
wppdisitop Solpunad” b wits puivfi, np R-p dmppaspagt gl
wndfng [Ifufu b, npfs Cundivg a” = e: Nwpy b np a” = e wpupdivinf
wunruwnmf (@) = {e,a,a®,...,a™'}y L ((a): 1) = n: Qunmgkup
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fila) — 2,
f(a®) = kmodulon

n[unlnl Z”'E Lfiuu(qp‘lllrpﬁ tpluu‘ll bEum modn, np t;ﬁmwpl[L[nurb gy
q_nLLIZu[uIZu(u: (I]Lu[u]_ E nn f-‘u ﬁq_ntﬁqn%/uyrb I lrpl[pnpq_ ,FbuanJ(a)
fusmidiits frgmidivgsp b dinsgpnkpfs kgl fudjfi:

“mﬂlrm‘hnu'.- <Cl> /unLLIﬁE l[n&L[nurb 5ﬁl[Lﬁl[ funudp fulp a € G
uipiin l[n&L[nLlrL_ /111/11!/1 &(llfl&

ac G unuppfl l[lll[nl_ E l[ﬂ&l[anuy(ll Ll7ﬂ£[11u11_"£_j(ll q_[nul[w(ll llllli'_'"llg
n [dhfp, npa” = e:

VChyop G-u fbpPunfnp ghlypdy funcdp b wyufiup qpnddyniu: adufs
a€GupG=(a)y Nuwpy b op fudpfr be @ vnsppfs lpsspe bpp Sonfusp
Eu dpliungu n [dffiu: Cwivkup G-fi fpndivpudjpit unuoppfs Jppg p:
Ruitfi np G ={e,a,a”,...,a" "}, wp pudpp fpolivgurdpuits gy
niufy Shinlyuy wkupp a*, 0 <k <n—1: $uitbup wjy wndbuuspnpp
qpuduits wndpng® S-p, op (@¥)° = e: Nuwpy b op a¥ = e I puivfi np
a-p fpupgp 0 b angu ks-p owponfly £ on-fiu: (\eoap a5-p fpopgs
npmplyne pivghpp Sufvq bgfnod” b Chnlyuy  [Hfwpuiiwluin pitgpfin.
wpfd 1 bk puwlin [Gfkpp Cunfiup quivky wiy andEuasfinpp s
Fuudpit [Ofufp, np kS-p puduinff wnvivg  dinagapgf 0-frfpo:
Abpyrmedltinp n-p e k- wpuspy g plisulph b wpupglup (96 fiug E
Cplpunfap wnfbyuguby K-fi flppndndfdyuivp,  npubogf win pp dJkp
wpwpniclfy n-f fbppedaddgncup: Yjuluym b op n-po b k-fr
by da [tk pugluimp  divup g Bpuivy  ondEnafinpp
gty pusduitnpuiy B (0,k)w: (Veanfy k-fr fbppmdodfduin JES

n-[1 L[lranL&nL/(?lw(u &ll[luﬂﬂL(lllul[l{"ll L/Zqu i (l’lnk) ‘v E anlnfil
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= n e u k (1 yri i iy n -
S n) WYyuliupu a pef lpopgp Sofusnop B .0 [

((Clk> : 1) = (nnk) 2 u]umlnlﬁg Lu(lufﬁgwu_[bu venuilincd” 17<ll‘2, ny G

/unLLIﬁE (}(lu_[nur E prynp Clk l"ul[T[TlT[T”l_[, npn(ug [Lulrlup (I’l,k) = 1:

Wl Sufisulpf puitnslp Sunfusnwp & Q()-p, npunkay @< Ly bl

Prculjgfiuin £ n-pyg thnpp Ik n-fi Lk thofurnpup&uwpup upupy [diflpf

ﬂw?lwhﬂ (17/5'17 n-f L[lranL&nL[(?/nL(llE g Lupuuuq_pﬁilllrpﬁ AT
ay ®q — _ 1 _ 1y

P1 ---Pq b"”"[‘”(p(n)_n(l JZ )(1 pq))'

Opfitnuly

Vurusplyling 2/ NZ puslyssngefamsslfp, gt fgralissp b s mod n-fr
dinugpubipf quwkph fudpfiv: ayoivf b ap n-p Cha pofusgupduapup
wpupy  A-pl Eufdwpogdiding {1,2,...n = 1-pg  lpugdied” E
diregunfrsgfilpunfu] Eufufuncdiz 2/ 0L-nuid; npfs oy Confunsg
@(n)-p, npnkyy @-u Lybpp $riulgpuin ko (\epladin a®™ = 1modn
prpnp A-pf Cundivp, np (n,a) = 1: Yw Luyuivh bygbipp [nplafi L, npf
wpugnygp wnuwigfly Sfufiflynd wjy duumnp po, op fadigodud
wmupp pupdpugud fudpf lpopg fe s (it ooagfo Efudpp dinsfep
emppp: Junivanfnp glwpnul) bpp n-p upopy [dfe] £ amgifnad” E
Cuyuitfi Sbpidivgp "hnpp" [Hnpladi P! = 1Tmodp prgnp 0 < a < p
Cunelinap:

Newpgbnp  uyddd™  sfbpunfnp — ghlyply  fodpp Eufdwfadpbpfb
fprurnegifudpp:

(Lnplal 4.
1. Shlyply fudisp Eufduspursdi gl L
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2 Gidk G- ghlyfly funcdpe B b (G2 1) = n, wqus
n-p - lppodivpelpei k- puodwimupopf Sunding
qiyncfdgnit nivfi k Apopgfi dpeoly Eufdwfuncdpp
G—ﬂLlI}.

Weprygnyy. Qupugmglinp  [Hnpladp wnuplin sfugnodp: Oy
G={(a) b H< G: gy b5 g H-fp umupplpp a-fr ununpluitinkp Eu:
Gl H = {e}, wupn wlipluymnplin H-p ghlyply L Gldk H # {e},
wipn H-nol” pguitnffr a-fo wndBunpnpp it unnnf8uip, uyufinpt
hquiifp a" € H L O0<p<m=a’ ¢ H: LPuwip np Hu
Eufdufundfs b, g (@™ S H: Wogmp @ € H: Puduiikup n-p m-fi
fpur = mq+p, 0 < p < m: (\epkatis a™ = a™*? = (a™)?al I puinf
np (@™)? € H mnuitnul Eup a? = a1 € H: 5jdE0 < p < m, wuyu
a’ € H, mumnfip =0, n=mq L a" = (a™)?: pulp vw ‘wyuitnalyned
ap H S (a™) b mpbdic H = (a™): Yowhond H-p ghlyply L b oo
Swfncd” b Henul  wpupniiwdpfng — a-fp wnlEwusfnpp gl
s uitim:

upyneglbiup uydil” [nplalpy Eplpnpy divup: bhygmp G = (a),
(G:1)=n bk H<G: Luwgpuindfr [Hnpkdpy wpupy b op (H 2 1)-p
n-pp pusduitnopagiv b Yhgop 0 < k < n bk nop puduinmpugiu
Uit sl sqspg by npp Q% )~ s pp Soanfoasesgps £ (nn n k:

7’
Srynep H<GILH:1)=k: huswybu nbkuniup, H = (a™), npunkng

m-p H-nurl ll[lupﬂL‘lllul[l{ﬂll Cl—/1 llll_IlT(llll.ll["ﬂ‘Ep Il_pwl[lu(ll LuumﬁﬂLu(lfll E:

ﬂL‘lIE[lﬂ, i (H 1) = (mn}’l) :k, nl_plnfil % = (m,n) I m-p
purduitnfmd” %-/, s wnwiy  dinegnpg i (oonf

H = <Clm> S <Cl%>: Ruyg H'E n (cﬁ)-‘u lrpl/nuﬁl L—L u[Luan(luul/nLLrlr(u k
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wnupys, mpladis H = {(a'%
11, nfi H <Cl k > In ﬁbﬂpblﬁl lLlll[LLlHﬂLgl[Lué‘ E:
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Ygforp G funeddpe b e H ne K G-y wiftngfusfy Eufdusfondpebys En,
ap G=HK={hk | he Hk e K}y: Nupykup, [ [fusugfusfs
upuydivitinkpft qbaypnud’ G fudpf jocpupuitigneg 8 wwpp dfnupd bpopki
ffubplpyuglfe g = hk, h € Hk € K ubupmf, [ug  npoud” Efdk
g1 = hiky I g2 = hoka, wupn 8182 = (h1h2)(k1k2):

Vymplin b mbainky, np HNK = {€} wupdiitit wivpudtym b
pufwpup L g = hk ubplpgpugdii diuopdbpnddyuin - Cundivp:
Puljungbu, Ed g = hiky = hoks, wyuw h3'hy = koki' € HN K:
Newnfp hy'hy = koki' =€ L hy = ha,ki = ko: Pymeu ngdfy, EIE
e ¥+ g € HN K, wuyps -1 niufr Eplyne imupplp ukplpuypugnul” ge I eg:

W, phynp g1 = hiki, g2 =hiky L gi1g2 = (hih2)(kik2):
Nuvkup 8182 = hikihoky = hihokika, mpkafis kihy = haoky,  fiugp
puitnulpmed by, o Yh € H,Vk € K wnyg £ hk = kh, uyufiupgn H m
K Evfdwfudpbpp wmoppbpp aobquspnfulyf Bu: dEppin wpuydiiug
Cunliupdtp & Hofi we Kofp unpdivpnf@uivg Gonud? Qunlivgfbp
spprodivnid? Sfgnp H oo K Eufdwfudpbpf wnapplbpp mbquihofulyf Bu:
Woegop § € G b g = hk: Wpumuplbiup g7 Hg pusgdindynicup: Nuwpy
L, wp g 'Hg=k'W'Hhk=k'Hk=k'kH=H & H<G:
syl g Kg = k™\h\Khk = bk Kkh = h™'Kh = h"'hK = K
L K<G: Yool unugmgbiyp Cwlpnudy afugocdj: Wgmp K <G,
H<G L he HkeK: Wumuphkup h™'k™'hk  wmuppp:  (\cukup
h='kthk = (W 'k W)k € K, puinfi np h7'k™'h € K: Jymu ngdfig
h'k-'hk = h"'(k"'hk) € H,  puwiupp  np  k'hk € H:  (Yeunfs
W k'hke HNK = {ey & h'k'hk=e, wyufipn  hk = kh:
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Vesédlisivanesl? Qo™ K, np G funcdis pp H b K Eufdusfudfsbfs

"“l/"l Lupmluq_[yw[ll L E[dE
1. G = HK (u{lu[nlb, anK = KH)

2. Hi<GILK<G
3. HNK = {e}

h‘ll&u[[ru UJFII_IT(H q_/1u1[7<ll‘£, Janwpwﬁlz[an g € G L/]nupd‘lzpnpb(u
‘lllrp[[ungL[nLLrb n[ul[[ru g = hk I, [7/3[7 g1 = hlkl, g2 = h2k2, iy
g182 uuuppﬁ (u[rpl[uylugnulb [limll(_lluL(ll F (h]hz)(klkz):

Vg wydd” mivkup Ephoe funcdp Gy b Ga: “Spumuphbup
G1x Gy ghlpupuyuin wpmuguyp,  apfe dpo mwldiiubup
pugdivyunnlpliiy— qopdngmfdyndn Cknlyuy — hkpey:  Chhgng
ai,br € G1 I az, by € Gy: Ywldiiukup

(a1,a2)(b1,b2) = (a1b1,a2b2)

Ympfiv b wongly, op Gy X Gou funudp b dfbpp upfd
nuqnppdfnd quyg bpf pogdlivsgpanlpdiv. qepngndyuit wlpanndiodp:
Uhunfnp wmuppp g (e1,€2)-u b npnkyg e1-p Gi-p, pulp e2-p Go-f
dpunfnpivkpn Eu: Nwpy & np (@,0)-fr Lwlpogupdp (@7',07")-u E
Lhunnbup,  ap {(a,e2) | a€ Giy L {(e1,b) | b e G}
prugdin[dndiukpiuy  Eufdwfudibp B Gy X Gy fudpad” b g puinp
Condispunmarafosiipuop  fymlip® En Gifin m Gofue Yn
Eufdrusfuddisbpgs uncfingdncd By Gr-fi me Go-fiu: Vypmpfivn b Cundivgifly,
ap G1 X Ga-p, G1-u e Go-p punfuspuupocd” B neqfuy wipumusgpyusgfs
vl 1 .-3. wpopdidtiubpfin, ooy Gi x Gy funudpp Gi I Ga
[ndpbph nogfuy wpnwg sy

G = HK mqfiy wpmwmpyuju pygnidipp b H X K fudppin: boljsygb,
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Janlll‘BllfllZlﬂLF (h, k) i fit H x K—flg [wfwlqwmwuﬁlw(ubjhlﬁug hk
i G—ﬁg: Ulfll[uym E  np Ly [wlrluu[wmwufuuflllrynuﬁl

ColinlipBpgel” b npp hnfudfuupdtp b b wppunnlbpp Sondfilfunod” E

77, F”Ilg G—/1 Ckun: anlnfil i /nlnllﬁp.g)/nllr E wq_ u[wmﬁwn_ru[ uy(ll
l["wumﬂ, ny G = HK "’-'l/"L L gy E gpnul Eu Z[Tmllz]wL llbpu[\
G=HxK:

Rolitn &onyf  owldiifoud  E o Qulimudpst fbpudap
puitndpncfJguadp fpudplpf noghy  wpogyegp - G x G %, xGy
qblpupuyuits wpmwgyugh wmwppkpp pogdiveuoanlpfood” e Cealyug
by

(ar,az,...,ay)(b1,ba,...,by) = (a1b1,a2b2,...,a,by)
G fumuddpsp o fungfudd

{(e1,...,ei-1,a,ei11,...,ey) | a € G}
Eufdusfudpfin:

Vhgop Hi,....Ho-p G fusdpspy Enfdusfudiely En b G = Hy...H,: G
funcdpp fyfivf Hy, ... Hy Evfdwpadpbpl oogfey wpowg oy, EjdE
(hiveoshn) — By by wpmmggunnlpoufic— fgodiappad” E
Hy xHyx...xH, b G = Hy...H, pudpelipfs dfple: Y pbaygprsd g preoeal”
£ G =H) xHyx...xH, b ww twpuiwlynud” £ np jogupuitisyogs
8§ €G CQunlivpg gynddynit niufy upw dfuspdbpnpby apapfud
hplpugugnudp g = Wy Ry, npnky hi € Hii=1,...,n, L kfdk
gl =hi...hpgr =hi...hp, www gigs = (hhy)...(hehn): e
umupplp Hi-fi ik Hj-fi tnpplpp ibquehnofulyfr Eu: (Vegfup apoasg pyuogf
uilelisitnlisin 1 .- 3. ity lg ol Sty gy,

1. G =H,...H,
2. (Vi)H; <G
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3. (Vi) H.. H N"Hiy = {e}

Oplitnuljukp

1. Mgmp G =< g >u gllyply prdp L (G 2 1) = n = pq,
n[un[rll (p, Q) = 1, uyu/fll_g(ll p—(ll ne q-‘u l["nlluuq_wp&wplup
wapy  [Ifbp Eu: Lpuimulhbup H =< gP > L K =< g7 >:
h‘h&u[[ru L;funlr‘lug (H . 1) = (q, (K . 1) =p I H-u ne K-1 q [Lp
Gwpfe dpudy  Eufdufudpbin En Gonuli {Jupugoigbup, np
G =HxK: ZLquluﬁuy(ll bLlQLfnpbuﬁ LuLL;npfl/ﬂLlﬁ L;tynLﬁ?/nL(ll
nicuk Lu1/i1n112 X Iy ll.(lillll[l‘llll‘l‘ll, np Xp +yq = 1: ’)\ﬁgnL_B
gee G [lukup  g° =g = (gP) (@)Y, mulpju
(gp)z,x e HIL (gq)zy S K, nLumﬁ G = HK: -.Rlu(ll/l Iy H/ll[Lfll[
funu[ifh lll[lk[[lu(ll E (mlnllul["nfulrLﬁ), iy I pragng
li(lllgw/'ullﬁlipﬂ (lln[urLuL Eu: %Hngg gZ e H N K: I}‘Lll
(llllu(luul[nur E, ny gZ = gps = gqt I ps = qtmodn: ﬂLplﬂﬁl
ps—qt=nv L ps—qt=pqv: [umnkghy Clknlinul™ E np
ps = Q(f +pV): Luitfi np p-1 ne §-u hnfuugup&ugpap iy
Ev, wupn s = O0modq I t = Omodp: [Jjufiupy ps = Omodn I
C[t = Omodn, nLumﬁ gps = ng = ée: l]luu[ﬁunll nullwl
Lupuuuq_[waﬁ vl it g 1 ,—3, ll[llylrw(ll(lllip[l
plut_[w[uu[u[w& Eulh G =HXK:

2. Hupugbus g punkp n s fy ghlyfly posdii fugdip & g
modn-/w Lﬁuugg(ubpﬁ ll_wubpﬁ llu/ﬁlfu (Eum q_nLLrLu[urLu(ll), np(ll

/1:_an;1[1-$ b Z/I/ZZ .$Lul[u1n[1—/1.u]ﬁ/1(u n npy Lllr(u‘[g (ll&u,l(lllul[ITL b/ﬂ{g

Zn—nll: lllranL(}lr(u_[g I’Z—E g Lupuuuq_pﬁglllipﬁ
n = p(flpgz . .pzk: <uurlu3uy(u (luu/un[n]_ opffluul[ﬁ vumtined”
lr(ll_g, nn Zn = Zp‘fl X... XZka b

3. I]“I‘IHIH:B G-u Hﬁl[Lﬁl[ funcdp E I (G . 1) = pa, "FLHITIL p-u
upupy [Ifn] b @ofuupfivkup G-u upuit figndipp Zpe furdpm:
Fusubu gpunkup Zpo-f fpodipulyuit ubtfudpit Eufdusfundp

ghlybly b b e Gy Sonfusmmp £ pPL 0 < B < a: flphalis
Zpe-f prynp Eufdusfuidpbpit En

41



0y cZ,cly c...C lyr © Zype: Ylfulwpn L np
huundigguits byl wbalussite Eufdusfusdiepfs Sy
wpprctlynd E 7z [, Zpe (Fusugbu b G-u) Chpuafogs
ok ubplpyuguly wlthuwdppit Eufdwfudpbph nogfog sipog o)
dfpPrgmef:
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Oy prugidin [dynitiuky

Usidisivunel: G fudpefy S Evfdwpunpdin[dniup  fngifnod” - Sufis
pragdncfdincy G-p Cundivg, Ejdk G-p hunlivpuljuin @ wnopp Gupkyf

whplpypuguly — S-p wwppkpp Guel” gpeing Salpasgap&ukpf
luplﬂluq_[ZIUILﬂLl a = x‘i‘x?...x}i", € € {1,—1}, X; € S, I = 1,2,...,k:

Opfivnuljulp

1. My G =Sp: Qaywivy L np Apdiggudgei
wbqpuu pocfdyndcu lpnplyf Eubplpyugguly ipuivasgngfugfuikpf
gy, nLunfs popp n unprilif
wpuitmyngfigfuinkph pogdiddgndup o Sufy pagdiddyni ©
Sn-b Cunlivp: [y wy Sups pugdin/dncs b Sy-f Sundiup
[lrmlLJwL pwlllﬁult?/nl_(ug l[wLLLlZ[Luc} Eplpnd

1 23 ... n—-1mn

kg o [y kg g ) 34 . A

1 234 ... n

21 3 4 ... n
ghly & fuly dincep inpuivuwyngfigfo:
2. ‘Mygmp G =An: Qufisubph  pugdicfdniu L popnp 3
Eplpspnddyuite ghlybph pusgdiodynicup:
3. Mymp G = (Z,+): Wunmwplup Skl pusgdio dyndp
S={2" | meZ m>0%: [YjuCuym b np lpobingudd
wilfng (] wify bpleali ubplpgugnd; app 2+
wnnfuitivkpf qacdivg b (pugusudpiu [y Sadivp flpgdnod”
Eu S punglinfdyuit Sy pivkpp):

4. ’}-ﬁgnl,p G-u [wp/gnL@ufll L[lrl[mn[flllrpﬁ pLuLlLﬁn_@nL(lfll E
q_/nnlup[IL[Lu& iy q_nurlu[nrlu(u q_np&n:lnl_/q]w(u: fbﬁpulfu‘g

, npnﬁlgﬁg lllILlllgl‘fllE n bpl[luanl?]llfll
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bplpre s lyfiub fldpnngiukp @ b b: Yuinnglkup S
pupdinfdmip {Ad | A€ Ry U{ub | p € Ry: Qupy b np
fyunligpulpuiv flidpnnp fpeplyfs © ubplpoyguguly S-fi uuapplpf
qmdivpf wkupmf: [Josnfy, S-p Sufis pusgdin [dyncu £
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Oufisubpf "ndbny" pusgdin [y

Oufy punpliddyuits wwldivuncdhy  Eplinal” B np pudpf - popep
wnupplpp lpoplyf & iy lpenog by Sufrs posgdiddpeit wnupplapf
prynp Siwpunfop wpmog ppuofubpp: Pauphl, g fuliven odufe wivky
ifbpQunfnp fudpbph qlgpood? Ywlpaf: wyg opplddislpeit wmbowlbanfy
[udih Sufis puigdin it dpPngny wpdivi bquinwlp [dEph L _puinf np
acubipn dpju [Hilpnegle Sufisubpf ofk pPunfnp pusgdi jdyncu qyopfiv
sk prpnp Siwpunfnp wpmwgyuulph Quongodp: fodph swpph
wkplhuyuignodp Sufy  pugdin|duit wwppkpm - dfuupdtp o5 L
by Sufy pudiefdndop Snwpunnp 3L ungfufudy Supfly podgh
ljsprg pr:

Abpp upfwnd  wpunnSuwnubpn - fulivan oiuf g fumwplly - Sufy
pusgdin[dyuit quiqueapiopl dEl ayy anfbyp ulg wsppbpol, oppoglpd £
flpnifiypuy  [Fhpofdyniinkppy:  lmuguyaul” goyy  Apooiup,  op
hundipudpuitn:— Sufy  pupdinfdyniupy  dpepkh F wiuguly
Cunbiuyumnfunit ‘unp "uby’ uppbplfi:

Vg G < Sp: (R Llyfsfs [Fhnpladly ((3knpkdd” 1) fppny Eup
wwililivitnhulply dpuj kg poddyniiinkph fuddpbp
ipfemplplivddp:) Qg Bup G-fi Eufdwfudpbpfs dfs pifdus

G>2G12G122...2G123..i 2...2 G123..n1 = G123..0 = €} (16)

Wty Gios.i-v lpwqdifwd G- wjy ponp
b prafdynctinkppy, op 1-p uwiuead B 1o dk9, 27 2-p, 3-p
3-froee, iU i-fr dEY: Nuwpy b np e € Gz # D L Gi23..i < G,
i€ {1.2,....,n}: Wunwphknp (16)-fp bplne Lwplonit wivgunfikpf
gy
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Gi123..i-1 = G123,

Gi23..i-1 \G123. iz
Rnan mlTllLuq_an/(:}lnL‘ll‘lllTpE 6123...1'—1-/15 wpaliguitined” Eu 1—/15 i—1
Lnluppbpﬂ (llyu/fll_pﬁl l”lu(ll"LL[.lT(ll l—E 1—/’ LIEX, veey i_ l—E\ i_ l—f’ llbg):

Grlpne X by nbquigpnddyniy Gz i1-py fpgunlppivBy - dfdcuog
Swpuulihy qunfit pun Gz, i-p < x(0) = y(0) (uyufiupt diuaju bpp
Xepp b y-p 1 snwsppp wnwivncd” B dplicung unoppf dE9): Ppnp, npugbugf
X-p I y-p by dplungy quepy pon G- winpudiom EoL
punfupup, np X'y € Gios_i: U wpuiwlpnod” b, ap (1)) = i,
puyy (V@) =3 0@) =i b mpkadic x(@) = y(@): Ymokahy
bgpuwlpugunod” Eup,  np G123..i-1\G123. Pblpnnp-pusgdin dyndup
g b by andBmpunp n—(—1) =n—i+1  wmupp
(Cwpnulyprg o), uyofinp’ (Gi2s. i1 @ Gioz. i) Sn—i+1:
Gennegliup G-fi unupplpfs dfy prqdie [dyncu Skl lipey:
Wonwplhkup GN\G1-p: Bmpuwpuigmp Lwpulify qufy, pogh
G1-py, hpnliypuljuiv &len piinplup Jfs vlplpopugngfis: Gi-fy npugh
ukplpuyugnighy  funpkup  dhunfnp seppp e<u: uimoliEup wyn
vhkplpupugnogfisubpp e,x1,x2, .. Xk -mfs Nwpyg & np ki +1 < n:
‘bpuivfy  Cknn gpmwphbyp GONGo-p: Gplfin jmpupuiigneg
Swpuulihy  spwofy, poglh Guo-py, pdivpadpis: &lem]  ponpEup dfs
whplpuypugnighs: Gio-py  npuylu ubplpypugnegfs - finnplyp  dfusgogp
et en: Lpuitnulbup wyp ubplpuypugmgfsulpp
€, V1,Y2 s Ykg-mf: Nuwpy b, np ko + 1 <n—1: Cuwpniullymf
wpnglbup  widb i G123..i01 \G123..i-fi _nupupuitiggnep Cupuulyfig
speuafryg piinpbup ukplpsypugngfisubp dbpgulym] e npugks Gios.i-fr
wkplpuyggfis: ) kpoud” g fumoplbup G123, 2 \G123..0-1-p,  npis
wlbuupunnp Apopnyg b odvbuay Eplpoe unopp dpusfapp le g
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bquug prfdyndup, op wpulaguivond’t 1-fig 1 =2 wupplpp, fulpn —1-p
iincd b n-fi JE9, n-u by n — 1-fi JE:

‘Ywwunnpbup fnpdwd vkplpuyugnogbsubplin db wgooolpe JE
nmgbpnud” qpbym| G123, it NG123.i-pf ‘ubplpuyugmgpsubpfi: Yy
wigninwdyp [nculb Chanlyjuy nkupp.

e X1 X2 - Xk

e yi Y2 - Vi (17)

Ugyreowlyfs wnwfi wngp wpupndimdpoad” £ ky+ 1 wmapp 1
ki +1<n, kplprpng wogp apupaddeod E ko +1 < 0= 1 upp b
wyf:  Qupugmegbup,  op (17)  wynonulnad” - fuggq plpfiod
b prdfdincinkph pugdnddyncup Sufis  pungpdnddypncy E G [fudpfi
Lunliup:

Srygmp a € G: Wumwphtup G\Gi-p: Nwpy L np au
it b onplek Swpulify s pon Gi-f: “Shgmp wuyn quf
ubplpyugmghsp X150 b Yy qlpnad™ x7'a € G, puinp op wpg Eu
wpopgly — Eup,  npa‘u b Xi-p Cungs Qwpulfy o qashy o Eu
= xi1(1) = a(l): Wygnp x7'av wunnlppinal” £ GING12-f  wj
Swpulghy  spwwfiv,  npfh wkplpagpegmghyp o y2-uo ko (\opladis,
y2'x1'a € Gua: Wmmplinp wydal G12\G123-p: Dhymp 23-p y3'x7'a
umuppp upupnddpng (17) wnynonalyfs Eppopg angood” qaditinfog o
Gis-p Cwpulfig  quonfs ubpluyugoegfsn L Nwpg L onp
Z3'y3'x1'a € Guos: Cupnitnulbym] wyu wpnglup funoiuinp (17)
wipreonalify wnwppbph (uodBu mogfy dElpoljedn) - dfy g pgag
zayviixitla € Giospo1 = ey, mumnp .G y3xTla=e L
a = x1y223...: Wupiupy, G pudpp  huolivpoloit okgusg pocdpncu
whplpuyugnd” E(17) wnyneowlyfs smupplipfy wipmwgpuym| b uyy
gl Jdyniups Sufrs prusgdifdyc b
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Llpnnkiup, g fbpp i wpumog ppagod” disdsadygaol” E(17)
wipnendyfy grcpupuitign wnngfy Al sepp (apny g bwypbpooal”
par fpaprg b gfiuky dpufopp - e<u), g npood” algpehy fkpgdnod” E
wiw i mngfy JE imepp, Sann Eplpnpy g b wygglo gupndnly:
Lhunnkup, np a = x1y223... ‘ukpluypugnudjy dlfy E puinp np, kgl
wyip. whplpaypgdiit nplcls wmupp hofuwpfinffs (17) wognoolfs g
wnghy  dE oy vmoapprf, wgue e wpuitnelnod” B np
Lundivipunnmufunitn. G123, i1 \G123_i-nud”  fbpgifnad” E bl gy
Swspuulgfy s le nennfy Sowpunfnp sb wmuiay @ wnoppp: Q iy,
plmuplbup @ = X1y223 e b = X1y222 wnpplpp, wupm y5'x7'a € G
b y3'x7'b € Go: Puivf np 23 # 22, wopm qpuinp pun Gios-fr
wwpplp Swpuidyfyg quulph ubpluywgmghiulp Eo b 23(3) # 22(3):
(s, a(3) + b(3):

Wughom| wnwguivg, ap (17) wiyocadym] apefg pusgui g
Sufis prmpdin |y b G fudpf Cundivp, pug npoud” fuldpf sppkpf
whplpypgnudp (17) wognosify unoppliph db9ngmd  djaliy © EJE
widbu snnqfy Safnpquwpup flpgdud b Sppu dEly wwpp: TYynopfin £
wibwivky, np G fuddpf wmuppbph puitwdyp Sonfusap (17 ) wigncawlfy
unuppkph fbpp Upwd wipumwgaubph puitnalifiu, o ppe CEpldfi
Suntfusuup E wigrelyf wngbpnul”  wpupndilpfng
kg poddynitinkph puitwliulpf wpng g fin, wyofiugn

(G : 1) = (ki + Dka + 1)...:

U seelebisitannesl’ (17) wigrcawlymf m[u[wc} Sufrs pragdndfdyncup
lingifnud’ "nLd‘lTll" &(llfliulrpﬁ Fw:yﬁu@nfu:

48



Updisfr vy nppifdidf

Yhymp G =Su b funcdpp wmpfnd L Sufisubpl S pusgdin (dyuin
dfpPrgrmf: Qpdisfr wpgonphfdilfy nnuivusym] S pugdindynicup g ook
G fuddpfs " rnudHey" Supsubpf pusgein dync:

Wnphldidp lppnnegnadt (17) wognunudyp: “spor Sundiup oqamflyme
Eup nxn i wiynunlpy, nph ouivqalfulph JE9  gqplpoe Eup
b oo fdynctivelgs: Yo wggrocsliy niufs Slanlygsy ukbaupp.

1 2 3 ... n
e
2 W e
H E .
H B N
728N BN BN BN I

Uyrmonslypy ingbpp b wpwisbpp Candivpulupfud Eu 1,2,...,0
[Fflpm]:  Julynivwg duyfiv duivipwliubpood”  qpind L dfunfnp
wibqui pofdyndup: Jlyniiwg Sfy ubppl quitnfng dfuivqulfulpp sEu
o npdafnd? uitnpuwly wubpm| dEnp wyumlanl hluulpuiunip
witdyniuwg Sy ofbple gty dfuivpwlivbpp:  vivgalfubpood” ljpng
Eu wnbqugpfly  obqugpoddyndivkp by alapog podgniu - JdEl
fuivipuidpnud? Y wivljubpp wale lpopng B peomoply gfiuky:
Uprrmphldidp fivfdugpd npny kg poddyndivkp qpnad Eu gl
fuitipiljulipf JE9: GfdE i-pu wngf j-pr duitipudpod™ (G < J) quufly EX
b prcfdyniup, wygun wpopumugfp wylnp b onkgp nculn x(Q) = j
wpuydivivg: \Yufiupt uyn duivipnlyp wofuunnbudind b dfngjy wjiogfuf
kg pocfdynitivkpfy Sunding, nprup U wmoppp muiinod” Eu o iwsppf
dE9: @uinnnplin (18)  wiymuwdyfy fuivnpawlfulipnd” g npfifdidfs
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wpfunnnuipf wpngymupnod wmgdnd By (17) wgpocomdyfy auppkpp,
uyufipt lppnnogdnol E nodHey" Sufisubpf pusgdin [dyncup:

Uldif wygnppldidis  wppmnniuph fnfdwgpoul”  apuppbpupup
lppmpnud” L dp qapdngm|dyniu,  npp fnsfnud” - cascade: Y
gopdngnifdnivp Gfypponadnad” onplle inbgung podyeitin, Epp (18)
wigprendypy divoundp pugdud b uyofiupts opny duivgalfulpood wpg Eo
lpspg Eu inbquig pud fiuly ilaqug podyndiukp:

Ll plinp - cascade  qopdngnifdyniup: Shynp npfnd £ oa
kg prfdyndcup:  cascade(@)-mf  wppimwlppd” By gopdmgngdyuin
hppusmncdj @ kg pocdyuit wlpasndivdps:

cascade(a)- Cuppfuud Eup Clanlyjusy sy,

1. (llllu(luul[nur lr(lug b—ﬂl[ [l(lllglllgfll[ mlnlLuq_an/(?/nL(llE I
L[l?pg(llnLlrlflI‘B b =da

2. [Lu&l_[nurli(u‘p b(l)—E I pfumuplnul’ Eup (1 8) uul[nl_uwl[ﬁ
i it L

3. E/dE b(l) =1 lu(l.lg(llnLl['lT‘ll‘B 5. [Ewnfiu

4. EldE b(l) =i+ 1 vncgnud” Eup  wnawdfin mngf i—pq.

l_[lu(llll_lullﬂ. [7/3[7 uy(ll r[_wuuupl[ K wiyu mlTller_anlrlT(llﬂ Ly
L[Lu‘lu]_wl/nurb Lnlnlluq_an[é'/nlfllE I cascade(a)—(ll llll[luplﬂl[lué‘

E 17/3[7 iy l.[l_l_l(llq_lul[E llFllllllTHL[lJJa— E I Llyl]_mlrll q_[u[luar E x
Lnlnlluq_an[(?/nL(llE, iy ZLUlL[nLlrlT(ll‘E b = X_lb, L[bpg(unur[r(up

wyp ‘unp piufdwghly nbgugpodfdincup e wivgunod” Eup Su®npng
LEnfin

5. Lupfnud” Eup b(2)-E Lo qfumuplynal Eup (18) vyl
Eplypnprg g

6. E/dE b(2) =2 Lu(llg(llnurlr(ll‘g 8‘ LEnfiu

7. kg b(2) =i+ 2 wnnignud Eup Eplpnpng. uinigfi -

uitnpulyp. Bl wjt qunmoply b, angu kg pocd” Eup oy
L[Lu(lu]_wl[nurb mlnlluq_pnl_ﬁzlnl_(uﬂ I cascade(a)—(u Lut[wpuu[w&
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E lr/glr iy l[lu(lll]_l_ul[Ll q_pw:lbgL[w& E I Llyl]_mlnl q_[u[lu& E y
ml?lll_uq_pﬂqulﬂL(lIE, wiuy [LulL[nLLrlr(u_g b = y_lb, L[lrpg(llnurlr(llﬂ
iy (unp quﬁwgﬁl[ l"l?lllu’]_an@nL(llLl I Lu(llg(unurlfu‘g lwgnpq_
fibanfin

8. L[IT[ILI (l.IZLllu& lnllu(luul[nl_[ Zluan(luul[nLLrlT(h‘B u[pnglruE Jyneu
Lnnll[rpfl L'LULrlup [Lugn[n;wplup:

Upyniupncd; und (1 8) wiyneudpncd ypuagfrn "L ddfs o sfuivig ),
s by wivigulges] (1 8) wiynewlyfs prynp inogbipm| qocpn Eup qusgfin
wiyninlyfrg  wnuitogmf - a-f ukplpypugocdie sogoosdif appbpf
dfpfrgm] a = xy... gmpuwpuiigmp woghy  JEly abqogpoddns
tflepgifrasd:

Yhymp G =Sy I funcdpp wpdind b Sufisubph S pgdin [dyuin
dfingmf: Luivh np G sfbpPunfnp b hunligulpin a € G niuf
fbpQunfnp lpupy, wyufinp quynddniu oiuf qpuolppit wdpng® [def m
witnyff, np a™ = e (Sfpkup, np M-p fudpp lpopygfr paduivwpup B):
Neplafiia™a = e b a™' = a™': G-p hundivpuljuit @ wpp unwgnol”
ES punplin/duiu vuuppbpl wpnwgyugl difngm] a = x7'x3. 0
gie{l,-1}, x; €8, i=L12,...;k: Uuwlpujn Cuppuffi  wnubym|
a"! = a” Lunfunmopnddyniup mnwgdnul’l, np GunBggaluin @ woppp
Cunlivp Gguimfp wjngpuf ubplwgugned”a = x7'x3 .50 apogi= 1
ayufiupny  a-u S punpliddyuin (unaing  qpa Swlppapdulpfs
o npddisit)) vnnpplpf wpany oy B
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Uldisfs wipgnppfdidps lpspeog pocdyniup I

lynnbElpnnddyuity winpuigny gy

Upzrppldds  divinp £ Lvitgpogivoud” 0 umuppuinf
wbipupodpndivkphy - lpupdifnd S pupdiddyacup,  npp Sufisulpf
pusgdic/dynic b fius-np dfp G < Sy Eufdwfudpfs Sundivp: Yygopf|ddf
uipfummitpf wpiyniupnud lpongnad” b G pudph "md by Sufigubph
dly pusplivefdyni, apfs wwppbpp smmoagdood” Bu (18)  wiyneamlynal”
(npfe  nngbpp  Candvlfuncd” B Condivguunmufuuinnpap " md by
Sufisubpf prsqddindyuit (17 ) woynimdyf innglipfy Cn):

Uprrplldidfy wipfuunnuivpp wlpgpacd” (1 8) wiynemulyp qunnwply L
Gt wygnpplddp nplk puyihy Cknn (18) wiynmwdynd” jpugfned” Eu
popnp fuitupadiulpp, wigun wygophfddp fbpPunfuncl’t fip wpfunnnuinpp
b wyq qlwpocd” wpupg b oop G = Sy Pulpunybn, fiugubo wpn B
wnmegly Eup (G 1)-p Cunfunnnp b (17)  wynenwlyfs  innglipf
unupplpf puitnulfulpf wpnuegugfin,  app Sandpivlfunal” (1 8)
wigninmlyfy  mogbpnol” qpdwd (Capdp En watfnd” sl dfgig
wnupplpp) b poddndivkpl puituliulpf wpowgpgogfiv: GlIE
gt it aliulpy qpagfud Eu, g (G 2 1) = n(n—1)...2 = n!:

Upprrnphfddf  hpunmupdiin wwgfin shngnud” gnepupuiigmp - a-fr
Cunlivgg S pumplindinicufy  Gpnmopnod” Eup cascade(a)

[I_"F&"IL"L@HL([IE:

uuuppl?pﬁ JnL[ougw(uﬂan Cl,b Llnyq_ﬁ [Lulrlup (q_ﬁuuupl[L[nurb Y/
a=>b q_bu[QE) l,wzlLIZ[nLLI' Eu Clz, bz, Clb, ba luplﬂulll_[ylll[llbpﬂ I
tp[uu‘llg [wdiup llluuuu[u[nurb cascade Lpnp&nllnL@nL(llE: (4111[1[[ L_(ll&hL,
np @b goygkpl pugdidecup g fiaadply E o agofingt wigig Cann
l["nl["nﬁu[nur E Py, ‘Bllfllfl np uﬂ(ll L[lrpgluL[np E, iy LuLLpnpﬁ/JL/ﬁ
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4[7”1"): bpl[pn[n; ’-["HLLfI lllL[lllFlﬂﬂl[ l_l_ll.[l_l_l[Tl_nl.[nLlr L_ qu‘"FﬁlglIi'

i &/‘uwunu(lygﬂ.’

Uupgmgbup  uyddd]  np Updif  wpfuunnvivpf wpgnicupod”
hngwd (18) wiynuulyp Cuftg i E " nidby Sufisubpf
pragdndfdyniu:

Trygmp S =t tnp: Yueligwlpiv a wwpp G fudphy
whplpyugifnad” b S-fi wppbpfs wpomwgggugm] - a = titi,. . Gy Loiuf
ap Wpdish wpopfpfdidfy wa@fiv shognid” S pognp unupplpiv wingly Eu
cascade-mf qpuitp  popnpp ubplpgpugdood” Eu (18)  wiyneaalyfs
wnuppkpf wpmogppojubpod, ey opoad” By moghy kpydnd E
Sfipn ddlidy kg pofdynicn G Apopng E wlefiuky  dfwnfnpp):
Wrwbup ubplpuyugnol” wmoivuyne Lundivp - punfudieiu L hplfi
cascade funmupky wnfpuyy t, Goliup: Wunhante (18) ungmealf
wmppbpp lfupuineliBup g wmunkpmf: Yogumugnpdtup  fiung kpunky
wnnpli fiugkpup goyy Apmw [JE wnfpey 8w (18)  wiymewwlyfy np
gy & flepugefusd, fy sl fiug kpups o g npdEup. mogguly
Chpdudpuiun /iy by Cundivp: Yugpum| @ = tity,. .. b,
whplpyugnodfy (oqufbym|  ti-pf (18)  wnynunwlyfs  umwpplipm|
whplpyugnodikpfy) lponoivninp Chnlyuyp.

a =(8183--8n-1)(8783- - 8n1)- - (8185 &i1)(81853--8n1) (19

ti

t; t

1 2 lig_

Wye vhplpypgncdp [JElL wpupniiulpnad” b dfusjn (18) wigpneswlyf
wbapu poddgnitivkp,  wwlpejn s dpopng - Qudivpefly - dunfbp
wkplpyugnud] puivf np wdBu wnnghy o s fbpgdod Sfpen kL
b prc i ([Cuplls, Bl k =1, wgu ulplpuygugnody dunflp D)

k
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b unflyp dES Sundivph wngf wnoppp Quitng fuynod” B wnflyh pron, puit
unfbyp dnpp Sunliupfivg opfinly g, 181

‘Shumuphbup (19) wkplpgpugdiiu wppbpp pupd k] wdhy
Awifu: \Jmwfite pbaypp, bpp wnw@fin mngf uwppp qpafud b gy mnngf
unppfy Cknn g 8185w b i np g3718Y-p (18) wgynssulyfy
empplpf qoygfi wpmay ey b wopa wggoph(ddf Eplipopg g f
dunlivily uyu wppmnpyuyp Eufdwplpfly b cascade-fi I mupkaliv wyjn
whplpyugned” L (18)  wymumulify smwpplipf wpnusgpyuggm]
g1t = §182---&n-1 (npp Lhpumefdyundpe hpupny Eup awiiusy fplfi
&i18\ -1 Eufdwpllym| cascade-f): Wugpwmf, (19) bpluyugnodjy
lpupunag pff npuyb

Q=818 8118183 --8n-1---81 &5 -+ Gn 28182 &n-185-. &t

Wl 8281 o wwsmwwsffits unngfs sppp g ufisd gy g
wppfy  Ckun: Yo qgpfwgp dEly wbgm] wnfbgh dinn £ (19)
ubplypygungilisiv. ulpgpfiv: @nfuwplivkp] 8,758 1-p s vhplugugngding
(18)  wymonulihy  wnwpplkpm| b pupmivwlbynd  wyo wypogbop
hlunivbup wytn upulfin, kpp wdhy &wfu qiinkpn] a-p ulplpayugdion
wwfie qpifuwgp, npaod” wow@fin wngf seppp wyy mngh o owpphy
Ckann b qpufusd qun Y781 wkup qpufugp lyfivf: Qo qpafugp dk
wbqe wnflyfs divn b (19) ubplpuyugdiiu. ulpgpfin. puits ‘uwfunpy
uyiugfuf qpefugp: Puivf ap 8781wy by Eufduplpgly E
cascade-fi  wppnppfddli  bplpopy sprgeod] wgpe g5 g1 niuf
whplpypugod” (18) wynenwlify wmupplpn, apof b lppofuwpfiokup
g\ g1-u a-fr ukplpuygidiviu dk9: Copritnalibym] wypnglup hluniubup
a-f Llanlyyuy vhplyny g divin

a = g188jn---&is

npnky  dpwjn g1-u B (18)  wiymuwlf wnawdfiv wmnghy, ol
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dinugwdubpp Eplpnpyfy vlppwd mogbphy Eu: JEpgubpn] 85,8, - -8,
wppmpyuyp fbpp g fumoplpfod Equinwdp] - fapooeg pEup - wjn
828ir---8i, whupmf, npnlay dpuj g2-u b (18) wiynumulyfy bplypnpy
winigfrg,  fuly  dinguwdubpp kppopfy wlped mngbphy o Eue Qo
wpngbuf wpgyniupnud” wpepg B np lpeneineiup a-fp dfs
a = g182...8&n-1 whplpuypugoud] npnkey giu (18) wiymumulyfs i-py
winigfy bz Ygopplddf o blpnnddyniiv wpugnegfud E:

Yymplin b nbainky, ap Ypdih wyggopplddh  wmwfn ol
l[wmw[u[nll CGSCGde—(lllTF/I _Blu(luu[[E [w:.[wuwp E |S|—[1 R flul[ 17[1[[[1"[1:;

-1)/2
l["nLLnuruy(llzﬁ q_b[uuzllu(llgnur( n(n2 ) ) = 0(1’14) lglulﬂ.'
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Ulndish g nppifdidfe [y b usgfer Sk fdyundis sty ddfy supp
Gusplings it fryiubp: Juople phpdud B df puivf opfiuliubp:

1. ‘Mygnp G funcdpp (G < Sp) wpfwd LS Sufy
pussgdin[dpnicum] b Swplppnfnp b Supfly G fudpfs lpupgp: Py
Sundivp lppnncgnol” Eup [Jfulif uggnphlddf dfigngm] G fudpfs
“mdby’ Supgubph pugdifdacap: Yo Sogpdoad” Bup (18)
wiynenlf nngbpoad” gqpfwd nlapug podpndinkph
puitnuliubpp b uyn puitnelfubpy fpap pogdiveguenlibpod
uunu‘llnuflr‘ll‘g (G . 1)—L1:

2. ‘Mygmp G fundpp (G < Sy) mpfwd £ S Sufy
plulllﬁu@nfllnll: hﬁu;ﬁp, ae s, Lunliup umnu;lrL aec G
upgdiivp: fu pivg hpp oo™ Cknlypuy fpoy: Guinngnol”
Kip Ypulishy wpsprnpsfdilfs dpdrgen] G fuslify " mectto’ Supsulipfs
passplive fyuncops [yoal” Qusilivguulyuits npifosd @ wnboqass o fdyusi
Lundiupp a € G u[uyLrLu(ll[l lllﬂﬂLq_lTLﬂL Lunlivp fynunnal” Eup

cascade(a)—‘ll (1 8) l_l_lll[nLl_lull[/l (an uuuugl[[rL E U/ILIZI/I
wynpffdiding) lmndiodf: Jpggeipood” und” wnainol” Eup

a-p ubplpuygugndis " nedbn Supsubpl pusgdin (it wpplpm]
I I1Lllll1/l\ a € G, Lunl” [,—L cascade(a)—ﬁ wlenLilanflbnp& E

lllumw[u[nur L[uug(lllrL (1 8) Lu:ynLuwl[fl nplLL— tplumwpl[
L[Lu(llq_wl[, /1ul[ 1w (ll&w(luul[nurb, i d ¢ G:

3. Mymp Gu b H-p Sy-fp Evjdwpudplp Eu b wpgnd Eu
Cunlimyunmuufuuiwpup S L S? Sups pugidin jdnitiubpm):
ZL”FIIL”L["F E o wnng by H<G wpypdivitip: N Lundiup
punfudjpiv b pognp a € S™ wnmg by a € G upupdiviup: JEpffin
hivhpp preddd Eisfunpy fifnol

4. I]“I‘IHHI:B H<G<<S, L Gu m H'E Ln[u[lu& Eu
Sundivwyunmuw funitnupuop SC 1. SH Sufis pragdincfdynciubpnm:
Lwplpfop b mnmgly HQG wpupdiiup: s Sundivp
fspfnced” Bup Clanliyjuy hkpey: Ypdifs wygoppfdding lppnncggad”
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Eup H-fi L G- "nuflnl" Sufisubpp  pugdicfdindiukpp:
mpupuitigynp h-p le g-p Cundivp Lundivygunmuufuuiiwpup
ilkpgifind H-fi b G-} ”nLd_[TIL” Sufisubpp puqpdnddindinkpfiy
uwnnegnud” Eup ghg_l e H u[uylrlu(llﬂ: lLlT[TQﬁ(lI u[uylrlu(llfl
v nudp Lpmndfdyundp junnuypfnod” | CGSCGde(ghg_l)—E
Suipifbymif:  GldE  poypnp qbwyplbpnul”  wnvivnud” - Eup,  np
ghg™' € H, wupu H < G: Bjdk qriuk dbly ybwpnoal’ghg™ ¢ H,
wpun wilfpluypmnp By H<G wuydiipn mbkgh sncufi:
Uvppgnegbup,  np Ef@l poynp h-pp b g-pfr Lundivp
Cundivsunmufuniupup  fbpydud oy b Gop "nedty
Supsubpp pusplin[gyniiinkphy wlqgh ncuf ghg™ € H upydisiup,
Ty H<G: ¢Luuu1n[1b<ll :‘”[7[[‘”’-["[7 E lllnnLq_lTL, ny
Vxe GVyeH xyx'eH: ‘PMugmp x=gi...gn1 Lk
y=hi...hy "n:.d‘lnl” Sufisubph punpdifdyncinkph wwpplpnf
‘vhpljuypwgnodfikpu Eu: [lubup

xyx‘l = g1...gn_1h1...hn_1g;11---ng

I

xyx !

= g1...8n2 \(gn_1h1g;11);..\(gn_lhn_1g;11)} g;lz...gjl:

eH eH

Dspyg b, op (gnthi 8,20 (gnm1h2gyl)). . (gn-thno18501)
wipnunp oy oqualpeivond” B Hepo e lpopog b pnfucpfindly
"mdby'  Sufisubph ubpluywgdiodp  (opfimuly  cascade-mf)
(gn-1h185 ) (gn-1hagn))- .. (gnthno183ly) = hiha...hr:
Nlevnf xyx7' = gi...guohiho. . hu1gy)s.. 870 b by
Crplly fbpugnky gn1-p XYX~-p ubplyyugndfy: Tdii
Equitnulym lpfEpugnbup SGuPnpyuwpup n-2-p, Lk gn-3-p I
wyfin dffusle fpfiit dffn H-fi tnwpplpp: fJusnf xyx™! € H:
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Lmdbtup Lhnlyuy  fivgfpp: Gnpdbup ulpppugply pognp 8-py.
lpppa g wpbyuiv pelpbpp:

Yogmp (G : 1) =8 I e # a € G: | wgpuindfr [Henpkidhy upupyg L,
ap A-fr lpppgp fpopog b dpju 8-f pruaduiwpup fiuly: “©Shgop G-nul”
qrym|dynict nicufy a, npp lpopgp 8 L wopu (@) = G (Lfpkup, np (a)-n
paus Q- Sisfusd ghlyhly o D) b G- ghlyfly b moplafis wpelypuin:
Gldt G-p prynp umupplpp lpupgp 2 b weps Ya € G a® = e:
Abpdfin wpupliivpy Cknlemd” b np Gt wpbyuit E - Duljuyb,
a*=e=a=a' L lQudivpluin a b b Cunliup Sy P
ab = (ab)™! = b7 'a! = ba:

Newwnfr G-fp prpnp wnwpplpf lpopgp laed” 2 F ued” 4 b qagnddynic
mifr a € G, npp hwpgp 4 F a* = e: (\cukup (a) = {e,a,a*,a’} I
wpnllymf  G-u Lwpuwlify  quwkpl pon (a)-fi fpponiveinp
G = (a)Ub(a), npntq b € G\{(a): Nupy L, np b* € (@), puinf np
E[dtb? € b{a), wupu b? = ba* I b = a* € (a), [fusp upuuy & Vynpfiv
F wnngly, np b* & {a,a’}: Whgnp b* = a hunl'b? = a°: Nwpy K
np b-p lppgp 2 sk Yo wwle 4 sk puinp onp b =a® fual
b* = (a’)* = a*a® = a*: Gk b-fr lpupyp 8 k uyy qlwpnud (b) = G
b funcdf wipbyuin E:

(ewnfr b? € {e,a?} I b? = e lunlb? = a’:

Wonwphtup  wydd” bab™  wmuppp: Gjdk bab™' € bla), wupu
bab™! = ba* & ab™! = a* nppy b wnuisnal Bup, np b = a'™* € (a):
Nennpr bab™ € (a): Nuwpy b np bab™ + e, puinfi np Culpuiniuly
qluypnula = e: Gfdk bab™ = a, unyw ba = ab: Y wuitnulynod F np
G-u wpkyuin L, puitfi np G-fi gncpupuiiggnep wnupp ‘ulbiplpuyugdnod” E
b"a™ wnkupmf, npnkqg n=0,1 L m=0,1,2,3 (qw Clknlinul E
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G = <Cl> U b(a) Lwpnulyfiyg ki f mpné'nu_/ﬁg) I
(b"a™)(bPal) = b™Pa™4 = (bPa?)(b"a™): GJIk bab™' = a?, wupm
ba’b=' = bab~'bab™' = (bab™')? = a* = e L a? = e: (\unnfr incd E
Egpulpiguby, np bab™! = a3:

Wyuypum] vumuguinp, npa I b umuppkpp oS Eu ljunl

4:

a* =e
b? =e 20)
ba = a’b

a* =e

b? = a? 21)
ba = a’b

Abpp upfsd (20) L (21) wpupliviivkpfi. pusfupupng 8 wwpp
wpesprntuslyey fudjebyy poljangbo qoofdnds ndk:
Wourmuphbtp, — opfiuly, — Chanlyuy — kploe 4 wwppuing

k [dniul;, b234 (1234) I
ki nofdymnc . a = =
ruirppinejgy e 23 4 1

1 2 3 4
b = ( 1 43 2 ) = (24), Llyuﬁ(ll_g(ll a-u 4 lrpl[wanlqlufll Hﬁ[[L K

/1ul[ b—(ll mluu(lluu[nq_ﬁglnu b: ‘]‘(\lﬂL[T/'l(ll b uanq_bL, nn
1 2 3 4

a* = =e = b%: wl ba = (12)(34) = a’b: Wydpp
1 2 3 4

prynq 8 u1lll[1[1[7[1(l_l Fu e, a, Cl2 = (13)(24), Cl3 = (1432), b,

59



ab = (14)(23), a%b = (13), a3b = (12)(34):
(21)  wpypdiitivkpfs  qlwypf Cunlivpg gfunwphbup Chinlyuy

i 0
Dsunpuinfi  hdigkpy  dimnppgubpp. A —( . _i) A

-1 0
A*=E (Esv  dpunfp  diwmnppgu B,  B?> = A? = -E,

0 1 ,
B = ( ), -1 l[lnl(} L/]uu:_[np(ll E: {}:/anﬁ(lJ E uanLpr, np

- 0
A2 - —E, A3 = —A,B, AB = lE, AZB = —B, A3B = —iE: wu I‘LInLlIiZE
Fuu[lu[nupnur E (2 1) u[uylrlu(ll(lllrplfll I luplruufll &L‘, puilifi  np
AB = iE + BA = —iE: Ulll [uym(llﬁ, uyuu[lru l[ﬂ&l[w&,
" pufusmbifuiiubyl’ i E

0 —i
BA=ASB=( ) ): I-ULlﬁﬁ gy 8 lnlu,l[ll?[l Euw E, A,

Wdd" phputinp a b b wmmnkpp b gfemphbup {a,b}"
puspdinjdyniup, npp a b b umunkply gl popnp dbpfusdng
pumnkpl pugdifdndiv E (ugg pugdinfduin Jb £ didund” Gl
qunmuwply puinp, npp mwpp gh spepndownod” eondefe qpeygolpein
bl {@,bY - fp . wwlaliviukip  pusgligundydii
qapSmgm[dniup Chinlyuy Gkpuy. EIE o b B € {a,b}*, wngum o-f I
P-b wpn oy g @f punt b opp oo o b Bopankpf
hyuwgpouding: Nwpyg & op wyo qopdngmfdyniin wungfumnfu] £
(aB)y = a(Py) = aPy: Yunnuply punp ljupuiindiup A-mf: Mjuduym
L onp oA = Ao = o fpnligpusdpuin 0 punfs Candivp b qpunnwply pusn g
frgnod L fudpf dpafop awppfog bpp:

VYhygmp a b b wunkpp pusfupapnad” Eu (20)  apuydiitiukpfiv,
wyufiupn  aaaa = a* = A, bb =b*>= A, ba = aaab = a’b: Y
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puitwalpncd” & g fpunliygudpait el @*-p lpoplgh b opfumpfiuly
qunmuply punmf b Qwlpunwlyp qunmwplfs wkgp (uyefiupy pun s
nliypudpuits wmbgnod) qply a* ludb? \Gwle hunipuldyeit punnod™ba
Cunmfusdp fypuplyp b nfunpfily @b-mf b Lwdpunwdyp: Roiup np
aa’ =a*a=A b bb=A, wnyuw a b b punkpp, b mplafi pogop
pumntpp {a,b}"-py, niukn Gulppupd pun pogdivagunnlpdis a-fi
Cwdpppdp @P<u b, fuly b-fi Swlpuupdp SEug by E: Yuyfuim]
{a,b}*  punplinfdyncup lypuquineed” L funcdpe o punbpp fguag plivi
gopdnqndf/dyuiv I a b b wmnkpp pusfupmpnad” Ee (20)
wpuyylicitinkp fi:

‘Shunwplhbiup wydid{a,b}* fudpp lunligudpuin. pun: Nwpyg B onp
hppunkym] ba = @b wppdiing (wyofiup Qundiyuluin ba Conudp
thofuupfinkpm] @b-mf) lpopmy Eup uyq oypfod pang &asfinfuly
wilybu, np wiy wukie a"b™ wbupp: a* = A L b* = A
wuypdisitinkpfy wnuivnul” Eup, np podpp luodivga i pone lpopng £
Ukpluyupfly  a"b™ wnbupmyf, npmkg n=0,1,2,3 L m=0,1:
Wyurasyfruarm] it Eup 8 unupphp prur’
{A,a,aa,aaa,b,ab,aab,aaab} = {(a) U {a)b:

Uit bquivlp] lppy Eup Afponagly dbly gy pedis, oopp
pusnfupupnad” B (2 1) wpuypdiviviulpfiv: Qopnp punkpp lukplysyug B
a"b™ wnkupmf, npmkg n = 0,1,2,3 Lo m = 0,1,2,3, puitf np b* = A:
Uwlpwju b? = a*> L a"b" pwnnad” b*-fiu shnfuwpfiubm]  a*-mf
lpnnuiiuiup a"b" inbupf pun, npaod'n = 0,1,2,3 hm = 0, 1: (Jeunfs
hplyfiv funcdpf g 8 E L

{A,a,aa,aaa,b,ab,aab,aaab} = {a) U {(a)b:

Wodpf g pulisit pusnbpf b npopfs weisafdmdiukpp ((2) b
(21) wuypdisitiukpf) dpPngm wyu Jkpdfin bguitnalyp hfpantgf E b
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E(ln}[w(llan l;lru”gnur l[llllrll(llllll[llfll /111/]1[1 [LULrlup: (])llllllﬂﬂpb(ll i
[udpf inpudivt [Tlllu(lllul[ E npu f mwpplran@nL(ll ”nLd‘lTll" &‘11/1211[7[1/1

prgdin it wyg npplddivluiy Eguialfs Gwpkf b Candiuply fudpfs

Yhgnp S-u nplelk pugdin]dind b, npp wwpplpp qpenwplood” Eup
gl Sogualiseg by Cufipby): Wk dfs @ oy Conlivgs wladisiumd”
Eup df unp ufy a”', npp huimfuivkup a-p Colpuguwpd: puivalEup
S*-mf pryop fbpPunfnp bplpppnddyuin punkpp, npiup Qugdijud Eu S-f
wppkpfy el by S-fp unupplph Saulppwp&ukply, ayofiupt popop
X{'x5 X wmbupp punkpp, npokg k>0 Lo x; € S, g € {1,-1},
i=1,2,....k: Qupuilpuit Eplpupoefduin pung k=0 fngfnud” F
usmply psne b tpuitnolpfnud” B Al Gpline pun Sy Sasdivpfnd”
Eu Cunlivpdbp I sEu immppbpfnod fpuphy Edk JElp dincafg lpopkyf ©
ity aa™ Q! a”'a wkuph (@ € S)  Eufdwpwnkpp A-mf
fafupfivkyn fund” by Sadpunwlyp dp ponfs Soplooi ononckph dp9lh
aa™! lunl” a”'a wbupp Eufupuwnkp wfbpgubymf: o b B punbpf
Sunlivpdbpm |Jpuits punnnp lpfunfbpugubup qplp] o = B: Uy Yy
wwd  Dunliupulpuin a € S Lunliup nkgp ncuby Skl
iy [tk

aa' =ala=A (272)
S* pungdindyncup pnlifond” b sCunnfng spunkpli dilcung o
punkpp Lunliupdtp Bu, fpulp wmoppkp quokpfivp Sonlivpdbp sEu:
bpnp, wndbn ddfs pun wppnnljpivnod” E fiuy op dfe o Gk a = B,

wu,wﬂza:b/?}ba,ﬂ,yeS*, wu,wazﬂ, ﬁzy:azy:ulchl,'
[7[3[7 lrp[[nL AT niuEn E(lnpllu(llan PUIL, g gy lT[Il[ﬂL tpluulrpfl

l[wfuylul[w(u punkp  fpp lunliupdbp EFu: o< S* purnfi
[LquLupd-lenL@w(u g l[(lllw(llwl[b(llﬂ [a]-m[:
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Lpuitnliiup F(S)-nf S* pusplin[dyuitn. Cunliupdtprdyuit qunkbpfy
pugdin[docup:  F(S)-p oo wwldidubp il
qrpdmqmfdyni’ [][B] = [af]: Wnduyn b np wyuwgpusf uwlilivitndj
frnklpn £ EdgE oy € [a] b B1 € [B], wuypw a1y € [af]: Vynepfiv
wnngfncd” b onp F(S)-p funcdp b Vhunfop nuppp A L fuly

€1,.82

[Xl Xy .. .X}ik]—ﬁ [wl[wq_wpaﬂ [Xlzgk . XESZXISI ]—(ll b:

U seelebisitannesl’ F(S) funcdpp [nsdnod”E L Juncdp S pragdincfdyuin
(lll[wuurluﬂﬁ:

(])Luumnplr‘ll g /unLLIizE S plutllﬁu@wdiz &‘lu[w& uy(ll /‘unLLIiz‘ll b,
n[1/1 unupplrpfl LI}IX[L Ll[lu ns LI]‘I lun_(lanL@nL(ll Flugﬁ (2 2) mbu_gfl
u1[1/11_[/uuL LUIL(II&HL@”L([I([I[T[T/'IH: wq_ /nﬁuumnl_[ F(S)—(ll "LULLLum" b:

VYhymp wpfd Eu S Sufisuls pp puplinfdncup b S-fi wnuppkpf
dpfle  npipfs  wngnddgndtivkpf dp pusgdindyocn: YGoundingudpein
wnusm [ lpplyf E ogply wiigbe, ap wie ofubim o = e wkupp:
Ropnp uyn wnusnddynitivkphy  wnuivuivp  wougmfdndiukp F(S)
wiigunny fuddpncd” dfbpgulym] (o] = [A] wntgmfdndinkpp: Yy
winignddynitivkph pogdinfdyncup ljupuivalFup T-mf: \Jqun fudph
bplne g (enwspp) Gundivpbup Sunfuap, Efdh dfy qpufi nplel pun
wngifocd” b djnen puwafy onplk punfy T pusgdiddyuin
wiligmdymitivkpfs Cwnpipupuwp hfypundivdp: Yy hkpey wmnd S™-f
bplpe puon. Cundinpdtp Eu (dpliungy qufy Eu), Edb dbp djnofy
wongefnd” b (22)  nbuph opfufpusy b T pusgdivdyuin
wiignfdyndtinkpf fbpPunnp it und Sanprppp [fpadiodp:

Louvitnulbiup R-ny T pusgidin jdyuits win‘usndfdynitivbpf &wfo divukppy
pumlpugind pugdindincup: Nuwpy £ op R © F(S): QWuluyn E, np
pugh T pusgdinjduis wngmdymGubppy wguun fudpoud” wkagf ks
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male  Chnlyuy  wnugmfeinkpp [Bllal[B7] = [Al, npaky
[B] € F(S) & [a] € R: Wefbqugubqm R-fiu pryrp [Bl[a][B7'] wnbupfy
wnuppbpp Jpumwiveinp - R-p o wpupnduwlpng wdBunehnpp unpdivg
Evfdwfuncdpp F(S)  wqunn pudpnod] npp ljupuivwlbup - N(R)-mf:
Vumupltip F(S)/NR) $uspnnp-funsidip: Gl wwpp (@] L [B)
lppunnlpuink dpliungfi Sapudipy i pon N(R)-podpuji I dpug,
HIt [B'][a] = [B'a] € N(R), fuly g wpwitaslppd” & np
la] = [Br] = [Blly], [v] € NR): N\eplafis [B]-11 wmugefnedd” & [@]-pg
NR)-f [y] =[A]  wnsndfdpuin - hppponadindp: ©hgmp  wydd
a = a1yaz kb [y] € N(R): Luinp np N(R)-p unpdlivy & F(S)-nud] wnyus
qryntfdynit nicufi [y1] € N(R), np
[yazx] = [yllaz] = laz2]ly1] = [a2y1]:

Neesenfs

la] = [aryaz] = [a1][yez] = [a1][a2y1] = [era2][y1] = [a102]

I [(a1a2)'][a] € N(R): Yunuguinp, np [@)-u b [a1a2]-p dplctunju
Swpuulify  qwupy  Eu pon NR)-f L [y] = [A], [y] € N(R),
witgnddynitivkph hppunncdp opefnd Sopulify quof awppfiv goco
b plpnad wpnyniup wyng qpaofy:

Wuegfrim wnyuigmglbgfiup, np [a]-py [Bl-v fpuplyf £ wnviny T
pusgdin it wnlugmdynitivkpl Swnppwpap ppaoncdiodp dpagje b
st s gl g (0] e [B)1s ey jin Cosspaslyfgy sssfy
pum NR)-fi: (Venfs S Sufisubpp  pusplivfdjundp L onpafund
wirctigmfdyndtinkipr npnpfnud b ddp funcdp, iy pgmblip$ £ F(S)/N(R)
Puslprnp-fulyfivi: Yo qbagprcsd” wnmead” Es, gy funilpp s
Sufisubpm] L nprpfs  wnugnddpmiivkpmf: bpp wlpopagpfod s §
lspah ny wpkyuin fudpbpp apfud Ea S = {a,by Sufisubpmf I (20)
lyund (2 1) nprphy g fdynidtiukym:
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\_Ll?pgwllnp &(lu[w& I_UFL_”LU(U fudﬁbp

VYhymp Gu wpbyuiv funcdp b e ncufr Sufisubpf fbpQusog
prsgilin jdynie: Ypugpofs fudpbpp Guiduivkup fEpPunfnp Sinfud
wpbyuin - fudpbp: Copuity - apopgug g opfinwljubi Eu o ghlyfl
fuddizbpp, nprup Swfnud” Eu dEly Sufigmf: Newpyfned” b op fjusdivgudpuis
fbpunfnp Sunfud wpkyuin funcdp fpopkh b ubplpoyuguly - ghlyfld
fdpbiph nogfy wpmwnggugfe wbupnd b gpeivm - ol fussmepbu
wlppuig ply pryop bpPuninp Sinfund wpbyoin fudpkpp:

Yo divmncd fjoqumiBup wplyuin fudpbpfs w funfu] ubplyugoodfy,
wyufipl fudpf qopdngnddyndup ljupuinwlibup qocdivpdivt + upuiing:
Royprp fddplbpp uygo divpod wpbyuin Eu: Gy x...XGy, wpkyuit fuilpkpf
nogpy  wpmguyp lfpeinelEnp Gy ®...®G,  wuim]  (uyn
wsprernassg pypusgs eyl witofuiin " En ol g i)

W drnp, np G funcdpp fbpPunfnp Sudfind L, vpuitnalpmd” b, np
lpg il sflpPunfnp puitnulpmdyundp unuppbp G-py g1, ... 8n, np

G=AAgi+...4Augn | Ai€Z,i=1,...,n}:

Vosfor b wsr s lsessmsbisassop g

" =1 ®...®7= {(Ar,..., 7)) | i€ Zi=1,....n}

n Lunn

/‘unLLIizE:

Llnﬁr5¢ 7" fudﬁﬁ l[erLL!lLul[Lu(ll b(llﬁlufunu/iz L[lrpguulnp
&(lu[lu& L nL(llfl &(llﬁilllrpﬁ pwtyﬁu@nfh, npfi
[zlnpnl_lq/nl_(ll[l < n:
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Wjuluymn b5 np n =1 qlypnal” Z-fi huedinpulpnitn Eufdusfuncdpp
lpogelifind b npmpuwlyfs widpngd  [Iff poygnp apunnplivkppy oo
fbpunfop Sufd b dbly Sufisnd: Vhgmp bdills vjtupncdp 8fpm £ 77!
Cundivg: Qupugmgbup wju 7" Cundiup: Wgmp H < 7" Ywldiiubup F
prrsgelin Fymicup Chanlyuy likpiy) F={u| 3Aa,.... )
(A2 sAn) € H b: Wil b np F < Z: bdt F # {0, unguu
Wpuitnulpfiup 1-mf F Eufdwfudpfp hoppusgngt qpudpeit umuppp, EJk
F = {0}, wuym py = 0: bppubinp H Eufdwpudpnid” nplel wnupp, npfr
wi it ppopug i o £ (o, go, ... )

Yognp (A1,....,Ax) € H: Nuwpyg b, np Ay € F: ok F = {0},
wgn Ay = 0: Jbkpgubkup € = 0 e Ay = ey Gfdk F + {0y b 41 =0,
wipr fbpubyp € =0 L Ay =g o F#{0y kb A1 #0
puduiubup A-p - e Ay = v+ 8, apmky 0 <8 < |l
Uwmivnud™ Eup 0 = Ar—vuy € F L, Kt 6 >0, wupu pi-p F
Eufdwfudpf shoppugngy gl awoppp sk (lonnf 2y = vy
Wuygfrsm] prpnp qlagplbpod (A, ... Ay) € H Cundivg qopnfdyncs niuf
dfnupdtpnpby nppfwd € € 7, np Ay = g1 (A = 0 qlugpnud dfiym
& = 0): Vymmepfivs b inbouiulsy, np

A1, A2, oo An) = e(ui, oy oo tin) + (0,40 — €2, .o, Ay — ELLY) (23)
b gpupuiigmp (A, A2, ... An) € H  Lunlimygunnufunivkydud  F
nppuif (A2 — el .. Ay —gptn) € 2" puivwdbup  prgnp
(A2 = 82, .. Aon = Eftn) wmsappleps prassulive Gy Hormf b gnggyg sonsiap,

ny HS 7n-1, I’\pn‘g, q_ﬁgngg (al,...,an) e H I (ﬂl,...,ﬁn) e H:
éludzu&uy(ll (2 3)—/1 umLu(llnLlrlT(l{p\

(al,a2,---,an) = Sa(,ul’,u%---,,un) + (0,a2 _Sa,u2,---,an _Sa,un)
(B1, B2y Bn) = ep(r, 2, ..., tin) + (0, B2 — €12, ..., Bn — €pHn)

q]w[ul L nn (az—sa,uz,...,an—sa,un) e H I
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(B2 — €pla, ... Pn — Epita) € H: W jusluyyin L, np
(a1 = B1,....an— Bn) = (@1,...,0,) — (P1,...,Bn) € H: (Vubkup np
a1 = &1, f1 = €pl1, nunnf

o Lfdbay = B1 =0, wnyueqg =5 =0 L

a1 —Pr1 = (e« —€p)tt

o EldE0 + O,ﬂl +0, a; = ﬂ1, iy € = €8 I

a1 —PBr1 = (ea —€p)

o bjdhay # P, gy % 0 b LY npnfud

I
LI]‘ILUF(/‘[ZBHF[T(U I [wdb‘ulfunul’b €a —EP CEin

élnnleplup gy lp[rulglrpnur a1 — ﬂl = (8a — Sﬁ)‘ul I

((11 _ﬁl,a2 _ﬁZ,---,an _ﬁn) = (80! —8[})(‘111,,[12,...,‘[1,1) +
(0, (a2 — B2) — (ea —€p)lt2, ... (@n — Bn) — (€a — €p)1in)

n Lumﬁ

(a2 —€alt2, ..., 00 — Eaptn) — (B2 —€plia, ..., Bn — €plin) =
(a2 = B2) = (€a = £p)H2, - (0n = Bu) = (8 — €p)ptn) € H
L H <7
Qunbiudwj [fugrlpnpu] Eufdun prcfduiv Hop fbpfunfng Sufund b b
acufs Sufisubipl pugdicdyniu, np puglpugd b ong unflyh, puiv n—1
Cunn - Supgubippy: H-p Supgulpp uyy  pusqdin i fldpnngibpfis
wnflegunginliup by g gpupuli songfu - Qeope o Qufig
(Y1,Y2,...,Yn-1) € H Sufispy wmugfnud” E (0,71,72,...,701) € H
flilpnpp: Yo gqpapulppin hpopy fiuwsivkpm] pugpojinfnd Sufisulpf
prsgdin Gy Guifuivkp Hofi fogpujiuud Supsubpl pugdiedyni:
W wlfpluypn b np (23)-p (0,A2 —euo, ..., An — €ln) ofblpnnpp
pruasgeffp H-p gt pusfinfusd. Supsubpls dfygngmf, nwmnfy hunbigulyit
(AsA2,esAn) € H lummngilfy (1, 12, ..o tn) b Hep gt pusfinfund
Supsubph dffngm, npriup Glpogdby H-fi Sundivg Sufifubpl fbpuanfnp
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pLutlLﬁuﬁzlnL(h: Lbdiﬁ: lLlll[lugnLHl[lué‘ E

W H<Z7" A H-p Suufrsulsyin ki
Al = (A]l,...,lln),...,Am = (lml,...,)«mn): llllllLlIlT(ll‘E lel_rlll(_/l_l_lL

[ At Az 0 Ag \

Al A o Ao

\ A«ml A«m2 )vmn ]
W dinppgl wmglpp hagdind” Eu Hofi Supgubpf pagdindeco:
4LLILrLu&u‘lill Llanr4a—fl l[lllpﬂll lr(ll_[g [LULrLup[rL, i m S n: r]\/unlupl[lr‘ll_g
A Lliumpﬁyﬁ mnlllrpﬁ (lll[wuu/iullﬁ [lrmlLJwL q_np&nllnle?lnL(lfulrpE\
1. [TFI["L mnlllrpﬁ Lnlnllul['ln/unl_@nl_(u
2. mnll/1 FLutLLIZuu.[Luml[nLlr—l—ﬂL[
3. lIlTl[ mﬂlll1 q_nuﬁupnulil L!]nl_uffll
wu L;np&n:lnL@nL(lfubpﬁ wp%/anganumeL[nLme H—fl é"lll'lé‘llkpfl
(ll"[1 [_'LuLLLI;u/(?lnL(lflllrp: UILLUQ/‘I(D lTFl[ﬂL q_np&nllnl_lt?lnl_(lfubpﬁ q_lrulgnur
I Lulfllluym E ‘]\/15"42
[ At +2A21 A+ 0 Ain+ Awm \
A2 A2 Aon

\ ﬂvml AmZ T lmn )
bﬁb H—[l nplLL— LI (lllrpl[ungL[nLLr F g1 A1 +e2A» +...+8mAm

81/’\\1 + (82 — 81)[\2 + 83[\3 +...+8mAm unbupmf:
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wbylbpm| thofubup -py I j-po nopyfiuesiubpp, wopa looeisoeiyp
L"-f unfnmdisppfugel; npp qbwpoed” H-p huivguf ppky fpmdipd JEl
wyy  fudpf dE9: 17 unfudippfipd” b wmgifnod” wale,  EdE
dpwdundiiiuly 2% poypnp unwppbpoud” pogdivepeenBup - i-pg

frnpag fivivnkpp —1-mf: UHy wyy wfumdip$pgd” pmaiseip, Bk
L"-f poygnp wmopplbpoud” diwduwndiduwly -pry oy fiisaeiukpp
qodivpbup j-pp lpnopafinmainkpfiv: Ropop g lagpbpood” H-p fuitguf
il fogrlingsp dbly sy foseh d19: (Vegolilis, Bl A B skt
hppuinEup CEnlyuy qopdngndyniiukpp,

4. kplpe yniubpf mbquefinfuncddync
5. wyuits pusgdivguanlpna™—1-mf
6. dJEly wyuin qocdivpndfy dincfin,
wigur - &lewspnfufind A dimnppyf wogbpp GlpogdE - Sufisubpf
Sundlivlpupy. H-fi frgrndipp fuddjsr Soonelivap:

_l—ﬂl{ FllllLlrlllll[llllnl[lTLﬂl.[ lL [lrmn l!iﬂLll mnll/fll/lylll(ll[l q_ﬂLlrluplTLHL[

fpdppivigdodd” b dlly ingfglyndupy dEl gy g/ agec Sadukpn
qnpdagnldynicup:

Abpp vpfisd nngbph 1.-3. b wynivkph 4.-6. qopdaqmdynivinkpp
huifuivkup  wnghph b wodskph wlpadiodf anppoldpedt
q_ﬂpé_ﬂllnLl?lnL(ll(llbpf

Wuegfrsnsf, A dimnppgliv gk nglph bl und” goculph
enppualpuits qopdnigndyniivkpp lppnuiveiup H fudpfiv pgodipd fudpf
Sufisubpfr pupdic/dyncu: Skaf niufs Cknlyyuy lpnplenp g

f&\bﬂplﬂfG‘ (U\Lumpﬁgﬁ Uljilﬁfl (lln[nrluL Lnlru_gﬁ L/Zuu[fll)
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Gunliguyuits n x n-gunfuiufy divnphy, npp appki
g S by lupkyf F plply

/nl...()()...()\

0 - n 0 --- 0
O - 0 0 --- 0

\()...()()...()]
Lu(lllunL(luuq_&uy/fu wnbupf, npmlnl n,>0,i=12,...,r, E(lll]_
npnud nig-p puduitnfnud” B wnwivy divugnpgho ni-pe dpo,
i=1,2,...,r—1:

Ueyragnyy. Chgnp mpfid EA dimnppgp: Qpryudjuin A disunpfigh
Sunlivp [Heopladh vjupnofis wliuluyunpby Sfipn b uyy s usm|
lypfrenpltup A # 0 qlaypp:

Wy ljplpupug pliup ddf wyppnppfdhd; npp plipnulE g dinnpfugp
Udhldh ‘unpdivg nkupfiv: Junnphgh wowpi wngnol” le w9
il g uitnfog wnuppp huitifuivBup CEupuyfit wnupp b lfupuinadiBup
witn  Q-mf: Uhgpfpy  quivkup  dimnpfgh sfuquogogu gpoaldpein
puguwpdwly  wpdlpnf  wwppp b wngkph ne o yndulph
wbguapnfunddoitivkpm) L, B  winlpmdtpn b —l-mf
puglivaunlybymd waw@fin woicup, updubup |l mwppp CEupoyfiv:
JAbpgubiup uydd” nplils ny CEupuyfiv ny qpopuljuit wpp winfis
unggfiy/ wniufy: Whyop g fu b Nupy B np 1Bl 2 Mol Ruduivkup

ﬁ—(ll [[T(ll‘Bu(lI[l(ll wmapifi L[[nu\ ﬂ =ay + 0: Ull[lll |7/| witigund” g nudinpEup
(Zufulr(lyg) i 2/1([! """l[’/ LynL(llLl ﬁ—‘h u_[luan(lllul[nll
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Lnnll/fll(mnllﬁg)/Lylu(lJE(LynL(llﬁg): u[nblnfll‘pnurﬁ—ﬁ LanllnLLrl[lllnlu‘lllu(l{B
0-u: bﬁﬂr o >0, iy o <lal L mnrllrpfl ne Lynl_(ulrpﬁ
Ln[rlllul['lnfunL/(?/nlflfllban[ I, E[dE Lu(llf[uud‘b&m E _l—ﬂl.[
FLULLLrLuu_[Luml[lTLnL[ Lun_Luglfu LynL(llLl, I]_Lup(fllb(l{B 5—‘[1 fl?‘ll‘[guy/fll iz
]J&L[w& lTIllu(lllul[ﬂL[ L[lllpl[l?(llﬂ Lrwmpﬁgﬁ prynp s flr(ll‘puylfll vnapplpf
{bEin, npnup me‘lu.[nur Eu lllILlllgfl(ll mnllnLLIfLynL(llnLLl? \Rw(llﬁ np
[l?‘ll‘guylfll mupplpf pluylup&lul[ lupd‘l;g‘lllrpﬂ [ufiun (lu[uulnurlfll, Ly
1y u[pnglruﬂ l[uJL[uJFLﬂL[/I L[lipgw{np‘gw(luul[nl_@uu]ﬁ‘guy[_bpﬁg Chinn It
wlenL(lngnLLrlun_Luglfll mnll/l/lylll(ll prypnga uuupplrpg lzlugﬁ flr(luguy/fuﬁg
bpiininin LLFIZILLI[[UJ(UI wu[fll‘gﬁl IIZUIHF/IHLI l[plr[ulfl [bmlyluL m[ru_gﬁ\

[aO---O\

0

\ 0 J

Yhymp B dinphgouad qynddynic niufs unapp, np sf paduitnfnol
wiiuity dinugopnfi CEupuylivf dpus: Gpuimolup wyng wppp B-m:
Gufdwnpliup, np P-u quitnfnud” B A dimnpfyh i-pop ngnod” e j-pry
writndd; 1,j > 1: Punduivkiuyp Bu chupuyfit unuppf s § = ay + 6,
apunkay 0 < 8 < latl: Quguas 1Y) witsggaansd” spmeiliveplityp. wimsudfits wyncp B
upipnitnulpng j-pop uivp: Qpayniupoad™ A disnphgh wwfin angf
Jepup bgad” Gummiveiyp 20y Ydo i-py wmfy wigfifi
qacdivplym] ljpod” wnwfivpy Suiukymf qupdubup wwfiv mngh j-pg
s Sasfusnp 20: Wit ingnod” wnuivnal” Eup ddfy umsspp, npf
puguipdwly wpdtpp tfinpp b CEupuyliv unopph pugupdwly wpdtphy:
Sulpp ne wpiculipp wkqguspufunddnitpo] b, ol wiulpudtmm
—l-m|  punplivwuunlilyn  weawfiv wolup,  gapdubup 8 wppp
CEupuyfiv b hpliubup fbpp pupugpfud wnwfin mogh b wnfin
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CEnpuyfiu wwppkpl pugupduly wpd-pubpp fufun Ggamgued By, o

Lﬁuugnpq_ﬁ: l_]‘llnur L— uuliznllg u[pnglruE l[ﬁpwn_bL B Lrlum[lflyffll:
[a\lrnplnfl'l luu[ulgnLHL[Lu& b.’

R ——L

Uwnnphygl Qdpfdf  unpelivg  nbupp opipfud E
fnupdlpnpbu:

Ueyrignyy. VYympfiv Eulpunnky, np wppuadjuis qopdngnddyndiulpp
sk hnfuncd” divnpfgf diiungulpp pugupduly wpdbpubpp: Yumbahy
Chanlinad” by np sk spofufacd” le popop Kesuspuiufe dfungokpf
wndEunnd b g Cuiuney prsduinpupbpp, k < n: Qupdbup k-sufusiufs

itk undbuundkS fuglufing puduitggivkpp Jdpfdf wopdio

[m ...00...0\

0 - n 0 --- 0
0O - 0 0 - 0

\0...00...0]
Wpluwyn & np 1suspuinp dfiungubpf wdBEuundbS g uiting

pw&w(luu[uupﬂ i ni-u kE ‘]‘:InL[Tfl(ll E [wlﬁull[bb ny k—&wl[uu(uﬁ
dfiunpubpf widEuunlES Lflu[_[ufllnl_p [_'lud_lu(lMUIHUIILI pur NN2... N
Lupuuuq_[ylu[ll [,—, k S r: bpp l_ﬂlTll/l ﬂL(ll/'l r < k S n ll[llylrlu(llﬂ k—&w#’w‘hﬁ
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LI]‘l(llnp‘lllTFE LLFIZII_LI[[UJ(H Eu: nLumﬁ ni.,nina,...,N1N2... Ny

lupunuq_[ylu[lllrpﬂ I q_[lufllg [wpwplran@nL(lfllpr\
ni, —n,llrlu = nj, —n;l’fi;” = n3,..., —n’z;lzzn’zl =n, npnlllnur Eu

wpdbpnpbu: (SEnpbdin wyuignogdind E:
rotpnn I myurgcy

Opfimuljubp
12 X
1. 3 4 L/Zumpﬁgﬁ Ulmlgﬁ(llnpwam[Tu‘p(ll E
1 0
0 2
1 2 3
2. 4 5 6 Lrlumpﬁgﬁ UL/]1[3/1 (un[u/iu[_mlru‘p(ll F
7 8 9
1 00
0 30
0 0O

Gppnunbup  uydd” Jdpfdfs unplivg wkupp divufiv [Hopkdp 270
popp Eujdwfudplpf fugmdipgfupdf Smncfdyundp ulpapuig it Candivp:
Wgnp H < 7": Abmjubup H-p nplt Supgubpp pogdiodncu, np
gty E m Sufy (M < 1 Cunlinduft (kaplal™S-p) b [ugdEup
Supsubph divinpfigp, jpusgulyo] win 0 —m Qo gpryudpeit angbpn”
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A2 Ao Aon
A= A«ml /1m2 /’Lmn

\ 0 0 0 /

Lrlumpﬁgﬂ UL/]1[3/1 (lln[nrluL lﬂlTl{Bfl I l[uuuu(luu(ll_g H—ffll fulnll;lp-$ fullizﬁ
&(11/1&([1[7[1/1 FWLLLI;IL@LU([I nxn Lrlumpﬁg\

[m ...00...0\

0 - n 0 --- 0
0O - 0 0 - 0

\5.3.55..°.(;)

VYyoupfiv b by, p wgn Sufisubpmg Sund b

, oo ¥ty 0,.0.,0 i€ Z,i=1,2,...,
{ yini,ya2n2 Yrn Vi € 4,1 r}

[urnddpp, npi fipp Shpldfin pyndip$ E Skl nogfy qooiupfio

nZe®nyl®--dn,l EB\{O} b - D {0}} s

n—r

npmlnl kZ = {kx | X € Z}: wuu[ﬁu:u[ Luu{ulgnl_gbglfl{p flimllzle
[Fhenpbaalfa:
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(FEnpkd§.
“©hymp H < 7": H-u fgrmidipp ©
mLOnL® - &nl {0y & --- & {0}
nughy  goodivpfiv dpuapdtpnpEy nprpdind nina, ... n,
wjnghuf qpulppitn wuedpng  [hfEph Sunlivp, nponig-p
pwduitfnud” L wnwing dinegopy i ni-fo e,
i=1,2,...,r—1:

wmlnlflg b[_ umwgz[nur E I{IT[TXLUI{IT[T (}(lu[w& Luplruw(ll /'ullﬁlipfl
(lll[wpwq_an/é'/nL(uE\

(beraprbal Q.

‘bhynp G-u dflpPunnp Sufid wpbyuit fumdp £ L
Sufiud F n Lunn  Sufis  wpupniuling  Sufisubpf
prgliefdundf: P s aubk dpuwpdbpnpk
npnpfud witgfufr gl wdpng nino, .o [diflp, o
nii-p - prusduifod” Eownoity dinugnpgf ni-ho o,
i=12,....,r=1, np G-u pigridispp

Iny @ Ln, @ - DLy & 2"

nenfiy qrcdiupfit, apbe 2 = 7/K2:

epengnyy. Vg G-fr Sufisuliv Eu g1, ..., 8n wmmpplpp, nuumfs

G={Aigi+...44,¢n | Li€eZ,i=1,...,n}:
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Yymplis — E mbaitky,  ap (A ) — Aigl .. A Aagn
wpmugunnlbpocdpy o Sodindiap " 27 -y G-fo s Zunlivdugy
il Bogells disafivs: Bl Gt fgilipp £ T7-fy punn Supefusd
Conlinlipfgils dfPonclly Buslysmg-fosii: sy Al Ponclyps fiskgm] 7~}
Efduafosme b s ekl S frgmilip .

mLOnml® - &nl {0y & --- & {0}

n—r

7"/ n ® nyZ ® - @ n,Z EB\{O} DD {O}Jz

2/ Ml L/ 1l @@L/ nL BLD - DL
%—J

n—r

hul[wu[[ru\ (/11, ,/ln) I (,Ltl, ,‘Ltn) uuupp[rpﬂ Zn—ﬁg
lyyunnljuinEn L/]1lL(llny(ll [Lu[uul[flg L fils [1un

mZ®nml & - &nZ@{0 & - & {0}
mZ®nl @ - &nZ ®{0) & - & {0}

n—r
fuslifits, frsly spas ConslivspdHhop b Choamly gyt
1. Ai—ui =modn;, i = 1,2,...,r
22 Ai=u,i=r+1,...,n
(QcLeraprbiafis nygrusgriegifinsd b
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geG

i g g—p/1 _BLu(llLul[E, . g5 = § [Lut_[wuwp E (Gs . 1)—[1(11:
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veallitndin W(T[k) = |#€ RN | fTL'k :f}|:
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[Pfrphlyne Lunlivp wlanp L pinply  $prculighuyf wipdipp
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Lunliup l[wprﬁ E LflunplrLk € {O, 1,...,n— 1}, npfi Sundiup (I’l, k) =m

n—1
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wprspy [Difbpp puitnslyfi: W [Hfufp wpnfacd” b Loguinf 9(355) bkl
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Ueldivivunel: VSpgmp H < G: H Eujdwfudpp Unpdiyfigunnnp E

l[n&l_[nLl[.
Nu=4¢g€G | g'Hg = H}

FWLLLML@I"L(llE:
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rl‘/’H"éB H < G: bﬁb (G:1)=n, p-u n-f LUI_IZT(llllI’-["ﬂ‘B[T
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|
(b1.b2,....by) | |bi!ibi
=1

n[unlnl LanLrLupE L[bpgl[nur E [rum papngn (bl, bz, ceey bn)
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n—( 5134 ): Wuiugpn b np o(f) = x7x5 = 0(g) wwljuju

J-p I 8-u snmpplip mgkdplphy Eu, puinfinp § = gn:

Brpupuiggnp nugkdpf Lunlivp wuldiiuliyp lpfinp npuagbu wyg
mupkdph  prculighuyh lppnp: Ruivf np uyp mgkdph o pagnp
Brctlygpuiulpy bt il Lpfn, ayu swldidunadi okl b
Gopdbup  uydd” Lwpfly  pynp mgbdpkph lppeukph
gmdiopp Y (G, app fupuimlibip QN,R)-mf: Yyuusyfrosrm]

[llllﬂ F"L"IT Gf
nygkSplpfr

QN,R) = ) % b ogmflyng (25) puitundlefyg wumitnl Eup
feRN

_ o)  _ o (f) D1y
QN,R) = ) G Gy _;’;(G:D(Gf.n_

ferN

(Gl. 1) Z@U)(Gfi 1)
) ferN

(uyunky ogumflyfiup | wqpuindf [Henpbdjyg): Qb uspnfulyng fkpdfi

lI,ﬂLLrlllFE uuuu(llnurlflug\

Za)(f)(Gf: 1) = Za)(}‘)l{a eG | f=fa}l =

feRN feRN
Do) D 1= o :
ferN acG oeG feRN
e e

ﬂ Luu1/1,

Q(N,R) = (G{ 3 33 o)

oeG fERN
J=fa
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\l_,lr[uﬁu&lfu_g [bmlyluL FI_ULLLIZLI(IJIIJ_ULﬁllTFE (unup[uul[ufll ufudEinpfily
Flutllrlu(llq_UIlfileE)\

S1 = X1 +...+Xx,

Sktipumpbup  $1,52,...,80  pupdiiipunlikpp - G fudpp ghlyply
[ukpuf JE9 Ty, 12, ... 1, l-["nl["nfuwl[uflflllrpﬁ thafuwpby I lpmnuiieiup
PG(51,52,...,5n) = Zsbl(a) bz(a) bn(a)’
aeG
npunky — (bi1(a),....bu(a))-v o  nbpugpndduin mbuulfy
éinuq_planL[ (2 8)'E I. Pg(s1,s2,... ’S”)'E wmbkuunud” Eup, np E[JE

S 009 = 5L, gy Q) = Polstosas s

ferN
JHe

Vusmplligp 57/ @s22@ @

fbpuspumug ply Lenlyuy ikpy.

(1 o +x,) @O (e . 4x2) 2@ (6 L ) be(@) (29)

LU [y e l_ﬂfll l[wplrLﬁ E
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A],Az, o ,Abl(a) - 1 bpl[wan@w(u Hﬁl[LlipE
Bl,BQ, oo aBbz(a) - 2 lrpl[wanlqllu(ll HIL'IIL[TF['
Cl, C2, ey Cb3(a) - 3 bpl[wanla/Lu(ll Hﬁl[LlrpE

busigba wpq b wppgly Hivp, wpfud o kg pduis Sunliup
f € R N $n1_(lll[5fuu(ll pwlllu[uupnurbf = fOl u[uylrlu(ll/fu LI]1u(1fll I LI]‘lu(lj(ll
uy(ll q_lrulgnu/; lrpp f $n1_(lll[g/uu(u Lunnnunnmi'  Q Lnlnlwq_pnl_@w(u

ghlybph fpu: (\eunp, uplgf b funoky | $niulghuyh ghlyp fpo
wipdbpfi divufiu, uyulfu‘g(u q_plil_nL[f(Al) [Luul[w(llnLLr[r(ll_[gf(i), 1€ A:
bﬁbf € R N ll_f = f(Z, iy
_ 2 2 3 3
O) = A1)+ XA, @) XTB 1)+ Xf(Biyi) RCD M Chyia) (30)

npunky XAy XAy o) g L Eplpapmduin ghlybpool”
spupndnnlpfng — [dfkph pa f o prdulgpuyf wpdbpubpfi
Cunlivupunmunfuniing — lpnf dimin F x}(Bl)...x}(BbZ(a))-E‘ 2

Eplpupncfdyuin. gfilybpood” wpopniuwlpfng [Glpf dpo | poculigfuygf
wipdHepubpfit Conlinunmufuniing lpaf divit E (puinf ap Bi-u Eplym
[py b pumlygud, avnnfs wyg dimp g B Xgs)Xs) = X)) b
uyju: \Yydol’ gnyy wminp, np qymfdpncn oiufr (29)-fi spuslpug Skpfy
witiqgunliskpf pnpdivt df Eguiteal, apf wpggoipeod” omgdnol” E
(30)-p: (29)-nud” niukup bi(Q) Lunn (X1 +...+4xr) by pd,

wiwfinfry fitnnpkup Xpa)-u, Eplypnpiphy Xpa0)-p, e uyju le fbpflivfy

XAy, )~ Qftsrmalbunle, b2(@0) Cuarn (T +... x2) shualprg Skipfry ulpgpfy
hpmnpliyp wwdfin dulwg Sty Xip\-p, bplpopg by Xg-p b ayju b
fbpdfivhy X, ): diin &l Gunuiveinp wlpg (30)-p:
Wb, ympwpuingmp  f€ RY  (f=fa)  Cunliup,  (29)-f
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thuslpsg Stpp praglipm] fpnivainp O)-p: Uymen fplpy upuspyg B np
(29)-t shuslpug Skpfy wivipunliskpfs punpdiiu podisgudjpi: Egoind)
Cuftmgbgfunuil” b nplik f € RY (f = fa) $oulghuyp lpnf mowgdiiup:
bulpybn, qhynp wowflin bi(a) Lunn (X1 +...4x,) uslpuy Stppy
pinnmfly  Eu o Xi..ooXi, o, Gwapy bo(@)  Cunn o (XT 4. 4X7)

thualpug Skpfy pinnpfly Ko x}l,...,x}b2(a) li uyfu: Vo puitnulpnod™E np
Cunlivupunnufuuits poculjyfuyfr Sundivg

flA) =i1,....flAb @) = ibi@) f(B1) = j1,-. . J(Biy@) = Jba@)
o uyfn: Gldb qrivk dEly fpulpog Shy pompbup JEl wyy vitupuand; wigo
wlhipluynpby lppwinuinp JEly wyy poaculigfu, puiny op ppifudf

I_ULI_IUJHITLHI{[TH mnn

Y o(f) = 5O @

ferN
JHa

I [lrmluupwp\

Q(N,R) = Pg(s1,52,...,5n)
\Llrpgﬁ(ll plu(luu&lLE :ll-(lll_"(lll'l E npullru q]tyuyﬁ lt—ﬂrnplnl?
ettt ] 3. (W)
‘}-ﬁgngg N=<1,2,...,n}, R=L1,2,....r}y I G<§, [LunLL/izE
L;np&nur E RN—I1 L[[uu: RN—/1 pryng $nL(lll[H/uu(llbpl1

lppfin‘ubpf qJILLIZupE\ Q(N,R)-p Luntfurp E
PG(s1,52,...,8n)-file:

rl‘:lﬂLF/l(ll E (lll[wmbL, i mlTlllllII_plTLﬂl.[ Xi = 1 gy I € R [uurlup
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uuuugl.[nurb a)(]‘) = 1, nLumI1

QW,R) = Y. oGP

Elllﬂ F"L"[‘l Gf
byl

[wz[wuwp E q_wn_(llnurnulb&plrpﬁ‘pw(ULulI/ﬁl:
r]'\ﬁgngg [LupllLUL[np E q_m(ulrL nu]_l?&plrpﬁ nguﬁuulltb npn(llg lzﬁn_ﬂ

-
[Lu:.[Luuulp E x'lnlx';?..x'ﬂ“, ﬂplﬂlﬂl Zmi = n: q]Lu[nL E np oy
=1
mp _mo

‘Blu(luullﬂ :llll.[luuulﬂ E PG(Sl, §2, 000, Sn) pLu:.lLrLu(llq_luL/;u_Lr X1 Xo ... X,;zlr
Lu‘luplul/il 4n[1(}w[[5/1‘ll:

Opfivljulp

1. ‘Mrygmp Swplpunfop & quivky funpuiepgfr g afdubpf
frwphy wpmnygmnd swmogdng Eplp qogubpod ulplynodikph
gwﬁlwhﬂr q)w[nl b, i ill?ﬂl[ﬂLlﬁllTFE anl_[nur En f: N — R
Bodulgpuiukpm), apmbkg N ={1,2,...,8}, R={1,2,3}:
Nennywivkpp wlpopugufd Eu wwfunpy opfiuliubphy
dEnd; npunkg l[llln_nLHL[IJJA' E Qundivupunmuufunin 24 i
wppndinlpng fndpf ghlyhl [ lepup
P(t1,...,t8) = o (1} + 615 + 81713 + 913): U funudpp
gopdnud” b RY-fr sfpu b Cunlivduf Neguyfs [Feopladfy ppusphy
upnymnm| suumwging ukplpolikpf (Sadulgfoinkpf woppkp
nugldhpukpft) puitwlyp lpmugfs EjJk

2
i((xl +x0+x3)8 +6(xf + x5 +x3)7 +
8(x1 +x2 +x3)%(x3 +x3 +x§)2 +9(x? +x3 +x%)4>

prgdivtigundnol”™  wmbgugpBup  JEGEp thipnfuljuitinkpfi
thnfuwpbu: ll[q_ puitnulyp Ml Lo
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i(3s+6><32+8x32x32+9x34):333:

2. ‘Mynp Swplpnfnp b quivky fuopuiwpgfi qosgafdukpf
qufdubpp ukplpfind Eu bppopg gqogumf: Qaopg B oop
[Lupl[LUL[np E L;Lm‘ube%x%xg witigundfi q_np(}wl[ﬁgg

i ((xl +x2+x3) 8+ 60t + 12+ 1) +
8(x1 +x2 +x3)%(x3 +x3 +x%)2 +9(x? +x3 +x%)4>
proagdiitngundnld? ()C] + X2 + X3)8—nur X%X%X% witigundfi
q_np&wl[ﬁgg [LuL[Luuwp E < >< > = 420:
6(x] + x5 +x3)2 + 8(x1 +x2 +x3)2(x3 +x3 +x3) _nud” X3x5x3
Lu‘lnpludﬁ LF"F&U_I[[I‘IHE gqpn L fuly 9(X1 + )C2 + X3) -’
x (4 )( ) = 108:  fJunnfr  fivgpp  wppenwfuniie F

420+108 —
24
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Ubgrmfypnits funlfelep

Puswbn  qfunbup | wivgqpuindf [denpkdfy,  ofbpPuninp gl
lhyundivgudpuitne: Bufdwfudpf lpupap fudpf lpopg i podwivapugiv: B Qo

B[Ol fudpf lpupyp pudvitnfod” B -fi fpu, npuky p-u apupy [df] L
iy lllulruywl[lu(ll S S n fwlrlup /ullﬁnur l[q_m(lu[ﬁ ps lllupq_ﬁ
EsfFuasfurnlfs:

LEdir 1 4.
Shgrp H-p e K1 G oflpPufnp pudjss Eufdwfudpbp o
I HK={hk | he H, ke Ky: HK pugdinfdjuit uwppkpf
puwitilyft \HK\-fr Cundivp mnnyg B

|HIIK|
|H N Kl

|HK| =

Wewyrugnyy. Shgnp h € H, k € K : (\pmpkup wjn (h1,k1) € Hx K
quygbpf  puitiulyp,  np hk = ki Oynoppin b mbduky,  op
hk = hiki = hi'h = kik™' € HNK: puimultup t = hi'h = kik™':
Uwwivnud™ Eup hy = ™' L ki = th: Yufiupt  jocpupuitsgog
t € HNK wwppfin  Cundivapunmupufuniunad” ol (hi,k) € Hx K
gy, np hk = hiky: (\ennp, HK-fr impplpf puitesdyp Sosfunnp E

|H x K|
|H N Kl

I Lblliﬁ: I_UIJ_II_LIHHLHL[I_U& E:

\ljl[llllﬂl?(ll‘[g, nn uyu LITI_IZI}I ll[(llI]_ﬂLlI}lH L'ITI_I1ILI1LI_I1 L_, nn ITIJIT
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Hﬂ K = {e}, iy |HK| = |HIIK| I HK—/1 lﬂlll[1[1[7[1fl (lllrpl[uyulgnulzl

hk mlru‘[gnll, npmlnl h e H, k € K, LI]‘lLul[(ll E Uw LIZT(lI‘B u_[Lu[nLl?L b/fl{g
nul/nl Lupuuuq_[yluLﬁ nLunLLﬁlluuflerufll J‘Ludiu(luullt

L&ir 5.
Shynip m-p wnjrng qpudpin [JFof b foly p*<u upupy
[Iiffs s proguslyuit undfng amnfuin £

( n;]za__ll ) pliundpuyg qrpdulbfgp fiubym] widpogd (5]
2l pruduitnfned p-fr dfprua:

U”I‘”H"{-]H' Rum vlldiitnliny nL(llli(ll‘B\
p*-1
( mp® — 1 ) _ _(mp* = 1)(mp* =2)...(mp* = (p*=1) _ H mp® — k

pr=1 ) -t -1)p - (" -2)...(0" - 1) L1 k

uu[lugnLHlT(lng, np pryng 1 S k S pa — 1 [llllrlllp k N mp“ — k IJL[ITFE
dfnvdundisiinly lund poduifud lppnd by sEu puduitnfnud pS-fr iy

‘}\ﬁgngg k—(ll pwd‘w(lu[nurb ps—/1 L[[uu.‘ U[fll[uym L—, i ps < pa I
s < Q: Jeunp k = np* L mp®* —k = mp®* —np* = p*(mp*>* — n):

‘Yhgnp mp® — kiu puduiinfnnd E pP-f dfpu I mp® — k = np*: Gfdk
s> a, iy p"‘(m — nps—a) =k > pa ‘Elll(llfl np M — nps—a > 1: ﬂLumﬁ,

s<olk=p(mp*> —n):

pi-1 a_ [ a_ [
Uluu[ﬁunL[, 1_[ WZPT wpmw¢menLJJanw£w%ﬂan WZPT
k=1

nunnpulyf [uurlupﬁ&ﬁ I [uyuuu[nupﬁ ps wnbupf pwd‘ufluupwp‘lllrpﬂ

mp% — 1
P )'E &/1 lzwd‘w‘lu[nurp—ﬁ

L[[uu: Lbllifi: Luu]LanLgl.[Lu& b:
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Ltatir 1 6.

G/dt H-pp e K<t G funddjsfy Eufdusfuddjebys B b prygrp b € H
Cunlivpg kg ncufe BKh =K wpuplivtp, g
HK = {hk | h € H, k € K}-1 wnfiggbs G fudfsfs Etsfusfurere dlfs
E:

Wprngrygy. Rusfuslyusits b g by, np (hok2)™ (hiki) € HK: Qg
E aphs'hy = hs € H I h3'ky'hs = ks € K: Jewnfs, k3 hs = hsks L

(haoks) ™ (k1) = k3'h3 hiky = k3'hsky = ha(ksky) € HK:
L Edlifis wnsguasgrngafuusd E:

“mﬂlrm‘llnul,' q\/lgﬂl:E G-u I{ITFXLUL[HF funulﬁ FL pa—(ll P upupg [(71.[/1
wid Bt ES Luumﬁ(flu(lfll E nph l.[pl_ll lllILlll(llH Lﬁuugn[npﬁ pwd‘w‘lu[nurl,—

[ullﬁﬁ (G . 1) l[w[rq_E: G /ullﬁﬁ H b(lllglu[unuli-_rﬂ l[nzL[nLlI’ E
p-Eufdwfuncdp, Ejgt-(H - 1) = pP, B < a:

P* lppgfr p-kufdwfuncdpp husncdt Y fynfjuit p- Eufdufuncdp
G-nul:

G pulpp Hi b Hy Enfdwfudpbpp Guimfuivkup Sundivgne s, kgt

lp}m‘lu_[fl g € G, i g_lng = Hz: éb&an@wdﬁ uanL}L[nLLr L—, nf
[uurluLnLc} Eufdifindplpin I‘lllﬂl_”1[1$ Eu:

(Snpl™ 7 . (Ufyprneffs [Fnprldfr)
‘brgmp G-u sflpPunfnp funclp b p-u wpupy [Gfu] L
G:1)=mp* L (mp)=1, ll{]“ﬁ(ll.p(l'\ (G:D-p sf
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pluoLLu(lu[nLLrp‘“l—ﬁ tfpiu, g
1. l[wlruywl[w(ll p-p Kwidivp, np 1 < B <a, G-nul”
qyncfdinic niufi pP lpupg i p- Eufdwfuncdp

2. UﬁLnL[[Lu(ll p—lﬁ:ﬁw/ulliszﬁ np £m‘luullE
Full_[ulpluanLrL_ np = 1m0dp lzwllq_wuurw(llﬂ

3. l[wlruywl[w(u Eplyn UﬁLnL[[w(u p-Eufdwfudplp
[ [LulrluLnL& Eur

4,JnL[11u‘BLu(llz[nL[1 p—[r(ll/gwlunulﬁ u_[luan(luul[L[nLLr
b pyrafpais p-Eufdusfudjsfr JE9:

Wupurgnyy. Vhymp S ={s € G | Is| = pP} (fuswybus slfspuns |s)-ps
pugdinfdnds  wwppbpf puivadiy BD: G funulpp  gopdoul ES
pugdinfduit o Chanlguy  hkpap g€ G L S €S Cunliup
gs=<{gx | xesp: Wplwpn L nop Igsl=Isl L es=s,
g1(g28) = (g182)s: Lpuimulbiup = mp®P & (G : 1) = impP:

npP | mpP =1
Voyrpfin b wnberitaly, np 1S| = (mp ) - m( ";1; . ): 2 unliss s

LEdil 15-p p [Fffs wdbtindtkd womnfiuiup, npp fpu puduimfnd” F
Sl-pr, Gundfivlfund” E p (B wndbunndkd  mnfuivfin, apfe
purduitnfnid "k i-p: Nupy b op p-f ayigogfuf womfibuiup p*P o b G
[wdph qopdmpmfdyniup S pusgdindyuit dfpos wpnoad” b flpfi
lunmfng gk dpkph:  GlIE  poypnp nqgkdpkph  Eplpopnddyndivkpp
pusduitnfncd En p [diffy wnfbyf dES puin p*P i wnpluiuf dpu, wg
ISt by hpesduitnffy p-f uyn wnfuiuf dpo, g eiulowp B (\oonf
Ygusiveffy dfs neqgkSpp, npp bplpapncfdyniup sh puduingnd p®P-fy ks
p-t wnnnfluiufy fpu: Shpubup nplik s bldEun uyg aughkdphy (uyg
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nLlllTA‘leE [fll&tu(luu[[lr(lug umlu?n;w[un Gs ‘ll&ll_l‘llnl.[) I l;/unwpl[lr(lug i
uunupﬁL /'unulﬁﬂ\ GS = {g e G | g5 = S}: &ludiu&ll(ll(ll (2 5)—/1\
|Gs| = (G . Gs) I Ll_llq_["_l_l(lld_/'l [(7[7"[1[71/]1\

mp® = (G : 1) = (G : G5)(Gy : 1) = IGsI(Gy : 1)

Lauiufr mp |Gsl-p sfr pruduitnfnd p*P-py dES p-fr unnnfSuiufe dp,
wnitmd” Eup, np (G @ 1)-p puduiinfnad” F pPofi dpus b neplafi
pP < (Gy: 1):

Uy lppdfy niubup, np (G 1) < pP buljungba, fbkpgubp
nplek X wmupp S puspdidymiufy: Newspy b op gX € S pmypp g € G
Cunliup, puitfp np gs = {gx | x € s} = 5: bk g1X = g2X nplk
81,82 € Gy Lunlivp, wny pugdivigunnlbynd g\% = goX winusn[dyniti
why X 7'-mf  wwwiveol Fup o g1 =g2: (pldis prynp X
wipn ppufulpp, oty ¢ € Gy, wuppkp Eu b wpunnljuinol” B s
pugdin fFpuinp: (\onnp pP =15l > (G @ 1):

Wuhum| Gy Evfdupundpp pP lpupypp p-Eufdwfuncdp b G-nud” e
[Fnptal 1. vjinpncdi wapugnugnd E:

Wegrp H-p Upyrfpuive p-Eufdupuncidp b G-nud? | puinslbup $-mf
H- Cundivgned— prynp Eufdusfudpbepf proglin i
9 =A¢'Hg | § € Gy: H-p qopdnul b -f sfpus Clanlguy Gk
heH Ty uuitined” E He$ Eufdufuncdpy
h™Hh = h™'g"'Hgh = (gh)"'H(gh) € $) Eufdufulpp JE9: Spfrffrusy
wnmgafnod” by np g gopdagmfdncs b Smmupuitgmp nogkSph
Eplpupmdgniup - p-fi - wnnf@uin L puitfi np wjy Sonfummp
Sunlivpunnufuvit wwpfy - fudpp fugkpofin. H-nul? - Qunlindwgjy
L puivdfe [Fhnpldp, p-Eufdwfulpf Eujdwfudpbpf (05 upgbpp, [JE
fupkpinkpp, fiulym] p-Eujdwpulpf lpwopgp poduinopuiulp,  p-f
s uititdy Eu:
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Newpy & op He  9H: Sfumuphbnp  H-fi owqghdfipp
{h"'Hh | h € Hy = H: Qupugmgkup, np djuwjn H-p ooy F
lyprqlifin Bl vnwppfy, wyofivpy odufe 1 Eplpopodgniu: Thfigneg
hguimfp by wy K€ 9, np {h7'Kh | h € Hy = K, uyufiupn
h'Kh = K poynp h € H: Qunliudwju | kil 1 6-p HK = {hk | h € H,
ke Ky Eufdwfuody b Genuli Zunlivdwjy | Ualil’ {1 4-p
(H: 1)K :1)

(HNK:1)
puitf np Ko H-pp Gundivgm 8 E, wpnr (K 2 1) = p®: Gufdwfudpsbpf
Cunnnudfp  “unppyg  Eufdwfuncdis b (Yemnp  HNK<H &L
(HNK:1)=pP, npntyg 0< B <a: (\pbafi, HK-u unifingbu
p-Eufdwfuncdp F G-nud; (HK @ 1) = p2B: Puivh np HK < G, wpn
(HK : 1)-<u p°-p prduimpuyin E L p?*B < p%: 2 binlowpp, p* < pP
b o= pB: Ywuwivnd Eup, np (HNK : 1) =p*=H:1)=K:1) Lk
H = K:

Wyugpasm| prpnp ncqldpkph Eplpupaddyndivkpp, pugf dEfy, p-f
i proulyuits s uititnkp Ea: & bl g nugkSpkpf
bplpprdynivinbph qocdivpg \9l-p 1+ pq mbupf [dpu] L, ayufiupy
191 = 1modp:

Vg undivpulpin p-Eufdwfundp spupocswdpeod” B $-f
Eufdwpudplipphy dElnol; \lunkaghy Upyndpuin p-Eojdwpulpp qbagpool”
hpfufs, np pognp Qpyndpuin p-Eufdupudplbpp Sondivgned Eu H-fin b nonnf
dpdjuing ([enpldp 3. wfugncdp): Gule homnwgdf, ap $-p g prgnp
Ubyrfpuits p-Eufdwfudpsbipfs  pugdindymin E L 191 = n, = 1modp
([Fenpladp 2. wjimpncdp): ) EpPuba lpsupugnogdf wale [Heapkdf 4.
uftipndp:

(HK : 1) =

be Ululllly(ll niubup, np (H 1) :pa I

b - Eufdufudisbpfy dbld? Wpgop Ko p-Efdufundis & opp )
g tdpfncd” - Eufdwfudpbppy ny dblpol? Ky gopdnol” E $-f
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l[[llll ﬁﬁ&m ll!illll[bll, ffllzu[l?u H—E\ k e K LI mwitnud” F FI € S”:)
Ell/;hu[unu/ﬁ[l
k~'Hk = k™'g ' Hgk = (gk) 'H(gk) € $

[T(lllglullllji'_'l‘l L/lr2 (]\ﬁynl:g lI_lZInL@nL(lI nclifi 1 lr[rl[w[rnl_@ufll nullr&ﬁ[i,
uyu/flyjll FI € 9N, ny k_liik = fi pryng k e K: I'\(lléullru L[lrpE Flrpl_[w&
q_wmmlnl_ﬁzlnl_(lfulrpnur KI:I—(U Eufdwsfuncdp E
(K:1D(H:1)

(HNK:1)

(KH : 1) =

b KH_p p-Enfduspuncidpe bz Yl (H 1) = p® I

(K: 1) > 1
(HNK:1) ~

b

Cbanlowpuwp  (KH 1) > p%  (\epb, (KH: 1) =p* L
(K:1)=@HNK : 1): dbpdpiu Cunfumnopmfdyniupy  phomd” £,
KcH, sy winCiowp b Yupomf,  pogop ocghSpkpf
Eplpupmfdynciukpp p-p qmolpit swsfoiiokp B 191 = Omodp,
fugp wngfuybu  winCwop b Llnlowpup,  pognp p-Eufdufudbpp
wpuapvitnaslsfns s $3-fo Enfdusfudizbfg Al

(berypalodlis snnyguusggregefind b

Opfivljulp

1. Yvpugmybinp, np [linplad” | 7 -nud” wnlidivitnfind 1y [Fffp
m-fi puduitnupugin b ‘Mygmp G fundpp qopdnad”
Eujduwfudpbipf fpur Chunloyuy hlpy g € G uwppp wwiinud’t H
Eufwfuncdpp g7 Hg  Eufdwpulph  dk9:  [Maptal” 17 -py
witidfipunybu plund” b np pagnp Jfyndpein p-Eufdusfudpbpp
ywdiid” B dbly neqgbSfyp,  fuly fuodivpudyuin: H - [Jfyndpuin
p-Eufdwpulpf vumopfy funcdpp g vpo wopdivghguoonnis
Nu={8€G | g'Hg=Hy: [hpkatis Cunlivdwgn (25)-}
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np = (G . NH): I)yl‘lL[Tfl(ll E uanq_bL, np
m = (G . H) = (G . NH)(NH . H) I, fl?mll_w[zlup, m-p
FLuJLu(lu[nLLrb I’lp—/1 l[pu].’

2. Uu[wgnl_glr(ll‘g, nn 17[317 (G 1) = 15, iy G [unulizﬂ
ghlyhly b “MWrgnp G funcdpp qopdnud™t fip Eufdwfudpbpf s
winylbu,  fiuswln . opfitulpnudi g H-p Ufynipuin
S-bufdwfundiin b puly K Upygndpuin 3-Eufdufuncdfyp:
Shunliwpup (K2 1) =3, (H: 1) =5 I Hu m Ku ghlyply
Ny = G I (G : Nu) = 1, uyufingu Upymfpuive 5-Enfdusfudplpf
mgkSfipp  pumlpugwd L dfusju H-fg b H-po ddfuuldy
S-Lufdufundiiy L Yppfpuin 3-Eufduudpbpp by
Eplppndfdgndop Cunfunnup & (G 2 N)-fi: Qupy L np
(G : Nx) € {13,515} & [lopbal 17-p Cunliuduj
(G : Nk) = 1mod3, munfi (G : Ng) & {3,5,15):
Chunlewpmp K djuuly 3-Eufdufuncdiin b Mg k- K-
Sufisu b, puly h-p H-p: ‘Numuplbinp kh-mf Sifud (ki) ghlyfly
b(lllglul‘ll"Llli'_'Ll G-nul? l]lfll[uﬂm E np kh ¢ HUXK, neunfi kh—E
2l wpunnlpuivond” G-fi e ny fp wlshudpuit: Eufdwfudpf, mopladi
(kh) = G:
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OUULL b HICSH

U LqurLu(llnLLfillrp

"Flllil,[‘lull_[luu‘lllnLl[. ": <uurluu_lluuuuu/1uu(luupul[1 l[oq_uu[li(ll_g + lL °
Wpnititibpfry:

Useelebisitannesl” (A,+,°) Sundinlpopg p ngdfnod”E Olllul[, L[
1. (A,+) Lwndiwlpupg 1 mln]_wl['ln/ulrLﬁ funcdp  E (L/[nut[np
g Wpwitnlpfnod”E O—HL[)
2. (ab)c = a(bc)

3. A-nul q_rynl_@nl_(u nL(ll/1 L, g (ll&w(luullllnur 1—!1!.[,
uy(llu[ﬁu/fu, npn Ya e A fludiup al = la=a

4. (a+b)c =ac+bcl.alb+c) =ab+ac

bﬁﬂr mlnlﬁ "L(llfl mule ab = ba ll[u(ljl”u(llﬂ A—/1 pryng uuupplrpfl
Cundivp, g oquilyp GngfndE inbgufinfuliyf:

S[nllul["nful?Lﬁ Ollllll[E l[n&l.[nurl,— q_wlm, lrlglr JﬂLFlu‘Blu(llz[nLF ny

(Va + 03b) ab = ba = 1:

\ljlb(ll‘g o:lLulflllTpﬁ i puinfr vmwppului, [fuyy Lwplinp
[Luml[nLﬁ?InL‘ll,

a)al =0a =0

polpnygbu, a +a0 = al + a0 = a(l+0) =al =a, nunnf

Cunlindugu 4
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a0 =0

b) (-1)a = —a

a+(-Da=1la+(-1)a = (1+(-1))a=0a =0, nLunfi

Cunlindusju 4

(-Da = —a

Wunikbanle  dfipin Gunliopkup, np O % 1, puitf np Cudpasdy
qlwpnud’a = al = a0 =0 L oqulfs pynp nwpplpp Canfunnup Eu
O-f1, uyufinp’ A = {0}:

Ulﬁ-l"ﬂ‘["bl_ﬂl_[ l[l?[][l (ll&l[w&Ll l[wplrLﬁ I ulul?[_, np o:llul[E g u(:](u
[w‘llpw[w&L[wl[ufh [uurlul[lupq_(ll E nanLrl[luplTLﬁ E q_nLLrluplTL, [uflllrL I
FuILLLrLuu_[Luml[bL, /1ul[ q_w&mnur (luull_ FluJLu(ulTL:

Opfinuljulp

1. ’l‘jﬂLpﬁ(ll E uanq_lTL, ny (Z,-I-, ')—E mlnlLul[TnfulTLﬁ Ollllll[ E
('7‘”'&‘” Lb)’ /"’ll (Q’_l_, ')r (R, +, ') I (C, +, ')—Ll I]_lulmlrp Eu:

2. f}-/unlupl[[r(llﬂ (Zn,-l-, °)—E, n[un[nl 7y -u ﬁ(LILU_[lTu llilllﬂ [
modn-ﬁ Lﬁuugp(lllrpfl l]J_l_ll_llTpl‘l FLULLLIBL@HL(D([I L—: Ulfll[uﬂm L—, i
(Zn,-l-, ‘)—E Lnlnllul["n[ulrLﬁ Ollllll[ E: ,)(ll&ll[l?ll LHLunlfll‘B, 2 -’
[iun pwlllrluu[wmlllrufu Swlpppuup & ncubu L/ﬁuy(u uy(ll my
Ll[nylul[w(u mwpplipﬂ, npn‘lug l["n/uluq_wp&wap g Eu
Lﬁn]_nLLfl Cbun:

3. Mpladis (Zn,+,)-p spusgen b ddfusss, bpp 0-p wpupeg (3] E:
L&lﬁ'ﬂ (Zn,-i-, ') OILLul[ﬁ dfh [puplinp [Luml[nl_ﬁz]nl_(u low: I)\/'IHITI:B
n = 6, iy 2 +3 = 0mod6: Ulul[uy(ll s 2 = 0modb6 s bL
3 = Om0d6, u(l/u/fll_p(ll uy(u Flu(llﬁg, n mwpp[rpﬁ LU [y L[
[Lut[wuwp E Llpryfl Z[l Chunlinod; ny Lu[uan_pﬁ&(u[rpﬁy npl
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4. Lpuimolbnp Alx]-mf x spmpafumlpivf A abguspufubyf
oqulify  qopdwhpygubpod  pagnp posgdidugaodidpf
pugilin dyncup: AX)-p inbguapnfulyp oquly b pusgdiig adidpf
wnifrpulyit qoolivpdids b poglisagunlpdic wlpeoadiedp:

5. nXn Llll’-["l_l_l(lll'l LrLumpﬁH(lllrpﬁ FLULLLIEL@nL(lIE, npn‘llg
uuupplrpﬂ A o:Llul[ﬁg Eu, Ollwl[ E (n& lﬂl?lllu’-[""/‘ul?L/‘l)
Lrwmpﬁg(llbpﬁ gncdivpdioy I pLuLlLrLuu_[Luml[LrLu(ll Ulpundidp:

6 ’]'-/nnluplllr(ll_g a+ bﬁ Lnlru‘gﬁ gy /31.[[7[1/1 Fllllllth@nL(llE,
npenky -0 b b-u rgprivay [Ffbp Eu: Pynepliv b Sundigdly, np
pwlllﬁuu[wml[nulb uldiniuEup [lrmll;/wL L.

(@+b2)+(c+dJ2) =(a+c)+(b+d) 2
(a+by2)(c+dJ2) = (ac +2bd) + (ad + bc) 2

7 ’}\[nnlupl[[r(ll_g (0,1) [Luuu[w&ﬁ L[[uu pryng Lu(llg(llq_flum
$HL(lll[g/'llll(lllT[1/1 pluzllﬁn_@nfu[l: l[l” pluzllﬁu@nfu[l
Lnlrlllul["nfulrLﬁ Ollll.ll[ E -1)I1L(lll[gl1ul‘lll?[1/1 goodivpdivy I
Fllullrluu[luml[l[.lu(ll Ulpunndivdp:
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Vesddlivitmasl, A oqulip B Enfdwpugilin[dyoctp  lusdfnd™ F

li(ll/gworlwl[, EldE

1. (B,+) < (A,+) - ll(ljll/‘l(ll‘[._)(ll, [run gpncdivpdins B-u A—/1
Eufdusfuncdfiu

2.1€B

3. a,b €eB=abe B - uyulflug‘ll, B-u l['llul[ E
szyllmqwml,d’ufu ‘lll[wmlrludiz:

U]L l[lrpu[ Luuw&, OILLul[ﬁ nplLb b(lllgluplulllth/(?lnL(ll lT(lllgluOlllul[ L—,
[7/3[7 Ollllllll'l q_np&nllnL/;z/nL(ll(llbpﬁ uwflrlu(luul-["wl[nLLIb LnL[[LuL
b(ll/glupu,ltl_lj;TL@Lu(ll L[[uu uy(ll q_ulp&(llnurb OIlLul[:

Umldlisitummeel: Vfgp Av-p b Aru oqulfubp En: f: Aj — As
wpmunyunnlibpocdp Gnsdoud” B oquiljuyfin: Cndondnp fugd” (et
nuqipuilyh Crdindinppfugdy Lfat:

1. f0) =0, (1) =1
2. fla+b) = fla) + f(D)
3. flab) = fla)f(b)

Gl oflbpp  upfmd [ wpmmunnllpnodp dinfudfespdbpnpli
sl Ay-p Ay s, wgus ancd B, np onuidjubi
by frgradinpp Eu b f-p hosifncdd "t onpuuljuy fits fgndinp g

onquiljuy iy Sodindippfugelp lfbpudaffs fodpbpf Sndindippfgdp:
busigbe b fudpbpp gbupood” wyumllmle dEup  fpply  sEup
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Bpumpuingmp Lodindipppugpdfs <k lpoupfnod” Eu Chnlyyuy Eplpn
pusgdin [dyndinkpp dfgocdyy
kerf=<{a € A, | fla) =0}
b upunnlibpp
Imf=<be Ay | (3a € A1)f(a) = b}:

Yymepliv b wnng by, np wpunnlibpp Eujdworpuly b Puljuybu, puinf
ap  Ladinloppfgdp fpudpbpp Lodidip$pgpd” b qocdinpdi
gopdmpndfdyuit wlpnmdivdp,  wope wuenlbpp - mole fodpbph
Sodindip Pl wpunnllip b nonnfs b wjy Eufdwfunodp Eo L
(Imf,+) < (A2,4): Wipcuym & np f(1) =1 €Imf:  Gfdk
bi,by € Imf, wupn hguwimfbn a1 b a wjipufis, op by = fla1),
by = flaz): Mwpy & np flaraz) = fla1)f(az) = biba,  mplafi
biby € Imf b wpunnllipp Eufdwomquly b: Wogumla b fudplipfs qlaypoed;
winityy g luivpmdyniup fuwfunbyng Soupdivpnddyuit Ludivg fupng
Eup Cunliuply, np Imf = As:

UlPmcdyp sp sy gfinky Enjdwonuly Ay -nud] npafClnl f(1) = 1 L
1 ¢ kerf: Uwlpuju (kerf,+) < (A1,+), puitsh np dpfochp tle
[fudpliph SoddindipBfigedfs dfigcdin b L Eunfdufuncdp b Ay-nod? T figncfs
Sundivp wbagf nicufs dfs punn lpoplonp wpoydiin, s unflyf nedtag E poin

Eufwonquilgfe  wulilivitnliin 3-py apupdicug (fuuly  fiukfy o
plutllrluulluml[fw‘ll),

a € kerf, x € Ay = ax € kerf, xa € kerf

Pulugla,  flax) = @f) = 0-fx) = 0: Wy hlimy  usususd,
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L/]12nL[[L1 ulluan(luul[nLLrL— /1[1 mlupp[rpﬁ pryng qumﬁlflllrpﬂ.‘

U(lu]_[uuq_wn_(luu(u_g [nll;ul;1p$fulllﬁ l[Lun_nLgL[Luc}gffu:

‘]\flgnggfi A — Imf wippnunyunnlibpnodi orLLul[uy/fll [nl/;u/;1[1-$fullr
E: \P\w‘uﬁ np uy‘u y I/ /uL/ﬁuy/fu lan:‘nfhp.ﬂ)/nLLr E gnudivpdinu

qopdngndfdyuite vlpndivdp,  wigu Londivdwfy pgmdapfgdp divofin

[Fnpbadp wnuiunl Eup, np (A/Ketf,+) $uwlpnnp-funcdji pyndipd ©

(Amfi+)  wpunnlbpfiv: Pusmybu  gfunkup, A/ Ketf $puwlpnnp-fudih

wnasprprbits o KeTf-fp Cospunlyfg spskyits K, agyufitgpt’
a+kerf={a+x | x € kerf}

pungdin [dynivinkpp: Snyyg wuitp, np gy quukpp ay dfusje wpbh

qocdivply, vy ol lpoplyf E pogdiveguonlyby:

Vwldiviubup Swpulyfrg  qpusukph wpmwnpguyp Sknlyuy - plljuis
bquitiymf.  (a +kerf)(b +kerf) = ab + kerf:  UYwmgbup — uyu
wlldiniindiit nn Elpnnddiniup: “Sgnp ay € a +Kerf, by € b + Kerf:
Uupugnegbup, np a1by € ab +kerf: (\ubup, np a1 —a € kerf I
b1 — b € kerf: L bunliwpiup,

a\by—ab =aiby—a\b+ab—ab =a(by —b)+ (a1 —a)b
e Cundivduwju (31)-fra1(b1 —b) € kerf, (a1 —a)b € kerf: (\euwnft

arb; —ab = a1(b1 —b) + (a1 —a)b S kerf

aiby, € ab + kerf:

wu[ﬁunL[ (3 1 ) u[uylﬁu(u[l /3"5‘][_ uu[lrg uwllrw(ul?[_ [Lu[uul[ﬁg l]_wulrpﬁ
plutllrwu[wml[nulb.‘ 4Luu1u[uul[ L[Lupd‘nl_/é'/nfll E uanq.lTL, i A/kerf

$Lul{u1np—[unuli1ﬂ [Lu‘ln;ﬁum‘llnur E o:lwl[ [Lu[uul[flg IPllllllTp/I
gncdivpdiv I FWLLLrwu[Luml[Lrw(ll vlunndinlp: Ulq_ orLLul[E l[uflu[ufub(u_g

.g)wl[mnp— Olllul[ I wyuiig L i Ll[nylul[w(ll LI i
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0 +kerf = kerf“u £ fruly Bl 1+ kerf-u E

Lhokup, mp (A Kerf,+) Pulpmpfuli e (INf+) byl
fgmdnp$pgdin pppulpuivignod” B df g wpimmwgunnlbpdindp,  npp
vwldidtfnod” b Lhinlyuy  LiEpy. g(a + kerf) = fla): Puisf np mu

fdpbph fgrdippfuli £ g
g((ay + kerf) + (az + kerf)) = g(a; +kerf) + g(a> + kerf),

g(0 + kerf) = g(kerf) = f(0) = 0:
Qunligfbup  uydd; op g-u e opulpyfi poymdippfugd” £
gll+ker)=f(1)=1L
g((a; + kerf)(az + kerf)) = glaiar +kerf) =

fla1az) = fla1)f(az) = g(a; + kerf)g(ar + kerf):
U/uu[ﬁunL[ lllll[lugnLHngl’l‘lI‘B [lnnlwa ufllr;nu/it.

(FEnpkd 1 §.
f: AL — Az onuuilyuyfive Sndndnp fugdpe g Bugpnol’Ay/ ker f

Puwlpnnp-oquwlju figndnp$ EInf wyunnlbpfiu:
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b bwjulp

[l B

1. (B,+) < (A,-l-) - uyu/flyg(u, [1un grodivguliin B-u A—/1
Eufdusfumdii |

2,BA§B,n[1u1[nLBAE{aX | aeB,xeA}

Livits bguitnalyny wwldiinfnad” Eu wp b Epllpngdiduf g bwjulpp:
nL bw[lw(ll Lrlu(llpLULrLuu(lll?p/'l 11172 L/un[uu(luuLnL [Lulrwp uyunl_llrmll_

pfrnplbup dpwjy mbquipnfulyf oqulfubpp b oquuily winfuiindp
lfipuilypy bguifinfulyfi oguidy: Y by [dngy o dpoanfoply
Quifu, wP o Epllynpdiiufi g bwjfulpf g lagpbpp, puitf np mbagqushnfulyf
onquljubpfi Sunlivp uyny Ephp LI_LUILLul["UJF(lllT[TE Swndpivljunod” Bu: U]q_

u[wm&wn_nL[ uyunl_[lnnll_ l[oq_qu_np&b(ll_g /’fl_bllle(llL[lu(llﬂLlIbf

Gunlivguryuitn A omuuly nitfs wnifung Eplpoe pgp by A< b {0} -u:
wu ﬁll_bw[llbpg lIﬂLL[nLJ[T(ll anfu[flLULﬁq_lnu[ubp, LfilLuHLu& anan\ ns

enpifuffruasy:

Nugnul™19.

‘“hymp B-u A oqulifh ppbawjn b boqygnddyniu niuf
a € B, npitr nivnfy Slppnprop& punn pusgdivgunndpdiiu: g
i buwpnudB = A:

bpnp, 1 =aa™ € B Cunlivdwju by wwldiitndiin Q. kanf,
mplafi, Cunlindwfy unifu Q. Gk, B-fiu b apnlpuinod wale 1-f
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l[ll_llrll(llllll[lu‘ll ullumfll[E, uyu/flug‘ll l[wfllywl[w(ll xeA ZLutrlup
x=1-x EB, nLumﬁlLBZA:

2 banliuip.
Yewsperits nctfs dfssssfe npfoeffessy frog Erusfuuly:

Oplivwljulp

1. ’}-ﬁunupl[b(ll_g llllli'_'"llg [3L[l?p[1 Vi OIlLul[E: Ifll&u[lru i funkup,
[ q_nLLrLu[nrufll l?‘ll[t—}w[ullﬁlrp(u En g ml = {mx | X € Z}
mlru_gﬁ [ZLLILLLI;IL@HL(U([I[T[IE: b[glr mx e mlZ L nce€ Z, iy
(mx)n = m(xn), npunkyg xn € Z: [Jupladi, mZ-p fup by L

2. f]“l’lgﬂL‘B A-u npuymn ‘l,lw(luul[[r(ll_g A[X]—nl[ X
l["nl["n[uwl[w(llﬁ ll!l(ll pwq_fufurl_w:fil[rpﬁ OlLLul[LI, n[ln(llg
q_np&wllﬁg(ubpﬂ A—ﬁg Eu: ’}\ﬁgnlzg ae€ A: L&w(luullli(lgg
F(a) = {fE A[X] | f(a) = 0}: l[]u/fu‘g(u, F(a)-‘u Py
pusgilivitig wndiskply progdi i E, opiug Sanliug 05 wpdio
E ”ynl_pffll E uanq_lTL, n F((Z)—‘u l1q_lnuL EA[)C]—HLLI?

3. Mygnp At oquly E Lo ai,as,...,an € A: [puitnulfup
(Cll, a,..., Cln)—nL[ [[nn[wapLuLLL/BL/(:f'InL(lIE\
{aix| +axxr +...+anx, | x1,X2,...,Xn € A}:

(Cll, az,..., an)-L' fn;lnuL L—A—nu/?

Mgyl nbuuinp ‘mwfunpy puodunad” oquidpyfin Sodidippfugdfs
dpfncdiy fpbuy b @Quinnnpby ppbay  fiulyp Qundivpdbp E
Cadilip Pl dfgndy ik (uyufingt o bwfubpp fasgoo” K
wnpulivg Eufdufudpbpf kgt oquliulpf qlagpod):

Srymp Bu A oquhp  pybwiy ko Sposphbnp  (A/B,+)
Peudpnnp-funcdpp (pfumupllbypm| dfuoju qoodivpediis qopdngodyniup):
Bl wjugbu,  fusmgbo fwpfbylivg  df9ocif acamdinsofipdidy
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hwypnod” wwfunpy. pudunod” wwldiivdnol” o Supulify  paokpf
wpmuuyp - (@+B)(b+B) =ab+B Ik wnncgifnud” b ougg
wwldivitndiits o Elpnnddymcup: \Jjuwypn £, np A/ Bt qununod”
onuily (unbqupnfulyf): Yuughum] wbaivnd Eup, np Efdk B-u A oquidyfs
fiptavju & wopu A/ By oquily b, uyufiup (a+B)(b+B) = ab+ B
puitdliny wwldidinfnod” B pugdivypunnlnodpy A/ B-nol? Skgf niufs
Wl Cwlpunwly wjpgnodp. Egb A oqulifi nplek B Eujdwpugdin jdyuiu
Sundivp (npp Cvivnfuvivnal” b Bufdwfundp pun pugdivagunnlpdi)
(a+B)(b+B) = ab+ B puitnudlep mldiviuncd” b Cwypulyfry qpunkipfa
wpnw gy e A/Bu oqulp b, wwpe Bu A oqulipy puybwju L
Runfuslpuits b wnneg by fupbugfs iallivindivin . ffnp: “Spgmp a € B L
x € A: (\eukup, np (a+ B)(x + B) = ax + B: Ywlpuju a + B = B ipuup
A/B oqulfi gpriu b Chnlowpwp ax + B-u b Sunfunnup £ gpoyh,
uyufiupy  ax + B = B: LPuinfi np ax+B =B < ax € B wnuiinul
Eup, npa € B I x € A = ax € B I ppbuyp mnlidivitndiin . hknp
wnnyg E:

‘Shynp uydd B-u A oqulip pylaju ko fdpkph qlwph i
hwnnigbup Canlyuy uitininaljoi ZnLﬁump..%/uLL/b,

f:A—A/B
fla) =a+B

9"u1(lllT(lI‘Bf—fl L/[12ﬂLlIE,
a € kerf—< fla)=0+B <= a+B=B < aecB:
wuu[ﬁunl_[, kerf =B I JnL[uu_[gLu(llZ[an l'"Pb‘”L [Lu(lupﬁuw‘llnur IS
orLlul[uy/fu [nlﬁu/ﬁp.ﬂ)fuldﬁ LI]12nLl[:
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Ueldivivunel: A onuulifs B g kv fpngafncd” b dinpufidiog, EfdE wjn
lzufllﬁg, np C-u (llnl(_l(llll[[Tll /1q_lnuL FA-nul' b BC C Cknlinul K np
C=A:

A oty B fupbuyp g™ b upuapig, Bjgk ibagp miufr Skl
abe€ B = a € B lunl'b € B:

Gumnnpbn divpufulivy fpbuyp qgar wjngpop fipbayg b onpp
Suwpunnp s b g pliky JEl wyy ng aopfffoy fogEugf JdE:

Newspy fbunfs qusquipunpp puogulayumbyne Sandiug wbpdin Stup s
wnp b punn lpuplonp oquilfulph u:

Ueldivivunel? A orpruilypy hpngofncdd” b vndpnn 9, Bk ab = 0 = a = 0
ljund’b = O:

Gunliguduits spuipin wdpng onqudy b dpng  [dfkpl b nplik
qupnfiy gapdwlpgubpn] pogdidugeafibph oquliubpy wndpng Eu:
Uelprn® sku dinugpubpf spwubpl oquljulpp  pusquigppuy  divgngf
bprid (ubulep opfily 2-p ogulivlpl wwdiumedluy Sl plyfud
opfitnuliubpncd’): Ydpng sEu il divinpfujubpf oquidiulpy

(G

lyEy.

ab+B=B=a+B=8Blulb+B=8B

U fopr Slipfdfits Coninpdtip E
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(a+B)(b+B)=0+B=a+B=0+Blun/b+B=0+8B

ll[llylrlu(lll'l(ll.’ U‘llg(lllanL[ A/ B .$Lul[mn[1—011wl[[1(ll wnuitinud” Eup, np B-u
gy ﬁr;lnuLL— lI}lll(lI(ll I Ll}lll(ll(ll Lly‘ll t;lnqgnurbp[z A/B-‘u wlliznllg E:

(Lrpikal 2 ().
U‘Lu_gu/urluL ﬁl]_lnulﬂ ullulnl [,—:
ULLIWH"';]H' ‘]\ﬁ(qngg B A orlwl[ﬁ Lrlu‘gu[uer I‘III_ITLUL(D E I ab € B:

b/glr a € B, I1L[1[Tl.fil B-u wyuifig E rl\ﬁgnl:g a ¢ B: SHHH mw‘ll‘g, npn
Ly :;blqgnul’b € B:

Yunmgkup {ay UB  punplin[dynivp  apupnddyng  nppagngu
gl A-nodi Yy poplayp wylanp b wnfufung spupodolp pognp ax
wbupp wpplbpp udivpelipiy X € A Conlivp: wle win wlnp F
wppmiilyfy  pogop - ax+y  nbupf mwppkpp,  apeokyy € B:
Younwphbup  {ax+y | x €A, y € B}y  puwgdinfdniup,  npp
lfpuivwlbup C-mf: Ymmgbup, np C-u  fpupbuy £ A-nud? iy
wnnig Eup, np C-u Eufdwfuncidp F pun qocdiupdits

(axi +y1) — (ax2 +y2) = alx1 —x2) + (y1 —y2) € C,
puif np Y1 —=y2 € B (B-u fupbuy B): Dbuyf wldiiidiviu Eplypnpn
wppdiving g bygne Cunling gfumwphbup  (ax +y)z,  opnky
ax+y € C fuly z € A: (Jukup (ax+y)z = a(xz) +yz: wlpuju
wilfuluyin b, np X2 € A I yz € B, puinfi np B-u ppbkuy F Iy € B:
Newnfr, (ax +y)z € C I C-u fupbiayy EA-nul?

Newpg b np B & C, puivfs op B-fi prynp unwpplpp umwgsfnd” Eu,
Ik ax + y-p k9 wnbquugpliup X = 0 papnpy € B Cundivp: yule upuspy
L oop a€C, puigp a-1+0¢€ C: Lun Eufdumpmduiv a & B,
mplafis B C C: Puyy By dinpufulivy fiphoy b Chubompup C = A L
1 € C: Yguimfbn xo € A I yo € B wjmypufin, np 1 = axo+yo:
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RLULlLrLuu[Luml[b(ll_B l[bpgffh ZLUL[Luuwan@/nL(lJE b—ﬂL[ b = abxo + by():
nL(lllT(ll‘B, npn ab € B, I1L[1[Tllil ab)C() S B, _Blu(llﬁ npn B-u l1q_lnuL L—:‘l,ny(ll

u[wm&wn_nl.[ L—L by() eBLb= Cleo + by() € B: Uuuuglu(ll_g, Iy beB
I /gbnplnfl'l Luu[ulgnl_(gl[w& b.’

(il 1.

Npeybugh A oqpulify B fppbuyp  finfi divpofulivg,
llfll[ﬂlud’b&lﬂ E I FlllL[luplllF, npn A/B .g)wl[mnp—o:lwllﬂ
(lfivh qupn:

Weygrgnyg. Guspu Sonkup, [k fius b wuitnulppod” A/ B-f qupn
L/flllrlﬂ: A/ B-u Lnlnllul["nfulrL/r Olllul[ E nunnfi ll!l(ll rpuiyn | LI]1uy(ll E[d=
wid B /4 s Ll[nyLul[Lu(ll L nclfi Lurlprpiip & [
[zlullLrluu[luml[Lrufll: A/B—ﬁ ns llptylul[ufll unupplpn En a + B wunbupf
uy(u llu[uullﬁg unupplrpﬂ, npn(llg Lundiupp a & B: w‘u, np a+ B-u nilifr
Lwljuipiup &, (ll&w(luu[[nurb, np l[me‘lu[ﬁ Kl uyLb + B [Lu[uul[ﬁg g,
nmp (a+ B)(b+B) =1+ B: Yuwlpuju (a+ B)(b+ B) = ab+ B, nipkafi
ab+B =1+B I inu [Lutrwpd‘lzg l,‘[l?l.ﬂll:IUJL Llluylrlu(llﬁ(ll\

(Va ¢ B)3b)ab—1 < B:
wuu[ﬁunL[ [dnpkdh ll_[(llI]_nLllil Lunliupdtp L—[lnnll:/wafll.
B ﬁ:]_lilulﬂ Lrw‘gu/uerb = (‘v’a & B)(Hb) ab—-1¢€¢B
Ul[q_pﬁg Luu_llugnLHlT(ll‘B Luruuglfll LIZqu‘ B ﬁl]_liwm lrlu‘BuﬁlIZUL b
= (Va ¢ B)(3b)ab—-1 € B:
‘}\ﬁgngg a ¢ B: l{LuthLglr(lug [lnnlwa/n;[nulE\
C=Hax+y | x€ A,y € B}:

f&-bnplnrz O—nLlrluu_[lanLngL lr‘lug, nn C-u ﬁq_lnuL E L B c C: \Rw(uﬁ
n B-u lFlll£lll‘lll;llL L iy C=AL lppml[[r‘h X0 € A, Yo € B, uy(luqlru
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np 1 = axo +Yyo ¢ élnnluuplup, axo—1 = —yo € B I L[ITFH(U[TLHL[
b = X0 Luullugnl_gnurb(ll_g /(7[7"[1[71/}1 u[(lu]_LlZu(ll Lun_w}_)ﬁ(ll Lliqu:

wd‘fwu[wynLgb(ug /t—ﬂrnpln/ﬁ u[(lu]_LrLu(ll lrpl[pnpq_ L/Zqu\

(Va & B)(E'b) ab—-1€ B =B fn]_lnulﬂ Lrlu‘[gu/uﬁuL E:

‘}-ﬁgngg II_IZIHL@HL(D ﬂL(lll’l lly(llllll‘lul‘l C /1q_lnuL, npn Bc(C I
a € C\B: -.Rlu(llﬁ nn d ¢ B q_lynl_@nl_(u ﬂL(lIfl b, ny ab—-1 € B:
le[lly(ll B C, nLum/1 ab—-1 € C: C<u l'"Pb‘”L FL ae C, nLF[Tlﬁl
ab e C I L[lrpgluu[lru, 1 € C: 4w1ﬂu&uy‘h q](ln]_nur1 9—[1 C=ALBqu
LIZngu/nfLuL /11]_lnuL b:

“Cfnuphbup (Snpbd 2 A -fr df pusn fpsplenp disivanfop g bap:

Luwps  wpupglbup  puogdidequnfibph oquliubpl o bwjulph
fpunngifndpp:

Wegmp K-u qupn b puitnalibinp K[X]-mf X dinfinfuslpivp popop
pugdivivgundibpl pogdiddymcup, opivg qopdwlhfgulpp Ko puagpopy
Eu: Wfuluypn b np K[ xX]-p inbquiinfulyp oquly k: f(x) pasgdivitg and]s
wnnnfuitp ljupuinalibup fuswb dppm degf(x)-mf: Gjdl M- fup by E
K[X]-nud” b wppncuwdpond” b genls dbly Sunn gpo wfbuisf
prgdiviigund; wop, Lupdf wiubpd, np pon pagdiveguenlpdi
Cwlppuopd nicuby dfugju gqpoguldynit wofduivfy - pogdidug aedikpp,
Cunbinduwfn Nogmd™ 19Q-p  wmgefocd” £ op M = K[x]: [ymen
Suypuillig qlypu b bpp M = {0} : Whgnp M # K(x] It M # {0}: Yyu
qbwpnad” M-nul™ hyquiffs qpudpitn wunefduivf - pogdidigoand” L
Chnlewprup,  wdbuuhnpp qpudppis wnf8uivf pagdiiugand:
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npipifnd b Connmnnndt qopdwlygf Sy fdyundp: pulpunylbu fup by
mwldivivnudpy  Cknbinul” | np fix) € M < A(x) e M, A+ 0:
Npeybugf nprpwdfi gupdubup  wdBuwhnpp qpudppis wnnnfSoinf
punpliivgundfs — finpnddyniup,  lpguydisiianpeflup - bk
wnpdivfnpud  pugdidigundp,  wyofiupt win pogdidugadp, aphe X
thrprfundpuivfs wilbmopupdp annnfbuinp qgopsuwlpgp 1 L GpuinadiEup
SO-m| M fipbouyfs wndbnuspinpp sppudpuits: unnnf it unpdivfnpfud
puplidiugundp: G 0 # g(x) € M,  wyuw degg(x) > degf(x):
Ruduinkup g(x)-p fX)-f dfpur g(x) = fX)h(x) + r(x): Vympfin L
wbiiuly, np Cunfiudwiy  fupkugp meCliindiiy D -py agapdiiufy
f)h(x) e M I Lundin&usjn 1-fiu wyuydiiifs
r(x) = g(x) —fl)h(x) € M: GlE degr(x) > 0, sy
degr(x) < degflx) b M-p lppupncuudfs f(X)-p wnnnfuify dopp
uulpuits unnnfluivfi pupdiiug ol fugsy vivnoap B (onnp, r(x) = 0
b 8(X)-p prsduitifrnud "L f(X)-p sy wining dinsgnpafrz (\eplafis,
M = {f(x)h(x) | h(x) € K[x]},

wyufiuptn fupbuyp pulpugid b wdBuushnpp qpuoljpitn wnnnfoiuf
wnpdimfnpfind  punpdiviigundfs wpuenpliubphy: \Yogpof g bwjulpp
(kpp pognp wpplpp dEl wmuppfs wpuneplipbpu Eu)  fosdocd” Eo
qyfrunfnp polwfulp, ol f(6) pogdidugondfs nggood” B fug kgl
Sunpup hunl” Sufis: Vv qplayplpnod” bpp M = K[x] funt M = {0},
fbwiulpp  ungumlby  ggfuanfep Eu, puinf ap Snfiund Eu
Gonbimpunmmofouiinpup 1l O pugdidug anfikpm]:

A bpuquintuninp (Sbnplad 2 | -f diviitn]np g laypfiv: Sphgnep fx)-u
witsf bty progdiiugund 2 (uypufiup
Jx) = g()h(x) = degg(x) = 0 funrdegh(x) = 0) K[x]-fg: Yynepfit
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E wlniuky, np Shnlyyuy puplinfdgniup (f) = {f(x)g(x) | g(x) € K[x]}
isipuafulin o sy & KTX)-maal? Paslpsuglon unpsffasy b gy (P~pr o by £
Wognp win wpopnimalpfacd b dEly wyy o bugf JE9 () € M S K[x]:
Lpuitlup g(x)-nf M fupbuyp Suopgp M = (8): MNuwpy b np
f(x) € (&) = M, mpkafis f(x) = g()h(x): Yuslpuusfts )1 witaaflipindtoyf
E L Gt degg(x) = 0 Lunt degh(x) = 0: fdt degh(x) = 0, wuyu
g) =fh ' (x) € (N & gW)-fiu wpunnply  pugdivigandp lyfiuf
apasssfly sl )it sy spaas g, s (F) = M, fiugin witeCtops £
Neplafi, degg(x) = 0: Lunlivdumfy ufiupnud” 12-h (g) = M = K[x] &
(N bty divpufulivy L Gppunbup  wyddd (knpld” 14-p (f)
dinpufulivy - fipbuyfi’ - K[x]1/ () puwlpnnp-oqulyp  qupn k= by
divitspodiviit mumdinuofipbup K(x1/(f) qugpmp: QdEu df Gupulifiy
purn K[x1/ (f)- g niufy Chanlojuy inkupp

g(x) + () = {g(x) + fAx)h(x) | h(x) € K[x]}:
Newpg & np Efdl 1(xX)-p g(X)-p f(X)-p ofpuus pradwivbyny mnwgfind
dinugnpg b, wigu §(x) = fx)s(x) + r(x) L

g(x) +fx)h(x) = fx)s(x) + r(x) + fx)h(x) =

r(x) + f(x)(s(x) + h(x)):
Neptatin,  g(x) + () =r(x)+(f) & Kx1/(D-by yrpupuisgmp
Swpulify quwnol” lpuplyfh b pienpky wjigbop ukplpeyugnogfs, app
hunl Ot £ ((N)-fp qlaypnod” ), Gunl™ by ddfy pugdiviigend” £ npf
wrsnfuiup fX)-fr wnnfuiufg thpp £ Wughurs] KX/ () uaspnf
umupplyin Eu r(x) + (f) Cwypulpfrg qponkpp, kg v(X)-p ool 05y F
fhunt” by Klx]-p fO)-p  wnnpSuivhy  shopp wonnpluit niukygng
hundivgudpuiv: pugdidugund” b g qepuiv wlipluymnplby. fyndipd E
Cknlyyuy unfbyf divngbyf vlppug pocdyncn ncubgog pupnfin: ‘g
n=degf(x): \puimuhbup Kulx]-m{ K[x]-p  puspliviogaafikpp
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punpdidyniup, oprivg wanfluitivkpp opp Eu n-frg: \Jjuuyen L, np
K[x]/ () nupnfr wwppbpp b K[ x]-fi dp9le fpupkyp b ppoduissguk
npudpupdtp  Cunliumunnpuiukgad” Gofiagubgn) 72 + (f)
Gwpuilyfry puslipp 7(x) pugpdidugunfibpfiu: Ka[x]-pofpo guadppiunp b
ppfaid” B pugdidigufikpl pon modf(0)-fi  qucdinpdiy b
pusqdivupunnlpdiit g opdagnddyniinkpp, npiup oquilif lpunnogidp Bu
wmldiiimnd”  Ko[X)-p dfpu: Abpp e pnpadpupdp
Curdisnspunmnsfoaislgniadiy sl £ fagndipbfgd KX/ ()-p
le Kn[x]-fo dfs9le: (\eonenpr, K| X]-p rpasspens £

Gitlyplbumugubypm| (Napbd” 24 -fr fbpp vlpupugpefind diviunfng
qlwph qifuunfop pgbugp Sunpft f(X) wimflpudtyh pugdivitng b
wbupp lpupkyh bty df pupp lpoplonpug oy pivg ppivkp: Jonpk
lypenwplBup uyrgfof bplp opfitly:

Opfitnuly 1

Dyl Cuguivfr Ff(x) = x> + 1 € R[x] pugiisivgundp (Sfpkup, np
Romf wpuwivlily Eup fppwdpuiv [diflipfs fulp Cond lpndiqglpu [k
pupmbpp) - gncufi  fpwdppit wpdion: - Qopdbup  (Skapld” 2 -f
oqum|dyunlp ljpinmyky ppwluin [Hfkph qupof wjgfuof fugpojunol;
npnud” X2 + 1 pugdidugundy Gocubiw wpdivn: Yg tagunaldpm
hunmgkup K(x]/(f) b Kulx] qupnbpp, npinp afpuy qlagpod
Iypvtn Rlx]/(* + 1) & Rao[x] qugpnkpp: Yymppo b ulpupug ply
Rolx]-fi muppbpp: Rolx] = {a+bx | a,b € R}y L Luppffi winubymf
x? = —1mod(x? + 1) wnusmfdniup  ompulpuyfin  qopdngndfdndiukyi
pun MOd (X% + 1)-pr hnrnupefnedd B Chanlyyusy lifpy.

(a1 +bix) + (a2 + b2x) = (a1 +a2) + (b1 + bo)x (32)
(a1 +bix)(az + bax) = (a1a2 — b1b2) + (a1ba + a2b1)x
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Uyrew frpdfry wpupy b np R pgdip E Ro[x]-p a + 0x inbaph
punpdiiugunfilipf Eufdupupmpiv: Yupiups Ro(x] qupmp lpoplyf ©
qhmwplly  npybo ppadein [Aflph g pugpegunal”
y2+ 1 € Ro[x][y]: Wu wnp quipmnnad’y? + 1 punpdisitgondis niéufe bplpne
wipdivn (upuipg by op unfbyfs pusn wpdiven finky sf lpapng): polpgba,
pfmoplbup Ro[X]-fr bl wnppp O+ 1x: B fipn by np

0+ 1x)%2 = (0+ 1x)(0 + 1x) = -1
Cunlivdufi (31)

I (0+1x)%2 + 1 = 0, uyufiupu 0 + 1x-p y? + 1 (upupy £ np wwle x> + 1)
pumgdiiugundy  wpdivgiy o ymo wpdiong g 00— 1xy E
bunnnnplin dEup lpunncglbyfiup hndiylpu [iflpf C qupinp, puinf np
wliplwypn - & np a+bi — a+bx  Cunlimyunmuufuniubgnodp
wwldiiunud” b fugndippfugd” C-fi b Ro[x]-p dfipl: Onfuwpfiubyn x
wpuitp llpd dfnufnpfs §upuinm] (32)-p fbprusdfond”E lpmdiyglpu [fkph
qodivplivit e puspdivapuanlpdit. puivmdlbpfiv: Yo opfiuwlyp junn
mcouitkyfi E wjy wnnolinf, ap dby SoPnpfby fuadpis 3y (wnaiig
S dpunfopf oplt bpuguleis guguafusp kpdindtpne b opugks
g Sfplinfnpnod” paduiigalpagfyg  dEfpaiddndt fpkpm)
[ pujuly  ppwlis [Hflph qupaop,  smaiiagod - Godiglpo - (dfkpf
spaipunp: Yyougfrom, dBup wmguitp dpwpup Equitialy [ifuyfie sy
wjpuf pugpujidiin lpunnogdid Sondivp, apod” ufpey - wpdiom
snitbyny pugdidtg i ndufs wgliseiulp:

Ophivly 2
W opfimulnd” f(x) = x* =2 € Qx] (uymnky Q-u  nwgfrity
[Pfbpp qupuin B): Ny b np X° = 2-p gniufs nowgfuitng apdiun:
Gppmnkymf — (Sbnplad” 2 1-p wnuitinad” - Eup Q-
Qy[x] ={a+bx | a,b € Q} it puafincdp: W i
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qrp S fdynidtivkpp fpmupfnad” By Chanlyuy kg (Cupiffs wnulym]
x? = 2mod(x? — 2) winusnifdyniy).
(a1 + b1x) + (az + bax) = (a1 +az) + (b1 + ba)x 33)
(a1 + b1x)(az + bax) = (araz +2b1by) + (a1by + axby)x

Vhnwphliup y* =2 pugdivugandp: Yu ninp wpdinn Qo [X]-nwd

O+ Lx wnuppp: pulpasybons
0+ 1x)(0+ 1x) = 2
Cunlindungin (33)

I (0+1x)2 -2 = 0:

bumnnnpln,  JEup  lpunmgkglinp a+by2, a,b € Q  [diflpf
pumlppouyfi qupmp (-p Canfiugumuofuaiinad” B2 Gpuiufi):
W opfivuwdpnud” lew, ogumfbym] dfuupup Equitnalfy,  fuapnguigeinp
(g psulsy g ity [Bfbpp qupein wiiegla, np X =2 pagdidug adi
acubtn wpilinn b bk noogfeiiag [Rfbkphy ukpdindkgfiup 2
g fritsy [Fffp:

Opfivuly 3

(rbripbal D A -fr bly gy Gpuusplenp Gfyn o i opfitdy [uktEp
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Lusfunpy opfinliulpnad” wmkuniup, [ figba kil apdad
o:lwl[ﬁg l[Lqu q_Lu&mﬁg fa\lrnplnr 21—/1 Oq_(llnL/qllllllﬁ llluplrLﬁ E
fpmgly  bpdftiukpfo  pugpmjunodibpp: eowphbp ki dp
/1[11u1_[&/nul[: r]\ﬁgngg mpL[Lu& E 2x—3 € Z[X] qu_tﬁu(llq_wdzl: Ulfll[uym
E np uyng plutLLrLu(lnPwJZt &HL(llfl Lu[urlum Z-nul? Ulul[ll(ll(ll uy‘ll nL(ll/l
wagriiay  wplinn 30 Yo wbaiubup, (I fugagl Gupkp ©
uunu(lu]_w[nn ITILLU([ILU[["L[ l[lun_nLHlTL Ln[u[w& orlwl[ﬁ E(lu]_Luy(llnLle ll}l(ll&lL
i, lj;_uu(lIUJl_[ﬂ[Tu_lLl_[lFu lIlllI‘LﬂLgbL ILLquI"(lILUngl[lT[TfI Ipuipui;

‘}\flgngg A-u mlnlwl['lnfulrLﬁ oquly £ L S-u onqulifi  wjtyfuf
lT(lIIJLUFLULllmL/;ZInL(lJ E npf Sundiup 0OS,1eSL
abeS=abeS
wuydiip,  uyufiupt S'[’ tuuly prgdivuyunnlpdiin ulpunndindp
(uyrpgfafi pusgdin [ dndinkpu pugniufnd b winfuinky dounfigukp
l[LULr l[ﬁuwlllllﬁlrp) AxS q_lrl[wpuyw(u Lu[uan_[waﬁ L[FUJ
‘vhEpdincdtup Lhnlyuy =~ Lunlivpdbpncfdjuin Supuuplpnddincup.
(a,s) ~ (b,t) = Ip € S, npplat—bs) =0
Uws frulpunybon Lundivpdbprdfdyuitn Sunpuupbpnddiniu B puitfi np
1. (a,5) = (a,s)
2. (a,s) = (b,1) = (b,1) = (a,s)
3. (a,s) =~ (b,t) I (b,1) = (c,r) = (a,s) = (c,1)
W fin  Eplyne Lunnlpnddyncivbpy wlfnlwypn - Eu: ULLIUIHHLH[T([IJQ
Epponpgp,  niubup (a,s) =~ (b,t) L (b,t) = (c,r) = dp,q € S, np
plat—bs) =0 L Q(bl"— ct) = 0: Wunkqpy  plunad™  F, np
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prq(at—bs) =0 L gsp(br—ct) = 0: baudivplbym JEp9fin  Eplne

pgt(ar —cs) = 0 = (a,s) = (c,r):

Louitmdibup S (a,8)-p Lunliupdtpndfdyuit qugp, fusdy S A-mf
Cunlinpdtpnddyuits quukpf pugdindpnicup:

STA  pusplin/dyniup Apupkyh b qupduly oquily,  wwiliidukym]
qodiupdisits b prgdivegunnlpdit qopdagnddndinkp:

Uwldiinkup qoodivpnodi b pugdivgunlpodfy Sankayuy puaduit
puitnudl b,

b _
+5 =
.b

N vl

t st
Puif np  gops  niubup Lundinpdbprdfdyuin qunkpf Chan,
wi{puudtipm  E wnmg by gopdngoddindivkpf hnnElpnndldincup:

aj b b

a_ b _ a b1 at+bs _ aiti +bis
np + P + o uyufflgg‘ll of = Si71 2 ﬂL‘lIlT‘ll_Q,

ap Ap,q € S np plasi —ais) =0 L q(bty —b1t) = 0: Llwnlwpup,

pqtti(asy —ais) =0 L pgssi (bt —b1t) = 0: Cnudivplbym|  flpsfiu
[uu[tuuwpnuﬁlbpﬁ wgll_ Awifu Lﬁuubpﬂ l[umufluu‘ll‘g\

0 = pgttias — pgttia1s + pgss1bty — pgss1bit =

pQ((at-l-bS)S]t] —(am +b151)st) — at-s'_tbs — altlsj'tlblsl

uunu(llnurlfll‘g, np

dp,q € S,np p(as1 —ais) = 0 L g(bt; — b1t) = 0:
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Shwmliwpp pgbti(asi —ais) =0 I.  pgais(bt; —bit) = 0:
Socddivplym fbpdf Sonfummpnodikpp wf b &y divolbpp omoiunod”
Eup

0 = pgabsit; — pqabst| + pga1bsty — pgabist =

b
pq(absity —abist) = %% = ?_llt_ll:

‘}:lnL[l/l(ll L_ lllll"Lq_lTL, nn Flutlfmlllluml[ljiu(ll ZIULI;U[I lllﬂnl(_lq_ L_

I by, gympfin F Sondigfly, np STTAU ibguepnfulyp oquly E Yju

il puitinpnlpf onuily:

frenplfup % wbupf  wnuppbphy  ugdifind Eufdwonquilyp
STV A-nalf Ywlilisiubiup @ LodinlipBpugdpp A-py q bl wyn. Eujduoqudyp
npylu - @(a) = %f W gbwpoud; kpp A oqulin wndpng9

o@=9o0) =L =L sa=b w9 bl

thafudpuupdtpnpks ukpgunol E A<y STVA-f dEk9: Yufiupy unlfng9

orllul[ﬁ q_lrulgnur A-u l[wp[rLﬁ £ (llny(llwg(lllrL S‘IA-nuI‘ % mlru_g/t

uppbppy  ugdipd  Eufdwonqulfy Ckan b fusmanpky ST A
Gt i E A onuilyfy s uinl?

bldt A wunlpng) oquilpnud” dbpgulup S = AN A0}, wyu ST A-f
prgnp g gpiywlpeit amwppbpp fndubusin Qulpogaopd&ukp pon

prusgiliapunlpfoy 4.5 = 95 _ %: Uenivmud™ Eup, oy sy

q_lrulgnur S1A i F £m‘l:nptfl:lrpl1 i, npp A o:Lwl[ﬁ
E(llq_Luy(llnLLrl:: l]\lllll(llllll_[ﬂp npbwypnul; Epp A= pr‘l:nqul:bpﬁ g
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mwgﬁn‘luuL/gL[lrpﬁ t;w&m‘ll E:
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%ﬂﬂ&ﬂllﬂL@nL(ll(llbp ﬁtl_lrw[lllrpﬁ (lll[LuerLUL/iz

‘}-ﬁgngg A-u lﬂlTILLu’-l""l‘ulTL/‘l o:llul[ E ful; B]—E I BQ—E fn]_lnu[lllrp Eu
A-nul}

‘]yan/fll E umnu;[rL, nn BN BQ-E lnplnuL F A-nul? UL[[TLFD,
/‘ll]_bluillbpfl lputruywl[w(ll Bi, 1 el E(lluuu(lllygﬁ [lutrlup nBi—(ll flq_lnuL E:

i€l
by bwjubph wpnung pyuy Elnggdnod Snlyuy pogdin dyncup
BBy = {x1y1 +...+xpyn | n €N, x; € By, y; € By, i = 1,...,n},

npmlrll N'E plljuins lgL[lrpfl lzuullﬁulq/nflfll E: UanlI_lT(ll‘B, np Ble—Ll
pbuy E GfdE X1y1 +...+XnYn € BBy Ik ziwi +...4Z2uWm € B1B2,

_ x,',i=1,...,n
Xi = )
—Zin, L=n+1,...,n+m
I
_ vioi=1,...,n
yi = ,
—Win, Ll=n+1,....,n+m

X1Y1 +.o X0 Y0 — (W1 oo A Z2mWim) = X1V1 +o o X nm Y ntms
npunkg X; € B1,y; € Ba, i = 1,...,n+ m: (Jeunf
X1y1 +oo X0 Y0 — (21W1 +...+ZmWm) € B1B>:
Uy lpppdfry, Bk
X1yV1 +...+x,yn € B1B2

lLZ EA, iy

zZ(x1y1 +...+x0y0) = (2x1)y1 +... +(2X0)Vn:
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\Rlll(ll/l an]—E fnplﬂuLE Xi € Bl, I = 1,,...,1/1.‘ anlTl_ﬁl\

zZ(x1y1 +...+x0yn) = (2x1)y1 +...+(zxn)yn € B1B>:

I\q_lnuL(ulrpﬁ LTy LI]‘I&!II E‘ul,w& E Cunndint 1_1172
B1B, € B1N B> (34)

buljunybu, E[dE x1y1 +...+x,yn € B1B2 L x; € B1, y; € Ba,
= 1, ceo s Ny wnyin Jnl_[nu_glu(llz[nl_p XiYi LU [y L1 u[wml[ufllnurb
lgbBl—(ll I /3[7 Bo-u: ﬂLuu1/1 X1y1 +... +xnyn-E u[wml[w(llnurb I Bi-u L
B>-u, nepbadin I B N By-u: Ulfll[uym E np (34) Fllflllll&lLE mlTll/l nclifr
il fn]_lnu[lllrpﬁ l[uuruywl[w(ll L[lrpguu[np Lflunw‘llﬁgfl Lundiup:

hq_lnuL(lllrpﬁ q_nLLrLu[I E l[n&l[ﬂLlf[[Tlﬂll(JlllLFﬂlllL’hL@lnL(llE\

B+ B, = {x+y | XEBl,y EBQ}
np(ll ﬁq_lnu[_ E: bul[wu[l?u, 17/317 X1 +y1—E Ik x> +y2—E u[wml[w(unurlr(u
B +B2—I1(ll, iy
(x1+y1) —(x2+y2) =

\(xl —xz)j + \(yl —yz)je B+ B>:

EB] €B2
VLo EfdEx+y € By + By, i Z(x+y) = zx + zy € By + By:
— ~—
eB; eB,
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Utnugpubpfy divufin " sfuluit’ [Fapldj

fa\lrnplnrzz,
rl‘\/lgnl:B A-1s mlnlwl["nful:Lﬁ Ollllll[ E L Bi,...,B,

fuptaujulipp  thofuunpupdwpup wpopy B0 ayufiup
i #j= Bi+Bj=A: Luwfuunybu pinpiud lunliupulei m
Lunn yi,...,ym € A uuupplrpﬁg l[LuLlLrL[Lu& [llll[lll‘BLUA'HLfl
Cunlivp  qoym i ofufy x €A wjumpufi,  np
x—yieBii=12,...,m:

Uryrgnyy. (Snpladj lpwpugnegBup fiugncyghoyn o m-f:

Wogmp m = 2: Puivp np By + By = A qmpmfdynis miukin x1 € B
I x2 € By np x1+x2 = 1: Qunmgbup x = x1y2 + X2y1 wmuppp I
CundivgfBup, np X-p punfuspupnal”t [denpladf ujundiviup: Polpung b,

x—y1r =x1y2+x2— Dy =x1(y2—y1) € By:

Upidbanpfilyncjdynicufg plundk, np x —ys € Ba:

Yhynp [FEaptadh ujipoudp Sfym b B[k fupbrjubiph puitnulyp dipp
Em-fig (m > 2): Qupugrghiup [Heaplalfy m Cusn frg bkl g bugprod?

Qunliudusfin [Herplally pusylisitiulopfy mubip

-
Bi+B, =A
Bi+B;=A

< .

I l[q_uflu[l:(u ai,...,dm-1 € B1, by € Ba, by € Bs,...,b,_1 € By,
wijtiyfrufit, np
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-

a1+b1 =1
a2+b2 =1
J
L Am-1 +bm1 =1

ﬂwzlfwu[wml[bLnL[ L[bpglfll [wllwuwpnl_@nl_(lflllrpﬁ wf I dwfu

m—1
lrllllllTFE vemitined” lr‘l:‘g\ 1= H(Cli-I-bi): LI\[TFZ/I(H Lupunuq_[waﬁ
i=1

l['llullluz;c}lrpﬂ pluglanL[ Linnuinuiup a; I bj umupplpf Lupmlut;[yw[ubpﬁ
g ncdiup, quq_ npnd’ prynp Lupqu_[yluL(llpr, Flugﬁ L/lrl[ﬁg\
bi1b,... bm_l—flg huppndinual Bu LutL(lu[LULﬂJ JEl Cunn a;: Ulfllfuym E np
prpnp Lupunuq_[ylu[lllrpﬂ, np upmpndnalpnol” Eu npllk @i umopp I
LEinEowpiap, II_[1u,l<llH q_nLlrlupE wunnlpuiunul”  E B /'III_ITLULfI(lI.‘

\l,llu‘llwl[lr‘lug iy Lpnuﬁup[l a-m[: anLu l[nllL/}lg blbz e bm_l
Lupuuuq_puym u[uunl[w(llnLLr b B2B3 oo Bm /III_ITLUL/I(U, lwdiu&qfu

B>B3...B,, € BoNBsN...0Bu

bibr...by—1 € BoNB3N...N\By:

\'Jllll‘lllul[b‘ll‘e blbz...bm_l L g b—ﬂl[.‘ \LITFE llu[uutp[u[w(}flg
umlu(unurlr(u‘g, ny 1 = Cl+b, a € By, b e B> NBsN...N\Bu: U[uu(llﬁg
p/unur E ny B1 +B2 ﬂB3 ﬂmBm =A I /(7[7"[1[71/]1 ll[(llll_ﬂLllil
Ypprnkyfs £ By b By N\ B3 N...N\By fupbaujulipfy qlaypucd; puiufe g
ﬁ(llr]_nl_llmfu[ lr‘ll[awq_pnl_@wllﬁ /Jlrnplnlzl ﬁﬁlm E 17[317 l['lnfuwr[_w[niluplup
g ﬁ:]_bw[ulrpﬁ ‘gw(luullﬂ\ un[[wL q_lru”gnur 2‘[’ l-['ln_gp E m-ﬁg:
R‘lunplr‘ll_g y1 = 1 I y2 = O unuppbpﬂ I l[ﬁ[nun_lr(ll_g lt—ﬂrnplnlb 2

l["nfuluq_Lup&LupLup yuifig B1 I Bz N B3 N... ﬂBm fll]_[TlllL(lllTFfl
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t}bu”gnur lllyn(lu.[ﬁ X1 ll‘lillll[flllfl(ll, npn X1 — 1 e B1 I

X1 — 0= X1 € Bz N B3 n... ﬂBm wuu[ﬁunL[, Lllr(lug l[wn_nl_glrgfflgg

witigfiufs X1 wmwpp, np

(
x1—1 € B
x1€B2
< X1 € B3
9 xleBm

(])n[uwp[fllbLnL[ L ipung B]—E Bz—nL[, B3—nL[ L[bpﬂ
l”quuru.[tuér lrlllu(luul[nl.[ l[l[Lun_nLglr‘ll‘B X2,X3,...,Xm l.nll.l[1[1[7[1£l, ll!illll[l?ll
n[lJnL[llll‘Blll(llZ[ﬂLF i=1,2,....m Lunliup mlﬂlﬁ ncufi.

i—lebi (35)
Vj+1i x,-ij

Jfupuntuninp - [denpbdfy  wopugnegdiviup. m Lunn - fup Eusfulpf
phgprni; Quamfbym]  Qunogfnd  X1,X2,X3, ... X b [Fhnplad
spuydiitivkpoud”  ipfud Y1,Y2,Y3, .., Ym wmupplphy lpannogBup
X =x1y1 +x2y2 +... tXmYm vmwppp bk LupBup

X—Yyi=X1y1 +X2y2 +... HXmYm — Vi = ijyj + (xi = 1)y,
=1
JF

m

Qunlivdwju (35)-f xj € Bi, Vj #i b neplafi ij'yj € Bif‘l_,lulL
=1
J#L

Lwndin&unjn (35)—/1 xi—1e€eB; I (X,‘ - l)yi € Bij: U]u/fu_[fu x—y; € B;
JnL[uu_plu(llZ[an I € {1, 2,... ,WZ} Lwndiup e [Fenpbadis lllll[lllgnLHL[u.lé’ E:
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Qkumliuiup 1.

\l,l[wmlr(lgg nn A X A >i cee X 14}: A q_lil[wpuylu(u LU [y L[

m
Chymnifdyundpe fpupkyfy b qupduly wbguspofubyf oguly, wldidulng
g umwppkpft (V1,Y2, .00 Ym)  Sunfupwdniubipp ulpamdindp
hopofivunn wn npfivaen gooliumlide Lo pagdissgeondpdic
qrpdugnefd ik,

(}71,)72, e ,Ym) + (21,22, e ,Zm) = (yl + Zl,y2 + Z2, oo ,ym + Zm)
(ylayza ,ym) ° (ZI,ZL 9Zm) = (y1Z17y2Z2’ L ,ymZm)
‘}(‘I"L[Ifl(ll E uanq_lrL, ny pr[Lu[nu[u[Lu& Eu Olllul[/‘l velldintndin
prpnp ll[l_l_yl_”_u(ll(lllipﬂ I Am Olll_l_ll[/'l g hn n Llpn(ll
Sundivwyunmua funitnupuop (1, 1,..., 1) I (O, o,..., 0) [wllw_gluc}n[lllrp‘ll
Eu:

(yl, V2,..., ym) 4LUL[Lu_Blu&nL/1<ll [Lutrluu[wmwufuw(unur En [TFI[HL
unupplrp X1 I x>, n pw{wpwpnuflr‘u ﬁ[rnp[n/ﬁ ufluplrlu(llﬂ.

x1—yieB,i=12,....m
x2—-vi€eB,i=12,....,m
u(lu/]12wu[bu g E np x1 —x3 € Bi, i=12,....m L g ain

X1 — X2 € - Bi: wuﬁ(ll_gcll, X1-p1 I X2-p1 flufluulluuuuufuw(llnur Eu
i=1
mpl[w& (yl,yz, ...,ym)-[fu, L/]nly(ll I Lllnly(ll uy(ll q_lrulpnul; lrpp X1-p1 I
X2-p1 u[uunl[w‘llnurlr(u Lfl1[L(llnl:/(ll [Lu[uullﬁg r[_wuﬁ(ll [ ﬁBi—ﬁ: anLu
i=1
lyroplry

x—yieB,i=12,..mex-z;€B;,i=1,2,...,m,
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n[unlrll Vi—Zi € Bl‘,i = 1,2, R /(3 Llyuﬁ(ll_p(ll yi—(ll L Zi-u LI]'llL(llnH(ll
[ul[nul[ﬁy q_wuﬁg Eu [ B;:
wuu[ﬁunL[, uwnuilincd” lr(lug l['lnfullfuupd-lzg [Lullluu[wunuufuw(lllrgnur

A/nBi I
i=1

(A/B1) x...x(A/Bn) = | | A/B:
i=1

o:lLulflllTpﬁ L/}lgll_: wq_ ZLULrLuu[LuuuuuluLu(llnLLﬁl /1Llnlﬁ1p$ﬁqfr E:
bulpnybu, ngfrgmp

fiA/S ﬁ B, — | [A/B,
i=1 i=1
I1[1u1[7ll

flx + ﬂB,-) = (x+B1,....,x+Bn):
i=1

m
01 +B1,....ym+Buw) € | |A/B;
i=1
Lundiup [Lutrw&uy(ll fa\lrnplnr2 2—/1 q_lynl_@nﬂl niufi X € A uy(llu[ﬁu/fll,
an-FBi =vy;i+B;,i= 1,2,...,m: élrmluupwp,

f(x+nB,-) = (x+Bi1,....x+Bp) =1 +B1,....,Ym + Bn):
i1

i=1

(lll [1) lT lT I1Ll]1 lllllﬂLlr lT(ll, n (Iryyngyiig (17} i) IT I1Llr
111y ipyplp r [remeeny roeer
unL[ylrl[m[u[ b:

q‘f’ﬂ”éﬂf(x'l'QBi) = (Bi1,...,Bn): Newspy K np
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(x+Bi,...,.x+By) = (B1,...,Bn)
L x+B; =B, i=1,2,...,m: ﬂLumﬁ, X € Bj, i=1,2,...,m I

X € nBi: élrm[ruu[zlup, kerf= nBl I f Lupuuuulluml[bpnu/b
i=1 i=1
tnpulpupdtp L (fiyklpnfnf  D:  Quugmgbgfine, np f-p
thinfudpupdbpnpliy wpmugunnllpnad” A/ (\Bi-p | [A/Bi-fr sfpu:
i=1 i=1

r]':lﬂL[l[l(lI b UL""L[I_[TL, n[1
Al + F]Bl-) + (x2 + (m]Bl-)) = fl(x1 +x2) + rm]Bi) =
i=1 i=1 i=1

((X1+X2)+B1,...,(X1+XQ)+Bm) =
((x1 +B1) + (x2 +B1),...,(x1 + By) + (x2 + Bn)) =
(x1+Bi1,....x1+Bpy) + (x2+B1,...,x2+Bp) =
m m
S+ ) Bi) +fx2 + () B2)
=1 i=1

fr + (B2 +[)B)) = flxr + [ )Biftxa + ] Bo):
i=1 i=1 i=1 i=1

A/ (\Bi I | |A/Bi onquiljubpp frgmidisp$prepel" k-
i=1 i=1

2 banleuiup .
\l,w/unpq_ [lrmluu(ll‘gnur vl & f Lupuuuu[wmlllipnulil

m
win by Xk + B, v 1.
r p rr
i=1

146



f(xk+6B,~) :f((x+63i)k) = (f(x+[m]lB,~))k =
(x+B1,....x+B,)* = &x*+By,....x*+B,):

wuﬁ(ll_g(ll, lr[glr (yl,yz, ,ym) [LuL[w‘Bw&nL/fu, [iun fa\[rnplnrzz—ﬁ,
[Lut/iuu[uunluu/'uw‘llnur E X LI, wiuy (ylf,yg, . ,y%)

[uu[ul‘gwc}nl_/fll [uurluu[wuuuu[uufllnurb Xk—(ll: wu l["wum‘ll nL(llfl ynmn

nullllu[[ﬁ wyuignyg: ﬂL(lllr(lJ_Q X—Yyi € Bi, I = 1,2, R /(%4 Ol;uullr(ll_g
Cuyuitfy puitnndle fig

k-1
xk—yb=(x -y Zxk‘jyﬁ_l
=

\Rlll(llfl npX—Yy; € Bi, iy ﬁl]_bw[llbpﬁ uwllrlu(llnu/}lg LEunbonul’ K

nn

k—1
xk -y = (e-y) Dy e Bii= 1,2, ,m:
j=1
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(Hbnplal™ 22-f dimiiunfnp  qlyplbpn Eu undpog  [diflph L
pusgilisitung ikl Gonlivg Cugyuivfy [Henplfidp:

Shymp A oquidip s undppng® [lph 7 oquidin b Pugsyla qfunkup
Jrepupuitggmy fpupbay Lopad” Sinfwd b Bl unwppid,  ayofings
punlpugd b npnpulify undpng Jdffs prgnp wuenplivkphy: Gplpo
[ bwiulbph tinfumpupduopwp wpopy fiukyp Condivpdtp b i bujulbph
Sufisubpf  shofuwpupdipwp wpopy gfiukpicn: Cnlowpap, - Efdk
Bi={kix | xeZ}, i=12....m g (Qbnpbd  2D-fr
[ #]= Bi+Bj = A wuypliitin pugniunal” F i # j = (3x1,x2 € 7)
kixi+kixi =1 wbupp,  apn pp Chpldfin Cunlivpdtp  F
i+j= (kikj) =1 wpupliivfiy  (uyonky (ki k)5 wnlEnundbS
punlvivmp  puduitpugin B): (\mnf,  wndpng  [Bfbpl qlwpood
(briprbal™D D i ity Chunly gy nkapp.

r]‘l"g”’;B ki,ko,....km lgllbﬂﬂ l[’"ﬁ"”'}”’[’&wpu’” Loy
Eu: hwlruylul[w(ll Y1, Y255 Ym [diflpfr [llll[lu‘Blu&nLl‘l Sundlinp
q_tynL@nL(ll nL(ll/1 u(l/(llu[ﬁuﬁ X [3/:4, npn X = y,-modk,-,

i=1,2,...,m:
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fipbwfubpf Supsubpl dofugaopdapup apepy ki @Eapkad

Srgnyp f1(0).f2(0),....fu(x)  thofuunpuplupup wpopg
pugdidugundikp Eu K] oguidpad? Gl
hi(),ho(x), ... hw(x) € KIx]  puogdiiigundfikpf Sundiup
qryncfdynit niufr wjingff g(x) € Klx] punpdiivgunl; np
g(x) = hi(x)modfi(x), i = 1,2,...,m:

‘]\flmwpl[lr‘ll‘g ft}-lrnp[nr22-/1 lIlTl[ wyy nL&wq_[nuL[ Lrluu(lluu[np npkwyp
K[X] o:llullﬁ Lunliup: ﬂ)/ygulr(lug /1[11u[1[15 umwppbp M Lunn K q_w&mﬁ
mppkp  a1,d, ... .4 puinalEup fi(x) = x—a;, i=1,2,....m &L

m
) =[x —a): QWhptugum & op popnp [i(X)  pusgliiug anfiskpp
i=1
l["nfqu_wp&w[zwp g Eu: ﬂ)ﬁ‘pulfu‘g uyJLr K q_w&mﬁ npl
b],bz, ,bm unuppkp, npn(llg l[l]_ﬁmwpl[b(llﬂ iy bu pLuLlL/Zu(llq_wdillrp:
éwlﬁu&u‘lfu fa\bnplnr 22—/1 q_lynL@nL(ll ﬂL(llfl g(x) € K[X], nn

g(X) = bimOd(X—Cli), i=1,2,...,m: Uw[[uy(ll wyuifig I mn (P.lnlnl_ﬁ
lglrnplnlﬁg), np g(X) = g(a,-) l’IlOd(X - Cli), neuwnfr
gla))=b;,i=12,....m (36)

m
i=1

m
f(X) = H(X - Cli) FLuLlLrLu(lu]_LULﬁu[ &‘m[w& I'III_ITLUL(U K uyulfll_p(ll
i=1

Bi = {f(x)q(x) | q(x) € K[x]}

m
i—1

1
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b Cunliudwfn Qlnluiup 1-fi gX)-p dfusli F ﬁBi S - 5
i=1
wyufiups pognp pupdiiugeefilpp,  opivp punfupopeol” Bu (3 6)
wpuydiiufin. Chinlyuy wkuph Ev g(x) + fx)q(x) L wppnnlppiuncd” En
§X)-p Cwpnulypy pumfin pun f(X)-f K(x] oquidnd? | kpgulym] wyn
Swpuslphy spwsfy fpiguidpuit: pundiviigund” e puduitkym] wiy f(x)-f
fpre dinugnpgoal” lppnuineiup ungn Gupalify qeoofe dEl wy
pusgliviigund] npf winnpSoivp thnpp E f(06)-p wnnpbuivfy m-fg: Qg
pupliiugundpy pusfupwpnal” B (36) wpuypdiiufin e g(X)-p Supulify
quunfs dfuuly M-fig thnpp wnfluivf pugdidugeadis b (EfdE fiukfi

wyrpaghufe bplpne wpplbp pogdidugoefalp, wgo f(O)-fi dfpo
deifulfulrﬁ‘u, Py wyip Lﬁuugnpq_(ulrpﬂ [Lullzflll[(unur En 4'[7‘[15 q_[uu(llg

{bEin, puinfi np t;[uu(llg wumﬁﬁw‘lflllrpﬂ l["n_gp Eu f()C)—ﬁ wumﬁﬁw‘llﬁg):

nl_umﬁ (3 6) ll.[ll{ll];_u(llfl(ll plul_[w[uupntl m-/15 l["lygp wumﬁﬁw(uﬁ
prgdiugandfy dplin b Y iy, np mowppkp Gknkpood

dfnslfs I
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Utnugpubpfs divuafiv " s’ [Feapkdf Jf

Vegmp Kixlp x  dmbofusslpivfy  hufusfind K gy
qopdwlifujulpm|  puplivivgundikpf opuljy L hpgngp  xM -1
prgdisiug wnfis miup K qugpimmd M Sonn unopplp wplinsikp: 2 ayuisf
E np uyy qbwpood popop wyn wpediveinbph paspdindyncop Qi E

Hﬁl[Lﬁl[ funu]ﬁ [run pwtllrwulwmlllﬁu(u, uﬂu[fll_g(ll q_rynl_@nl_(u "L(llfl lIlTl[ @
Lu[urlum, npn xm—1 pluzllrlu(llq_wdﬁ gy uuupplrp Lu[urluufulrpﬂ [ TT 60—/1
m—1

wnfbuiinlyiy B Lo,0%, .. 0™ L x"-1=]](x-o0):
i=0

Ly uitnuljEup Kon[x]-mf K[x]-f wijils prsgidiiung unfikpf
Evjdwpungdiv [dyniup, nprivg unnnfluivg inpp Em [diffig: Ywldiiubup
F  wpmwepunnlbpnodp Ky [x]-fy K™ = K x K x...xK  gElppuyuin
wipenung ol s by [fpy.

F(fx) = {1).fw),....o™ ")) (37)

\.L[TFE ‘lllﬂuplut;[u[wc} f(}-[rnp[nr 22—[1 pwtyﬁu‘lupludill?pﬁ Sundiup
LIZuu(uLUL[np 'I-IT”IB/’H SEinlonul™ - np F Luplﬂluu_lluml[banlIiI

Lupunuu[wmlllipnu/b\ 3:_1—E:
Shymp f(x),8(x) € Ku|x]: Nuspy £, np
Fx) = (). fw),....o""))

Fg®) = (g(1).g(a),....g(@"™)):

FHADg().flw)g(®),....fla" gl@™ ")) =

151



Jx)g(x) mod(x™ —1):
m—1

m—
‘]\ﬁgnggf(X) = Z aix' I g(X) = Z b,-x’: ‘}(‘I"L[I/I(ll E uanq_bL, np i
i=0 i=0

Flutll”u(llq_ullﬁlbpfl FLULLLrLuu[Luml[Lrufu velldiitnliou

i m—1 m-1
Ax)g(x) = Z<Za, DX+ D ajbmi ), (38)
i=0 j=0 i=0 j=i+1

npmlnl bm = 0:

Ruitfs mp x" = 100d(" — 1), wsgar (37 )-musl sposfssspfitalyns] 3" -p

m—1 i m—1
f)g)mod(x™ — 1) = > O ajbij+ Y ajbmei)x’ (39)
=0 j=0 j=i+1

Lelivits byuitulynyf wnugfnod k.

m—1 i m—1
f(x)g(x)mod(x™ + 1) = Z(Z ajbi_j — Z a;jb i) X' (40)
=0 j=0 j=i+l

‘}\ﬁgngg L}lynL@nL‘lI nL<llfl /4 e K nn 1/12 =w I l//m = —1: (I]Lu[ul L—,
g l//2m —o" =1L l//_l — l//2m—1:

Vechiubip £, () = S (wiadx ke g,(x) = 2 (wib)x':
i=0 i=0

Zunlivduju (38)-f

Ju()gy (x) = 20:(20: wlajybi)x' + i(i W ay ™I b ) x "
. =U = =0 j=i+
fur(D)gy(x) = Zw (Zaj ) +Zwm+’<21a, i )X
J=i+
l_l_lllllll
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m—1 i m—1
fr®gy@modx™ = 1) = D wiQ_aibi— Y abmi)x'  (41)
i=0 =0 j=itl
"L lpsnkiup, np degf(x) = degg(x) = m—1 iplygprnil”
punpliivgunfilph (38)  puitwdlem|  f(X)g(X)  wpmun gy
qupdwhfufubpp  Cupfbyme Cunlivg K qupumol”  witlpudtm
qopngmfgyndtivkpp (pnudivpnofilpp b posgdivepundynfidy)
puitlyy O(M?) g fr
Lpuitlup F(m)-mf & wpnwngunnlbpnodpy b qo Sadpugupdp
Suipfbyrne Lundivg K qupinncd” fppnspdlyfip - qopdnqnfdynitiukpf
puitnlyp: Jbpp mnwgind (38)-(41) puiwdlbpp [Inyy Eu iy
Cupfly  f)(X)  wpmmpuyp hppunkyf  F b F
wipnwgunnlbpocfikpp: Dulppogbo, sligehy [ Eup

F(fx) = (D). fw),....fo™"))

Fg(x) = (g(1),8(w),...,g(@™™"))
lpomuplym|  2F(m) - qopdmqnefdynit: Yo fpunnwplym] - m- Lunn
pusgdiveguonlpnod [y Eup
(((Dg().flw)g(w), ... o™ " )g(@™ ™))
fldyrinpp: & bnn [uplup
FHADg(D),.... o™ Hg(@™ ™)) = flx)g(x)mod(x" 1)
lpermuply] F(m) qopdngnedynu:

Gumnuwplym| ny wnflbyf puin 2m pugdivapeolppod” lponnegBup
Ly,y?, ..., py2ml
wnuppbpp b qpuing Swlpugup&ubpp): Cpuivfy Ckan flpanngBup
o) b gy(X)  punpliviugundiskpp fpnwpkyn] s anflyh puin 2m
prsglivpunnlpd? G bpn] F-p lomiveing F (fy (X)) b F(gy (x))
flidpnnginlpp fpunmplyn] 2F(m) - qopdngnddynin: Yopofiuunn wn

unupplrpﬂ (uyulfu‘p(u pryng 1, v, l//2, cees l//m_1
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hnpfivunn fpugdinguenlbup - wyn fElpnnpukpp e lhppon Bup
Flp,  mnuivaynd  fy(0gy ()mod(x™ = 1)-p: Yy Lunbivgs
sy 1+ F(m) g g [

Qunlivdwjn (40) L (41) puitudlbpp f(x)g(x) mod(x™ + 1)-p
wppbpfndE fuy (X)gy (1) mod(X" — 1)-fy dfsufin ' qopSudyfujulgmy:
Rusglimyunnhtup  fy (X)gy () mod(x™ = 1)-p  qapdwlyfuubpp v
wnuppbpmf, — op wwfusgbe Qwpfly  Efiup, B lpsuiisip
J)g(x) mod(x™ + 1)-p: bpmur Lundivp hdwfuukiyp m pusgdiviyunnlynd
Lpufinflym] (38), (39) I (40) puitwudlibiph fpu, nyopfin b nkaiuky,
np f(X)g(x) puspliviipundp wnwfin m gopduwlyfujulipp Sundjiulfuncd Ky

L (10500 mod(e — 1) + flx)g(x) modx™ + 1))
prgdivitigundh qnpSwlipgubpf {an, ful; Lfiuugzu& qnpdwlifigulpp
%(f(x)g(x) mod(x™ — 1) — fx)g(x) mod(x™ + 1))

punpdivivgundf qopdwlfijubpf Sk (\comp, hunwplypm] o g anflyf
puitn 2m+ 1) qopdngnefdyni,  fuflp9n,  fpnneiveiyp - fx)g(x)
punpdiivgundfy popnp qopdwlifujulpp: (Sugluivogp gopdngmdyniiukpf
puitnalyp Iyfiufy OCF(m) +m): Ywidpwsju swlfuluyen b ap F(m) > m 1,
neplad,  f(X)g(X)-p Lwpfbyne Lunlivp fhppnnwpkyp - O(F(m))
. -y

Oty x" =1 puplivivgundpy wpdimeiulph Cannmd)
Cunnlymfdynitivkphy,  lpunnegly L Qonnnddy wygoph[dd; nph
oqumfdunlp F L F wpmungunnlbpoofikpp Copduplpnod” B
fpasmupby] O(mInm)  qapdaqufdpniu: b [Fnygy b wyfs Cuigfly
f)X)  wpomnyuyp punn wnflyfy wpuig,  puit Cunliudugn
pumpdiivqunfibpl wpaogugf wwldidnduin - puinedlich,  bpp
Surfuufrnd"E O(M?) qopSngnifdync:
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F L F wypnunyunnlbpnofibpp Loyuivf Bu npuybo ﬂ)nL[le/'l
q_l1ul”1[7u1 nulful I [Lul[wq_wp& cill_ull["nfunL@nL(lfubp, fuly
q_[uu(llg Iw&L[LIZu‘u Lqu_npfllgllil\ ﬂ)nL[ylrﬁ g

&leunfinfuncfdyniy: Soybf wpug. dbuspofunddniag wwle fulnd
E kS [dfkpp  pugdivagunnlpliiy dfus opu Suyuinf puifusg o
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byfusnfnp fpupbavjulip onquliuly

“m:lrm(l"ul':A Lnl?lllul["n/ul?Lﬁ Olllullfl unuppE llnll[nurb I_I}IUIL[HF,
17/317 ll(lill nL(llfl [wl[wq_lup& [y puullrluu[lumlllrw(ll q_np&nanL@ufll:
U frfrpivkpf pgdin fdyncup wpuitnualpfood A * - nyf:

UL/iznllg /gl.[bp/'l o:lwl[nLLrL/ﬁLul[ L/}u[np(lllrpg ppuilip +1 unapplpn Eu:
[R[x] Fullllrlu(lllI_IUIﬁl[TF/‘l 0:lwl[[1 L/ﬁwL[n[flllT[fll Eu pwgwn_wu[lru g

[lllumllllﬂ"L(ll(llL_[TE:

qyfufnp, EGE win S E dEly unnppm}
B=(a)={ax | x € A}

by @ sppp Gsifrcdd”E fg bvagfs Suafrg:

Veldisivanesl? A inbquipnfulyfs - oquilip, apfs  pmpnp iy bawjulpp
qifusnfrp Bt lpngfad b g funnfnp g bwsfubpf oquily:

Vesldlisivanesl? A inbigunpofulyf oquiifs p # O unuppp Appgdnd” E
witnfbpundkyf, ok p & A* I ikaf néufs

p=ab = Lunla € A* unlb € A*

N2 3.
o G/t p-u witnfbpundtyf B g vitnfEpudyf E
‘wle ep-1 undivpuiljuin € € A* Lundiup:
buljunybu, wluliwpn  E ap ep € A*: GfdE ep = ab, wupu
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p=albe™) L lunl a € A* Jual be™' € A*: Yulpwju be™! € A*
wuyidising Sunliupdhp Eb € A* wuydisiufin, mumf €p<u uitnfbpmundkyf
E:

o Gl widpng® oquilpnuad’p & A, p # 0 umuppinf

Stnfind (p) fopbuyp wpunpy b vsvqus p-

Lu(lu[lrlnucVTLfl b 7

G/dt: p = ab, wupu ab € (p) b a b b wmupplpfy wnsfugu JEyp
wpunnlppiind” () fipbunyfin: ©pygmp g an Ea = px opopulf
X € A Lundiup: (\epkafis, p = pxb I p(1 —xb) = 0: Quuuljy unlpngy
mplafin, | —xb =010 b e A*:

o G/t p-u witnfbpundlyf b qyfunnfop g bujulph
oqudpnd”, wiyus (p) fupbuyp dinpufulivg E (ol
wjuip) :

Srygmp 0) fnlawyp wpupncusdpodd” bl wyy (q) fpboussped” I
(p) # (@): Neplafis 3x, np p = gx: Ruinfr np p-u witnflbpudlyf b wigu
lpund’q € A* fpunl’x € A*: Gfdk x € A*, wnyum g = px~' L (p) = (q)
fiust winlmwp b GJdl g € A”, wpun (q) = A I (p) fpupbuyp divipufulivg
E:

bl p b q umuppkpp Guinfuiuknp  wongfuogind, bk
eeA”), np p=tq: Nwpg L op  wengfuogudm|dui
Cwnpuupbpo [dyncup umldiivond” b Cundinpdbpm [uin Swpuupbpo [dynd
ol vitnfbpudtyf  wnuppbpl puspdicduin fpa, mpellpmf - wgn
glunmifny Cunliupdbpnddyuin uukpf bplpne vitafbpadtyfr wmopp JEl
iy Eu diunju b dfugju, gl qpuiup wongfungdwd Eo: juluygn |
np wungfuugfnd vnopplbpp Suncl™Eu dpliungj i kugp:

Uelzrmn® [Dflph onulpnd dpuly vitnfludtyfs imupplbpp gy [dfkpin
Eu, pug  npoudl” po b —p  wpupy (Rl wengfuugind Eu:
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witnfbpudlyfy progdivtg ik Eu:

uuuppl?pnl_[, [7/3[7 B = {ClX'l‘ by | X,y € A}: ‘]‘(\janfl(ll E uanq_bL, np
{ax + by | X,y € A} FLULlLﬁuﬁzlnL(lfll fn]_lnuL b: lj\b(llp lloq_uuuq_np(}lr(ll_g
(a,b) ‘wyuitnlpnodp {ax+by | x,y € A} [y Sundiup:

Luwle lppukup, np wdpngd oquihf @ wwppp puduingnad b upph
fpu,  EIl i wjgpop ¢, onpoa =be: Yy shunnnp
lwpduivwg pkup  Chnlyuy  hkpy bia: Ywldiiubup  wdEuundbES
E(ln}flu(llnl_p puwduitnmmupf quguipiwpp. a b b owwppkph
widbuundbS o luivmp pruduiwpup L ingood” wyn anupplpf ajo
[upluivney puduinupupp, ot puduinfnud” B ogpuing Qudingudjeis
wyy i Luitinep praduitnopupf s

N2 4.

‘“hymp Au qqfuunfop ppbwjubph opudp b:oa b b
wnppbpm| Sifwd fpbuyp qyfuunfnp £ b gy
nctufi ¢ € A, npp (¢) = (a,b): ¢ a le b umupplyfe wilEndbS
gt Luitng pud it £

Ueyrignyy.  Qfpluyn L, np hguimf c €A, np
(c) = (a,b) ={ax+by | x,y € A}: Sbqugptymf x=1, y=0
hnuitiup npa € (¢): divitnba b € (¢): (\umnfi ¢:a I ¢:b I ¢ a
I b inwppkph fuguiump puduitiwpuyiv E:

Whgop d-a b d-b: Yufiupy, hguimfbu e b f wjngfufin, npa = de
b = df: Puivp np ¢ € (a,b), wupn gmmfdynin niuku xo b yo, np

158



C = axop + by(): wumlnlﬁg Lu(lulﬁgluu[[iu umlugl_[nur
C = axo + by() = d(exo +fy0) I dEC: q](llq_nuﬁl Luu[LanLHL[Lu& L

Opfivuljubp

1. Mhygmp 2w wndpogd [Afbph oquliu kb Pugwlbu g funkup,
L-f fpndivguslyuits: ng npfuffuoy Eufdwfumdp pu qocdivpdiy
lpopifin & nprpuyfy smwpph (wdEuaspnpp qpuluit umapph)
popop wpunnfliubpfy: floosfe goopapoiigmp by gfiukpn]
Eufdufuncdp pun qocdivpdit qyfuasfop B

2. ‘Mymp  Klx]-p K qupnpy  gopwlfujulipm|
pusgliviugunfikpl oguwliy E: Mgogp B fupbuy E K[X)-nul?
LI B = K[x] lunl” b B = {0}, wuyu wilfuluyimnpby B-u
qyfuunfop b Mo By wpupnindppad” Eoainifusg dED
qpulpuits wnfluinf pugdidug el Calpanaldy qlgpood” und”
B =K[x] lunl &y B =X0}): yuimulibup f(x)-mf B-nud
wpupniudpfog wlBuutpopp qpalpin s fSuiuf
pusgdiviigunfiskppy nplols dlp: Phyngp g(x) € B: fuduitkip
g)-p fO)-p ofput g(x) = f)R(x) + r(x): Qupy & np
r(x) = g(x) — fx)h(x) € B: it r(x) =0, s
0 < degr(x) < degf(x): Yulpuju degr(x) > 0, puitsfp np LjdE
degr(x) = 0, wupn B = K[x]: fupkdis O < degr(x) < degf(x):
Fuyy fuplbwynod” sl qpudpuit: wonfSoivfy pogdivitsgund] npfs
wnnfluivp  papp b degf(x)-py: flunnp 1(x) =0 &L
g(x) = fx)h(x): Uljuluyyun 2 np
B = (f(x)) = {f(0)h(x) | h(x) € K[x]} qyfuunfnp fp by E:

3. ‘MrmuplFup

Z[V-1] = {x+y/-1 | xy e Z}

pusgdifdyniup:  Jymeplin b mnogly,  opwfe adpg
wkquipinfulyh oqulp b fmliykpu  [dfkph  gocdivpdiin m
punpdivapunnlpliin. vlppndivdp: g oy fpgdnd” E
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bCunuyuin wolpng  [Rflph oqudy: Jupngnegbup,  np gy
gifunsfnp  polawfulpp oquly k. Lwfu  goyy  awip,  np
21 J-nudd” Cuspunfnp b wwlidivinky dinngnpgmg pusduitnd?
Lovilitnp 0l-mf o = x+yJ=1 [difpr wopdp 1ol = x> + y?:
Youphits b gy, op aBl = lalllBl &
lall =0 = a=0: Mgmp o,feZlf-1] L B=0:
Luduinkup a-u B-fi fpur npyln Sannupudy Gndiyylpu (Dl
a=Py: Bk y & ZIJ-1), wpw dfbpgulinp € Z[J=11, npf
fpuwdpuin b hkqd divukpp y-fi ppwlein Lo Glgd disukpf
dinlps il [k Ev: Qupg b oop |y =7 < -
Jbmjukup 8 = a — By € Z[J-1]: fliukup
S=a-py=Py-Py=pr-7)

Lo 180 = 1By =71 < UBll: U] sumasgi
dinugnppm| puodundind Z[ =1 ]-nul o = BY + 8, npnky hunl®
0=0 hunt kg 0 < ||6] < |IBll: MNynp uydd B-u fupbay k
Z[J-1)-nudd b B # {0}: Lpuitusbinp B-mf B-fi unlbimunpnpp
prulpuits: unpd” ndukgog  susppkply  dEjp: ‘Mgop o € B:
Ruwduinkup dinngnpym| o-u B-fi ffpus o = By +6: Qupy L
np 6 =a—Py €B: b 6+0, wnyum 0 <|[5] <|[p
wengifnd” by np B wpupndidpoud” b dfs unpp, npf unpdj

ppuwlppi £ L thpp E || Bll-pyg: fleonp 6 =0, a =Py L
= (B) = 4By | v € ZIN-11} qypuunfnp foploassy E:

PR Va—

z[”ﬁ} {24+ 2719 | abet.a=bmod2}

1+/=19

FLULI_LI;TL@HL(UE: ZI: il(ll Lllllﬁﬂlm mln]_wl['lnfulrLﬁ Olll_ul[ IS
l[nLru[Ll?Bu [31[[7[1/1 gpncdiupdiv I szyllmqwml,d’ufu
vlpnndindp: I"pn‘[g,

(4+4775) (5 +47) *

%(ac — 19bd) + Z(ad +be) 19 =
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(ac — 129bd)/2 N (ad +2bc)/2 Jo19,
uyunkbn (ac — 19bd)/2 I (ad + bc)/2 undpng® [dfkp Bu, puinfi
npn d = bm0d2, ¢ = dmod? u[u(lllruflflllrpﬁg pfunurl—\

ac = 19bdmod?2,ad = bcmod?,

I ac — 19bd mad+ bc lgL[lrpE gy Eu: z,wll_

ac—é9bd = ad;bc mod?2: I')ul[wu[lru, 1w Zwlrpr[zg E
ac — 19bd — ad — bc = Omod 4 u[u(lerlu(llffll, npfl ﬁlan@ﬂL(llE
quntnol’ b wlfpluy, Edb &wfu  divep  fbpupaog pEap
npu[lru

ac —20bd + bd — ad — bc = (a — b)(c —d) — 20bd:
1+/=19 ]

S ] fin, puiuf np

LIk a € Z[
a=bmod2 < a= (-b)mod?2:

b 1+y-19
Uwldiiubup o = % + 5 -19 € ZI: 5 ] urapifa
vnpdp L g Equitiulymd iy bu
||a|| = o0 = 62—2 + lngz: f]yanfl(ll E uanLFITL, ny

laBll = llalllIBll: Cuwle |lall € Z: Luiuf np av n b
dfiliunfin gy m it Eu, wig

Om0d4, a-u ne b-u gnyg Eu

a’> = b* =

I mod4, a-u ne b-u Eun Eu
I undby qbwpnola® + 1967 = 0mod4, numnfp |a|| € Z:
Bryy wuiup uydd; np
Va,p € z[ L+ ] B # 0 Lunlivgs, EJIE au sfs
prrduitinfned B-fi fpu I || B < llall, wwrngguns
3y,6 wijtnyfufr, np 0 < Jlay — Bo| < | B+

Shifinfbpn]  (A2)-f sy qgepfiy E o Cunfiugly,  ap
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Z[ L+/-19 ] p ggfuunfap fupbwfubph oquily £ puljsgl,

'Pf’H"HQ ny anpfuffuny fipkay £ b 0 # € B uwppiu nduf
Wifwiquigngls it uopdp B-nud? ‘MNgngp o € B s
puduitnfncd” B-f fpu: Jljucuym & npoa # 0 L ||Bl < |all:
Yy vitnfbu ¥, 0 wjmypup, np 0 < |lay — BS|| < |Bll: Luifr np
@B € B, unyuw ay — B6 € B: Lule puinf np 0 < |lay — Bo|,
wiyqus @Y — 6 # O: flunnp B-nud qunuiup ng qpryuwdpnits unwpp

ay — o, npp unpudfy thnpp E f-punpdpy, fiust viniup k:

Wl wuwpugmyglnp  (42)  wjppnadp: ‘g
a,p e z[ L+/-19 ] B#0, acu sp puduifuid” B-fp sfpus b
18I < llell: -Rw‘uﬁ np B dpunfnp sb mnmiunal g ||l > 1
(Efdl: B-u dpunfnp b, g BB~ =1 & ||/3|| 1B~ = 1, neunfs
1Bl = 1): Lovitnulup a=4+L2/-19 I
B=%5+5V-19: Qyupfin t 41%[11 B-r unifnpudyuiv
lyradiyygbipu Suslpipipdp: ﬂL‘hb‘lw 1Bl = BB In

=P - (520

§ - phr(4+ 4 (5-49)-

\S)

ﬂplﬂhll

S

I+ y-19
m , n /_ — N 7
>t 2\/ 19 € Z|: > :|
(uyufiup’ m = nmod?2) I

T3 s 519 ¢ [@}

‘L&ufluul[lr(ll_g X = 2|r;3” 5 y = 2”nﬁ” be Umw‘llnur lr‘ll_g\
4= L+4J-10 ¢ Z[ L+/-19 ] Vs wonitnslynisd” b, np und”
X-p1 l[Lquy—E Lut/ﬁnllg Lli(ll, l[lulr [,—L i puilip Lullﬁnllg Eu, Py
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X = ym0d2 plu:l_q_wmnur ufqu E /1‘[1&;/ [LuJZupJ[zB F— - y & /
ll[llylrlu(ll/'l(ll. Uu[wgnLgb(ll_B, np qu_Ln(llL[lT(ll 7/,5 ZI: I+ 5 ], ny
0<

%)f -0 || < 1, [lrmluupwp\

0 < [lay — Bl < [IBll:
Uovivwlbup {a}y-mf a ppuwluiv [dffin dinwlpnn wdfag® [Ffp,
E(lu]_ HFHLLI; b[ii’ba =m-+ %, Ly {a} = m:

Yep 1:y €2, 5 ¢ 7

f)iukap
%:%+%./—19 - x;y +%+% ~19:

o
Jkmjubup vy =1 & 5=M+l ~19 ez[” L ]:
Umufllnurlr(ll‘g, ny ﬂ’}/ S_Q—{ﬂ} +0 L

groo] < (7 (7)) 4 <
‘]\lm”g2y5£Z—eZ

l‘;‘hﬂuul_l;um 21 5y e/
(’)Lupq_b, npy = m+ %, | = 1,2,3,4 I

m, i=1,2
o) = , :
m+1, =34
”Lumﬁ |y— {y}' S {%,%}: (’)LUFLL b(luull_, np X—y—E qyg

/3/14 b.’ ll.bpg(lllr(u‘g )/ = 1 n

5. X-y+{} {g}m ez[@}

2
Vsnuitnid Ep
%y—5= y—z{y} +y—2{y}mi0
I
- 5” - {y}) (y—é{Ly})2 19 —
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_ 2 4 .
S5v—4yy)” <5« 75 < 1:

b‘hﬂu"’_liulp 22 5y & /7
Jbpjulip y = + — 5 V=19 : Yunuivuing

- (5+38)(4 - 17) -

2
%Y;my - ? 719 ;
Jbpjukiup
5 %Xﬁfﬁf}_'%&J?@u;z[1+gf@'}

I %}/—5 = Sy— {Sy} + 0: ﬂLplTLﬁl\

EICEECOSE

a
Qy_s
57

Xy

Gufdugbisyp 3.1:2y € Z, x—-y € Z

[lcubup 2yeZ:>y=m+%:>5y=5m+%¢Z I
1

5y =5y} =3¢ Mupyg k np x—y-p hkin kMg
X—y= 2k +1: Uuuu(llnurli(lyg\

x+y:2k+1+2(m+ %) = 2(k+m+1)

L x +y—£l gy E: !‘Lbﬂg(llb(llﬂ Y = % + % -19 y LIy

7= (52 37)(4+179) -

gy X

2 2 [
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[luEup
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g rritnffr wnlpng®  p, np psx=p+l,
munfi 2p <2x < 2p+2 L 12x—-(2p+ 1)l < 1:
llbpg‘llb‘lug
5= 221 2 g g 1EZD
2 2 2
2x—(2p+1
(’)lupll E  np %)/—5: (++) + 0, puiift  np, 17/317

2x = 2p+ 1, wupn X —y = p—m € Z[fu&‘u Lu(llé(luup E:
lllrpgwu[[ru uuuu‘llnurlr‘ll_g\

a. <l @x-@p+1)* _ 1
ﬂy 5”— 1 54 <1

Gfdumployp 3.3:2y ¢ 7

Nvkup y € Z Ly +m+5: Yguitnlp wnlfg9 p, np
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Z:
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A
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i Fﬂlm k np k<x<k+1: ULu[LrLu(lllr(ll_B Z-n llnnlldluL l[bpu[:
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1.1 .19 _ 7 )
4+9><4 9<1.

5. ‘Mrgnp Z[x]-v undpng® qopdwlfujulipn pugdivtg wdikpf
oquliy b Nummphbip 2 b X pugdiduganfidpeg - Sifud
frop by

(2,x) = {2f(x) + xg(x) | flx),8(x) € Z[x]}:

Pyneppiv b mnnegly, npou polpuogba gl 2 e qpponfop

frpbisy sz Jupugneglbnp qu: Qupy b np 2f(x) + xg(x) nbupfr

FLULlLrLu(llq_LULﬁlbp[l: bﬁb q_m(lu[ﬁ L/]1 € Z[XJ, i Sunul” E (2,)6)
by, v 2 = h()px) b x = h(x)q(x), mpupudyfy p(x) b
C[()C) FLULlLrLu(llq_LULﬁlbpﬁ [LULrLup Z[X]—ﬁg: Ulfllfuym E nf
deg h(x) +degp(x) = 0 L h(x) # t1: Chunbiwpup h(x) = £2:
Ullll[lly(ll q_lynth?lnL(ll &HL(llfl LuL/ﬁnllg q_np&wl[ﬁg(llbpnll I_I]'I C](X)
Fllllllrlu(llll_lull; i FUJL[UJIHUF/IX = i26[()€) ll[llylrlu(lll'l(ll.’

6 Mymp Clxyl-p  fubiglpy  gopdwlfufulipn X,y
l["nl['lnfuwl[w(lfllbpﬁg llwﬁu[w& Fl_l_llll_rl_u(lll]_lluﬁlbpl'l o:llulfll E:
Vympfiv b bk, np

(6, y) = e, y) +y80xy) | fx),8(x) € Clx, y]}

fipbuyp qyfuunfnp sk pulugbe, Xf(x,y) + yg(X,y)  wnkuph
FLULlLrLu(llq_Ludﬁ L lll(llll_lllllil llplyllll[lll(ll E b/(—ﬂr q_uflu[lrp
h(x,y) Sups uyn poplagp Sunlivp, wpn x = h(x,y)p(x,y) I
y =h(x,y)q(x,y): Qupy L np h(X,y)-p sp lpupng fiuly
Lwnnnunnni (n& LLprywl[ufll): wnLu l[nllllhg, [7/(7[7 degh = 1,
Wiy C[(X,y)—g Lunnnunnnin Ulfll[uym E  np h(x,y)-/1
Lun_w2/1(ll Luum/ﬂgw(llﬁ lll(llq_ll.lllzl hupupnimulfy [unl” L/]uly(ll X

l["n'-["n/'uwl[ufuﬂ l[wlr bL Llﬁuy(u y l["n'-["n/'uwl[ufuﬂ: ﬂl_umﬁ
x=h(,y)pxy) bk y=h(y)qgxy)  wpuplidinkpp
LI]nuJLULrLu(luulI Fuu[ul[nu[n[bL &b(ll lllupnl]_:
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Umﬂlrm‘hnul,' A 17, F"lm mlnllul['lnfulrLﬁ OILLulIE lln &L[nur E

Pwlpnnpfuny oquly, Efgh ponp ns qpuyuilpin wopplpin wy
oty dpwpdbpnpky ubpluyugnal” b witefbpadtyf amupplpf
wpnagyuifubpmf, wyofiupn uolivpalein 0 # a € A wppfs Cundiup
g il vinfbpudbyp pi,....pn b dfunfnp € € AY wjnwpufin, np
a = ¢€p1...pn:

Judflpuusdlyf inwppliph wpmwnpuyp dpwlpodyniup Salpugdnod™E
Cbwnlyuy  hbpuy: Vhlungy wnoppp bplpe a = €pr...pn L
a=208q1...qm ubpluypmgnobibpp  Sunlivpfnud” By Cunfunnup, Bk
lypndivpulyuit pi Cundivp lppuitaffy vpoit wngfuugnd qj b Salpn by
lyusdivgrilpuiv G Sundivg lpg ity upuits wungfusgdud pj: Wodpunfnpbup
wungfungwd  mwppkpp @ = €p1...py ukplugugdiin JE,
fpnuiiuing @ = UpiipE...pif, npnky g € A bor#t=p, b p
witnflpudtyf wopplpin wangpuogdwd sEu: Gplne a = epy'..pit L
a=908q)...qn ubplpupuygmdikpp  Confumwp B, EfJE n=m L
Jrcpupuitigpmep Pi Cundivp lpguitnffs vpuits wnngfuogid gj, np si = tj,
fuly grepumpuigyngp g Qundivg lpguitnffs vpuit wongfuogind pi, op

N fj: (I]Lu[ul[,—, nppfi = /li ]t-jii,li e A* Le = 511171:

Yympliv Eulpnnty, np $udpnnpfusy oquidjd witnlpudtayfy inuppn
Sfud fpbuyp wpupy b Dolpuybu, qhgmp p-u wiflpudtyh L
‘Shunwphbup qpuiim] Sifwd (p) fpbuyp b wmnneg Eup wyn fup by
upupgfdyniup: Shgnp ab € (p): Yguimff ¢, np ab = pc: Luivf np
oy Buslpnpfuay b g a5 i dfsly bl
witnfluudlyp imwpplph wpmwgyugh dfgngnd, npp ludpuliuf pe-u
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Uiy (llbpl[llylugljzu(ll Chun, npy ullupnfluul[nurb p—/fll LuungfuugL[Lu&
i ﬂLumfl p—/1(ll luungfuugl[w& il l[ll[luan(lllul[/l
witpudtpmnpb lunl” a-fi ubplpaygugadis aivdbpudtyf oppbpmg
l[uurl,_L b—ﬁ (lllrpl[uylugnulzl: 4[7”1[LLUFLUI1, l[uura S (p) l[LquL—Lb € (p)
I (p) ﬁll_bwlﬂ uyuifrg L UJ" u[wm&wn_nL[ g ﬁt]_lnuL &(llnll unupplrpﬂ
hngncd By oquayfr uyrupg vmupplp:

i luitine purdwitnupupfi I widEuufnpp i luitine

Opfituly
‘Chunwphltup R[x]  ppuduin qopdwhpgulipn]  pugdivdug acfikpf
onquilyp: Vympfit b umnneg by, np
18x% — 12x3 + 20x% — 12x + 2 = f2(x)g(x),
npnky f(x) = 3x— 1, g(x) = 2x* + 2 pugdisiugunfikyin winflpudkyf

Eu: (I]Lu[ul E i f(.X)—(ll Luungfuugl[tuar E x— %, flul[ g(X)—E\ X2 + 1
i wodfi, noof

18x% — 12x3 +20x2 — 12x + 2
FLULLLrl,u(lMI_uILI]'I Lu(lu[lrluu&bLﬁ ulpuuuq_pﬁiubpﬁ (3)(? - 1)2(2)62 + 2) I
18()C2 + 1)()6 - %)2 L[prnL(}nL/(?lnL(lflllTpE :llll[llllllllp Eu:

(rbnplal D 5.
Udpnn® qyfuunfnp fpbwjubpf oqulyp pudpnnpfuuy

Uwyngryy. Ulgphy hupugnogbup, ap lpodiguljuis: ns gqpogudluin
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wnpp vkplpypugnol” B wimfbpudtyf wnuppbph wpoag ppugmd, - ful)
Cknn lpypugnegbEup wyy Ukplpagugdit dilpodyncup:

Lpuitnlpup S-mf win (@) qyfunsfnp fupbwfubpl pugdicjdocup, np
a-u sfr vkplpyuignd witnlbpudtyf ippbpf wpoagyugof: Nepy L
g I (@) € S, wpur AU iy witnfbuudtyp b s by dfusfop:

Bnyy wuiup, np B (a) € S, wupu gymdnin niup JEly wyy
(a1) € S, np (a) < (a1):

Vhunnkup, np kg (a) € S, wupu a = be, npunky b,c & A*:
Whukuyn & np (a) S (b) I (a) < (¢): Qundinpfbup, np (a) < (b) I
(@) € (¢): Pulpunyl, qpygmp (@) = (b): Lpwimulpud b, np b = ad:
Nenfr a = be = ade I a(l —dc) = 0: Puinfi np a 0 L oqulju
wilpng® b, wupn 1 —de = 0 I ¢ € A* \iitnnyba wnncg nud” Eup, np
(a) # (¢):

Newspyg b 5p b b € umupplpfy wotfung dElp gncufs ubplpogugnd”
witnfbpuudtyfe wpmonppsubpmf b und™ () € S hunl b (¢) € S, puiuf
np Ludpunody s bayprcd” ppop g plymf b-p be c-p ubiplpuyugnediskyin
witnfbpudlyfs  wnuppbph wpnwgppeulpod - lpoosiveiyp - a-f
Condivpunmufuuite. ubkplppyugmdp: Yogpound - wumoguiyp JEly unp
umpp S-fg ((0)-1 funt™(¢)-u, npp wpuitnullinp (a1)-ny), npp Cundivp
(a) < (a;):

Al pefesdfoyy Chanbired by ap B S # DB, wngguas Sl ygone [Jyonc
itfs oy busjiubpfs witifles pufdhsd

(ap) < (ay) c...c (a,) ...

r]‘\/nnluplllr(ll‘g U(Cli) FLuLLLIhL@nL(lJE: ‘]‘\Lu ﬁl]_lnuL b: I'\ul[wu[l?u, 17/317
i=0

0
X,y € U(Cli), winjin X € (Clil) I y € (Cliz) npn&wl[ﬁ il I i2 [Lutrlup:
i=0

Ulfll[ll(lllﬂ L npXx,y € (amax(il,iz)) A
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x_y = (amax(il,iz)) - U(ai).‘
i=0
L iritnnng bt
X € U(ai) = x € (a;,)) = xy € (a;,) < U(ai)
=0 i=0

nL(ll/1 b e A, npn (b) = L_%(a,-): ﬂl_umﬁ b e (ak), npn&wl[ﬁ k—fl [Lulrlup:

Newpg £ np (D) < (ak): Uymu frpdfy  (ax) < _L_%(ai) =(b) &k
(b) = (Clk): Uuuuglu(ll_g [wl[wunL/qlnL(b, _Blu(llﬁ nn dx € (ak+1)\(ak) I
L_%(ai) = (Clk) - L_J)(di): anlnﬁl S=0 L OILLulIﬁ Janwgwﬁlﬂan

wnupp ncufs ubplpyugnol” widbpadtyf awppbpl wpog gy
Qeyrgrgbup wyddd; np wyn ubplpuyuigncdp djlju E:

Ulgehy wopugmgbnp sy oduiuquwly ufignod™ Edk piab le p-u
uitnfbpwdtyp b wopn Gl pia, Gl pib: puljunybu, qhgmp a-u sh
puduitnfnul” p-fi fpus: Sy d-u a-fr le p-fowndBuundES fugLuitineg
pwduimppupy | wyofiup’ a=dx L p=dy: LPuwufi np p-u
witnfbpudkyf b i junl’d € A* fjunl’y € A*: ©pgnp y € A*: Yyu
qlbwpnudd = py™t hoa = pyT'x fiusy winlumwp b (\opladid d € A* L
(d) = A: Yuwlpwsj, fiugiglin qfunkiup (Nugnul24), A = (d) = (a,p) L
qyncfdini niuky xo0,y0 € A, np 1 = axo +pyo: Ruwgdivegunnlybym|
flpfin Cunfunmupnfdyuin w9 b dwfu divabpp D-mf fneiveinp
b = abxo + bpyo I b-u puduitnfnd k- p-fi

bidk pat b au sf puduimfnd” p-p s, g fugmbe gy
wnfbgfiup fbpp 1 = axo + pyo: (Jemnfr a1 = a*xo + apyo b pia®:
Cupnitlibym| wpngbop Qunuiveinp, np pia fiugp Cwlpuuncd” E wi
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puitfit, np a-u s puduinfnud p-fodfpu: (Vopladin EfdE pia®, wnyuw pia:

Wb wpugngly  Eup,  op EdE oqulify flpPusfnp
puwinulpnddyundp wmupplph wpawgugp paduiifnod” Eowiflpudtyfh
wnppf fps, wyu wpmwg plgulphy wnofugu dEqp Gpoduindfo wyg
witnfbpudtyf imuppf dfpu:

Yhygmp wpefwmd Eu dpliungy wmepph Eplpne ukplpagpaognofid
witifbpudyfy g pyujulpf dfgngo]

e1py...pw = exql...qm

Wluduyin £ np €2 ...q0 wmwppp puduifod” E pr-pi i
Uhunfnp €2-p sfr puduitfnud” pr-f dfpur: alpinady  qlaypnol
g2 =pix = 1 =pixe;' b winflbpuudlyp pr-p dpunfap E (Yo
q1, ... qm wmmpplppy 8fin Ay (Sfpbkiup, np g, ....qm wwpplpfy o
dp qryq wnghugpfind 58 puduifood” L pi-fiodfpa: Newpogmdpuin
Sunfivp Eufdumppbup, np qw q1-u £ g1 = p101 b wlfuluyinpli
01 € A*: UYwwitinud” Eup, np €101 ...pw = €2p]...qw: Gfdk s1 * t1,
wubtp 1 > ), wupn €1p' . pw —€201pY...qm =0 I

1,52

pi(eipy ' py...pi' — €28145 ... q) = O:
Olllul[ﬁ wtlﬁnllgnquInL(llﬁg uuuu(llnurlr(u_[g\

S1—11 .82

e1p) ' pY...pw = €2019% ... qn
b &ufu divup pudvuitnfnud” B pi-fi fpus, fpuly w® divep ny (puith np
q2, ..., qm muppkpt wongfuogdind sEu pi1-fr Skun): (\emnfr 51 =t I
ogunfbym| oquilyfs wpngPudfdynicupy
e1py...pw = €201G%...qm
GUpliubyn fbpp pupugpind qunnngoddgndivkpp lppnuivuinp, np
lyguitnffr 62 € A, np

Sn
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CLUFHL(ULU[[[TL"I_[ u[pnglruE l[[zluglumlr(ll_g gy pPi mwpplrpE &Lu[u
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I /(—)llrnplnfl'l LuL/iznlanL/q/leiz lllll[lllgﬂLgL[lué‘ E:

2 bunleuip

bﬁb K-u I E i K q_w&mﬁg q_np&wl[ﬁg(uban[
FLULLLrLu(lll]_LLIlﬁIL_FfI Klx] oquilypy pulpnnpfiyg E:

Opfivdy

‘}\funlupl[b(ll_g Z[\/ —3] = {m +ny -3 | m,n e Z} o:llul[E: wu
orLlul[nLLr (llﬂpljil uw[Lruflu[nLLr E pluuljuis lTlLlu(lllul[ﬂl[
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Pwlpnnppuy s puinfi np 22 = (1 + /=3 )(1 — 73 ): ‘}:Ian[fu E
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Yymplu b mnngly np o nbguepnfulyf oquly L Gnkulp  ofkpp
plsfon 7] S oty opfintys): 2] 5 | s
fitavfubpl oquidy b Qunligfbup qpuitnad? Shgop o, € Z[ #]
L f#0: Ruduinkip 0 Pefy djps opughss wsdapubuit Godiglpo
[Bftp o =By b gqpkup yu 5+ % =3 inkupmf: puinulkup
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wgas Y 1-nud” thafuwpfinbiup {Xp-p o djma il wdpog - [difm]
wiftnybu, np (X} = {Jy mod2 puunnncdfy jfivf mnngg: Nwpy £ np

ly =y1ll < +3%x 5 = & < 1 WYdo wpuivmlbiup & = a—Pyi:
Uunu(llnur[r(ll_g, ny
161l = lla=Byill = lla=By+By-Prill =
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2

Wufivpy dEup wwldiiubyfinp z[ ]-mwlﬁ,wgnmml prnduitingd?
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Uepgrmglbup  uyddd]  np Z[x]  wndpng®  qopdwlipuiubpm]
pusgdiitpunfilipf oquilyp (opi flugigbu qfunkup qyfusfop fupbujulipf
oquily s8) Puwlpnnpfuny L \Yufiups pudpnnpfusy oguljulpf guoniu
unfbyfs puju b puits qyfuaninp fupbasfubpl oquliubpf qusp:

“m:lrm‘hnu':f(X) € Z[X] qu_trlu(llq_wdﬁ q_np&wl[ﬁg(ulipﬁ widEundkES
E(llq_lufllnl_p pLud‘Lu‘luu[nupE lInLL[nLJ E plu:.llrlu(lu]_wdﬁ

Ll[lll[InL(llllll[nqulﬂL(ll Ie wyuitndpfned”E cont(f)-my:
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r]\ﬁgnég f(x),g(x) € Z[x]: Umngq_ Eflnnl:zlepLu(luu&lLE\
cont(fg) = cont(f)cont(g)

Qepignyg.  Whpluym L op - fx) = cont(Nfi(x) &
g(x) = cont(g)g1(x), nmpunky cont(fi) = cont(g1) = 1: Nuwpy L e,
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Pm # 0: 8nyy wuiup, np cont(f181)-p s prurduitnfnid e ny ddf p uprupy
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[uu[luutup E

arﬁs + ar-}-]ﬁs—] +...+ar—1ﬁs+1 +...
q]wpzl E np arﬁs-g LIL' Fwahu(lu[nurp—ﬁ L[FLLI, /1ull Py Lﬁuugm&
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E:
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npunkny  fi(x) € Z[x], cont(fi)=1 &L 3 e€Q pmuljuinu

[uyuuu[nu[nu[ uflll[p&lumlrLﬁ l[nmn[nul[ E:

Wegragnyy. ) = 511 (0) vhpluyugdiin quynddyotin wliuluym £
punfuilpuits £ g Cuiip Soyumupuph pliply f(X)-fi qopdudyfujubpp b
g phply duulpog Shy wyg pagluivop Cuyinmpupp, wigus o
plpky qopdwhfgubpp widbuwdkS pug luiung puduitnupupp:

Uwpgnegling  dpusdpnefdyniup: - bfgop  fx) = 5f1(x) = $f2(x):
Rugdivyunnlibup Eplpne ngdEpp ns-mf msf1(x) = nrfa(x): (\eunfs
ms = cont(msf1) = cont(nrfz) = nr: Puwivfp np (m,n) = (r,s) =1,
wyufiup 2 b L wilypSunnkyf Eu, wp nep puduifaol” ES-f
s b g Glpunwlyy S-p poduinfnud E 0-fy s, mpkdiy 7= s

Lliivunylbiu  mnvivnad” Eup, np o m = r: Yunbgpy by puncd” B onp

176



Ji(x) = fa(x):

Wasg el D .

G/l fx) € Z[x] L f(x) = g()h(x), nmnky g(x),h(x) € Q[x],
wpun - f(x) = kg1()hi(x), npnkg ke 7, gi(x),hi(x) € Z[x],
cont(g1) = cont(hy) = 1:

Ulqwgnyy. 4wlﬁu&u‘1fu q](lu]_nur 27—[1 nL(lllT(ll“B\ f(X) = mf1 (X),
gW) = g1(x), h(x) = $hi(x), fug npocd”

cont(f1) = cont(gy) = cont(hy) = (p,q) = (r,s) = 1:

(Ve jobi

mfi(x) = fx) = gWh(x) = G581 &)

gsmfi(x) = prgi1(x)h1(x):
Qunbivdijs busmeufy (kalild
gsm x cont(f1) = pr x cont(gi)cont(h)
I gsm = pr: Puinfi np (p,q) = (r,s) = 1, wnuwivnul™ Eup, np p-u
prasch il S ifpuus fusly 1 G- fpoas: Zloasle gy 2 il
[3fe] E L fx) = kg1(xX)h1(x), mpenkeg k = 25

U/umlnlflg Lu(lulﬁgluu[lru [zlunurb\

N e 2 Q.
b/t f(x) € Z[x] ul(llL[lTFlllé‘[TLfl E Z[x)-nud;  wigun uy(ll
Lu(lu[lrpw&lrLﬁ E vl Q[x]-nod? 7[x] o:llu[[ﬁ Lu(lu[lrpw&lrLﬁ
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Flulll_rlu(llq_ullﬁlbp(ll Er g l(_Jl/u[ [Lu(llq_ﬁulugnll
Lurununnnil FLULLLrLu(lII]_LLIlﬁllT[TE I Q[x]—nuruflu[lr[uu&llﬁ
1 u[wan(luul[nL[(?leliz pwzllrlu(llq_wlﬁl[rpﬂf

(@bl 3.
Z[x] o:llul[E .1)Lul[u1n[1/uuL E:

Uwpgnyy. Yjpluym & np Z[xX]-<u wolpng® b Shgmp f(x) + 0:
Ruitp np Qi by wges Sandivdufin (kb D S-fr Lhanluiupfy
Qxl-p Pudpnoppuny £ b qynefdynit aiufy fX)-fr ol o fdynitin
witnflpudtafy pusgdiitganfidpf QUX)-nul? 2 wnlivdujn Wugood™ 2 8-
thafuwplivkpn] — Qlx]-f winfbpudtyl puglidgacdibiy 1
gl Gyl usgfosgifouSubqn] 2x)-py G f0)-f
Chanlyuy  ubplpppugnodpy f(x) = mg1(x)...g-(X), mmnky m € 7,
gix) e Z[x] lcont(g;)) =1,i=1,...,r:

‘}-ﬁgngg Ln[u[w& E f()C)—fl lIlTl[ wyy L[lranLc}nth?/nL(u Lu(lu[lr[uu&lrLﬁ
Fullllrlu(llll_lulﬁlbpﬁ Z[X]—nur f(X) = nhl(X)...hs(X), n[unlnl n < Z,

hi(x) € Z[x] &L  cont(h;) =1, i=1,....,5: Qx]  oqulf
$lul[u1n[1/1£uLﬂL@nL(llle Lkunlinod” b, i r=s L lupuuuq_pﬁiulrpﬁ
L[l?plllll_llllllllllﬂanlI}lH LEunn gi(X) = %hi()C): nLF[Tl_ﬁl\

C[igi(X) = pihi(X) I lll(llg(lIITLﬂl.[ ll[lupﬂL(lllul[ﬂL/;zlﬂL(ll(lllTpfl(l_l uuuu(llnLLrlT(lng
qi = pPi, uyuﬁ‘ll_g‘ll\ gl‘()C) = I’li(X): [a\bnplnfil wu[wynl_gl[w(} E:

I]_wmnllnle?jnL(ll(lllT[IE IH"LFfI(lI b UILLILLIHHLHITL[[TLHILJUILIJIT"FITLIE:
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(FEnpkd 3 1.
b/t At Puwlpnnpfiuy oquuly B v Alx]-p (llny(llu[l?u
Pulpnnpfiy E fl)wl[mnpluuL Etrule Alxy, ..., xx] oquidyp,

XlyeeesXn l["nll"n/uwl[uflflll?pﬁ A-fig L;np&wl[ﬁg(ulr[nu[
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Ldpifiitayuits (Gofpyfrgyuiv) oquljuly

buwlpnnppuy  oquiljubph lpoplinp Eufduwgun Eu fpgdingd
Llpifnboyuiv opuliubpp: Junivunfopuglbo gpoivg qawfiv Eu
wunnlyuiinol” wilpng - hflph oqulip,  quipnfy  qopduwlifgubpng
pupdiiugunfilpl oquliubipp, Swnoyuin widpngg [Gifkph oquilip:

bdpifbvyuiv oquiljulpy widpng b qyfuunnp g bwjubpp oquiljukp
Eis, newnfy i puitp Budmogfuy Eu:

Vaédlisiummesl A unljzrg onuilyp nsefredd” L b ofpypfip Euguits: oy,
E[@l “upuu yrepupuiigymp s gprgwluin a awppfin lpopkh F
Cunlivpunmufunivkguly nprpudif widpng® [Gfuf™ al CGapp fppinguinkup
bopip i unpdd)  wjngbu,  nap mbgh osiukn Skl
wpliitinkpp.

1. lal > 0
2. a =bc=1bl <lal

3. Va,be A, b+0)3dq,reA) a=>bg+r L lrl <Ibl EdEk
r+0 (blggLflq_lTl{Iw(l_l pnduitnliv :lllllpllll[npﬂLﬂlﬂL(lIE)

Opfivljulp

1. Ydpng®  [Dflph 2 oquidif Lundivp unpdfn g [iffs
g duly wpd g I

2. [lplk K qupinpy qopdwlyfujulipn pusqliviuganfilpf K{x]
onqulifr Sondivp wnpndp o pogdingoandf winn [ uitit E:

3. Z[l] (Il‘wnuylu(ll undpng®  [difbpf oy g Euwpnod™ m + in
[Fff wrpnds s (m + in)(m — in) = m? + n? [dufu E

4. ’}Jan/fu E wnnug by, np K upmfig  goapSwlifpgulpng
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wumﬁﬁw(uuyffu &Ll.l[l[g[?p[l l/LULlL/;n_Lr Eu LuL/ﬁnllg Ollllll[, i
(llllu(lllul[l_[ﬂLLrb K[[X]]—nl[ Cw[zgﬁ (llﬂFlIZl AT X—[1 uu/lr(luul["n_gp
wumﬁﬁw(uﬁ Hnl_gﬁiu E:

5. ZI: 1+2_3 ] o:lwl[nur % + %\/—3 i (llnpllil i
2
5377 = 5 o35

Wargrniil'32.
bdlpiprtryuive oqulyp qypuundnp fp kuwfuliph onquidy E:
Uupgnyy. “bhymp A oquilip bfpyfig byyuin & e B-u o bawy A=l

‘Srygmp B # {0} b B+ A (wljugunn b np punfudjuit b g funwplly
gy i bgpp): Whgnp 0 # b € B 1 \b\u shrppuug o fiiu E B-fr wppbyf
Cunling: | bpgubp wydd B-fr hunliupuilpuiy @ wpp b praduivbup wj
b-p sfpus Cundivdusju Bopyhmbayuit oquidyfs wmliliitdivin 3. upnydivivf:
Yunuiiuiup a = bq + 1 b, Cbnliwpuup, v = a —bg € B:

‘bhgnp bl = 0: Gfdt r # 0, wupu Irl < bl =0, fiusy winlimup
Nepladis v = 0 b fpupbayfs prgnp unwpplpp wpunnfddy Eu b-fin, oflp9five by
[ bungfs Sufisu 5 B = (b):

Whgrp bl > 0: bfdh 1 % 0, wrngguas 1| < b1 o b1 drrgppuassgmefis sk,
fiusts witiCump & (Yeplafis 7 = 0 e B = (b):

élnnlLLu(llg
b‘[BL/”FlTl{Iw(l' Ollwl[[l $wl[u1n[1fuuL E:

busigbu wkuly Hinp, Z[X]) oqgulyp $uwlpnnpfuny £, puyy qifofog
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fupbwfulipf oquily sb: Yufiup, qfuunfep pgbwjukpp oquliubpp
Budpnppuy oqulfubpp fulpelit Euf@uquw b Soyg maiup, ap
Ldpifmn byuiv onuliubpin by qyfuusnp figbajubpp oquliulpf fuludyuiv
frip bkl oqualy, npits bsafpyfp buguits sk Ygfufs oy E

[1+JT} {4+LJ519 | abez,a=bmod2}

onquilip: \pp by Sundivqfly Eup, np ww syfunnfop pigbwjubpf oquidy L
Urrigregkip, np wjn bpyfup bugoin sk

‘brgmp Z[ ot ]‘" bdpifmtayuiv £ L o € Z[ e ]
1+J2—T9 ]

Bfpyfi kit wopmdp wuitnlbup \a-nf: 2 fokup, Z[

onpuilyfs rdiybipu unpdp wwlidiinky - Hiup npuyl
44805 = 2 192

Sy U-u Z[ Ll ]—f' poprp s gpeywhuit applpf
prsglive [dyactit b, npritg Ysidpyfg bupuits Gopdis dfiufulisfi b Gk o (miuf
Cwlpuiprpd punn pungdivyuonlpdiit)), wispu Qudivpulpedt g qpogulpois
wnupp prduitfod” b O-f o winnivg divagopa iz (Veowf Candindugn
Lilpyfg bayuits unplls 2. Connlymefdyuits il Eup, np ol sfs
qlipuguingnud U-fi imupplpf unpdfiv b neplafio o € U: Uy hopdpyg,
EIk € U, wyur Sundivdwfi Bfpyfig kit unpedfy 3. Sunnlpndyuin
1 =By +06: GfdE 6 0, wupu 16| < Bl b wmmuguip ny gpoguiljuin
umupp, npfi bfpfpbyein wopldp dinpp E\Bl-py, fugn windiup L
Newnft 6 =0 I 1 = By, uyufiupn f-u dpunfnp bz Yuypun wnuincd”
Eip, np U Cundfilfumd” | Z[ Ly 19 ]_/, dpnfrgivikfe pusgilio |3y uit

Chan:

Uu[wgnLglr(u‘B LL(IIJLI; ny U = {1,—1}.’
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Vegmp ¢ =45+5J-19 wppp  dpunfop £ aa”' =1 &
lallla™ | = 1: Ruitp np frdiylpu unpdj wndfsg® ns pugunadpi
[ B owg ol = 4+ 192 = 1: (upkalis a® +19b% = 4 fiusu
Cwwpunfnp b dpwfn,  Epp b =0 L a=12: Zlwnhwpwp,
a=4+2/-19 = +1:

‘Shynp o € {0,1,-1y L afuf Cwfwgugogy Sowpunfngp
bdpyfi bryguits unpudp: bfpfn byyuit wopdh 3. Lunnlpndyuin: Sundin &g
2 = 0B +6 b et S = O funtty 151 < ll: Zhunlewssprusgs, 8 € {0,1,—1}:
Gldt 6 = 1, w1 = af I a-u dpunfnp b uyufiupu o € U = {1,-1},
fiust winlwp b (\epladic 0 € 0,1} I punl™2 = aff hunl"ty 3 = af:
Wunbnpy plomd b, np Gund™ e = 2 ol 0 = +3: Qupmygnogbup g

Uwmmgqbup, np 2-p wqupy [dfuf E Z[ 1+‘/2_T9 ]-nuf (dpybup,  np

Z[ 1+‘/2_T9 ]—g Prulpnp iy ol b): Shynp

2= (2 +2/-19) (£ +L£J-19): Wby lndisgglpus rspllepfin
2 =4=|2L+L2 /10 |]<+4Ly/19 |-

bﬁb n&% + 2\/—19 -1 "&bL% + i -19 - L/iuul[np &[7‘11 i
|+ 319] - ||—+—4—1 | -2

Slanlowpup, a* +190% = ¢ +19d*> = 8, npnkqpy  wnuivnol” Eup
b=d=0 L a*> =c? =8, fiusy viCuup k itk dupbpm)
wu[WH"LHL[nuI’ Lo onp 39 by wpupy b Ppulungla (3] =9 &
a?+19b% = ¢? + 19d* = 12, [iusy winCuwp b Luitfr np 01 dfisfnp
sE I 2% ne 3op wpupy [dfbp Eu, 2 = aff b 3 = aff wpuplidtiukphy
ChunlinulE, np hunla = 12, hunla = £3:

wahr [Ludiu&uy(u I;\ngl_/w]_lnyw(u ‘wnpudh 3 [Luml[nl_lq/w(u, puduinbup

1+J_ o l[[”u 1+J2—T9

=a,8+5 I l[wlr6=O, l[LqubL|5| < lal:

183



Newnp & € {0,1,-1y o 0 L0 0 W0 Ly gy
dllys prsditfocd” b O-fr pus, wyufingt fund £2-p, l[wlrbL 3 sfjraus:
N 2] =4 b 331 = 0: Lot LD LRy,

2 bl
1+,/
+ 1 [duflopfs fnedigglipu unpullpp.

| ] < e

‘ ”‘/2_T9 +1H = ‘ 3+‘/2_T9 H = 2 +19x 1+ =7:
Vhygmp x € {”JzTg, S 1} Nutap x = af b
lxll = Nl Bll, ctunlemsprusp || x|~y prusduivned b wnning disgnpg f

loll-p ofpross: Qesslypeusfn x| € {5, 75 b llall = 4,9} b |lx|l-p spr sy
puduitnfly wnuitg divagopyfi ||o||-fi fpuw: (\eplafis oqulyp sfr lpupng
(il dpyfrop by uin:
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Yoy puncfdiwgphyp

V“hygmp F-p qupn b Ruwlpi b Eufdunpupm winfuivky F-fr wj
K Eufdwonquljubpp,  npiup sl B Qwlpunpupdf Cugpfdiviu
g npngndfduits Ulppnndliudp, uyufiuptt Efdk o € K, wupu o™ € K:

Bapmpuiiggmp 1€ L Lunlivg fi-nyf puivlbup F-fi Chanlejuy

I+1+...+1 , Efdkn >0

n| Lurn

~(l+1+...+1) , Edtn <0

S|
Il
A

n] Lurn

N
Qunlivpnud Enp, np 0 = 0:

Woumuphliup  F-fp - Chanlyuy  Eufdwonquilyy  Fo = <{n | n € Z}:
Yympliu b wnng by, np Fou pulpugb Enfdwomuly b Nwpy Euwl,
ap fpanigualyaity qugn ol ol mlquspofulyf - o)
upupnctisdyncd Fo Eunfdwomulyp: ey Enule, np p = nm = p = fim:

Newpy & op lpund” Fo-p - pygnp wnupplbpp umoppbp Eu, Gl by
hguimfby Eplpne Confunmnp umopplp: Gplpne Confunnmp wnoppkpf
qrynefdpmiup Lunlivpdlp b wjwfufs 0-f qymfduivg, np =0 L
n>0:

Ygnp Fo-p prpnp vnpplipp umupplp Eu: Yy qbaypoed” wljuluym
b np Fo-u figmdip$ b npugbu oquly undpog [fbph £ oqulifin: Yy
fgmidipBfupdp  inpfocd” o ympupuingmp n € £ undpng  [diffin
Sundivyunmuufunivlgulymd 0 wppp: Loivf op Fopoquguo b s
wije. wpspndtlpned” b Fo-fi Sk dElpnkaq Fo-frny gqpaygudpuit wspplipf
Sudpipp&ubpp, npriup lpgdiol” En Fo-fi puivapgubph qupup, opi
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b Sl fgrainsp & il [flesls onuuils puivnpugtpfs oquspfi,
wyufiip ity [Rfbpf qupmfiv: Yuwfom] suwgoeiup, op Bk
Fo-fi prpnp unwpplpp inopplbp Bu, wopo qpupmp apopoclpnol” E
mugfiitnay [Dfbpf qupmfin fgmdipd Eufduipupn:

Vumuphlup djmu qlypp: Sy wydd guiffi p > 0, npp = 0:
Ylundivpbup, np p-u ‘wfunpugiiv b GdE p-u puspug ey £
p = nm, wugn p = nm: Luivf np F-papupon b b nepladis wndpog ol
E umuiimd Eup Gund 7 = 0 hpalin = 0: (Youuf p-t Utfuguig mefup sk
bl wpwp fuquignifn -, ap p > 0 I p = 0 wppunu fip wpupy
[Ip] & Yo qplayprod” Fo<u figndip$ £ pun modp-fi £, dinugpuliph
onuilyfits n=m<< n=mmodp: U g’ L np

F() = {O,i,é, N 2 1} -.Rlu(llfl np P oupuapig L/;n]_nLLfl q_blqgnurzp—(u
rppe E (F"L"F 33 LLFIZILLI[ILLI([I unuppl?pﬂ lInL(lllT(lllu(ll ZLulILuq_Lu[uﬁ:lrp [
Fllllllrlllll[llllﬂl[lrlu(ll), n:.plnﬁl FO—(ll rppen E I uy(ll (llnyilw'gl[nurb Zp—(ll.’

wlllllflllﬂll ll(llll l}l?ll‘BnLlr IPlll&lnLl llllllpﬂL(llllll[ﬂLlr b Zp—(ll flllﬂl”1[1$

ULﬁZ‘lnL['llanL[ L[IT[ILI lllﬂlllgl[lué[l\

Jrrpuipuiliggnep g D ppopndadpnal” L
mugfiitny  [hfbph qupnfin fgmdiapd Bufdugupm I
witnfbp b lpund™ by wpopndowdpad” B owpapy - dispg]
dinugpubpl quwokplin pgodnpd Euldusgupm:

\l,ll_[w& Fo lr(ll/gwq_w&mg l[n&l_[nLJF l]_w&mﬁ l_l[lll[nl b(lllgluq,lu&lﬂ'

Urwffivs qbgprod wind™ B, np g pincfdug pfispn O F, fud
ChCll"(F) ‘ll&lll(llﬂl.[:
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wuanlnnlL oa+a j‘ .. TO wmppp [fll&tu(luu[[lr(lug I’l(Z—nL[: q]lLIFLL E np

n Lunn

no =g +a+..+a= (1+1+..+1)a = i«

n Lunn

I, Ejdk char(F) =p > 0, wupw no =0 <= o =0 Luu/'n = O0modp:
nl_umﬁ, lr/glil’l = Omodp, uin MO = 0:

‘]\ﬁgngg char(F) =p > 0: h‘ll&u{[ru g funkup,

P !

((I + ﬁ)p = %(i >Olkﬁp_k I <Z > = k!([lj;k)! : Uunu‘llnur Fup, np
K- Y ) =pl: Gt 0<k<p, wapn K(p-k)! [@hufp sp
plutfw(lu[nurp—ﬁ l[[llll, ‘Blu(ll/l np o p—ﬁg l["nJgp /31_[[7[1,[1 i gy E:

Oeplati (7 )0 pindwimfoud” £ p-fr dfps winnig hinugnpf b
(7)) = 0modp: Zkanlimpug (o + B)’ = af + PP \bisiumnyloni

(@+B) = ((a+P)") = (ar + pr)’ = o’ + pr’

(a+B)" = o + B (43)
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\_prgwinp Ty &mbp

Wundutanle lpgfumuphbup dpwju bpunnp puitnulpnfdyundp uwpp
wppninulpng qpupmbp b qupm wokpnd  fpoulppenf Eup o ncuBuagm
flpPunfnp pupn: Y puipnkpp vle lppsfocd” Bu Sugneayfe quigmkp:
Puswybu  nbuvinp, p o pundduwmgpls  nlubgog  fbpPunfnp g
uprpritnolpnod” b fip dEY 2y upupy spusponp: g Kou B
Eufduguiprit b: Vymplin b lpunnby, op F-p g duyfiu mgpudnddmi
K-p thunmbivdf: puljunyba, Efdk 2 € K b a € F, wum Aa € F:
(pgless prsbisplivit g npdngnudyncs dbpgund” Eup F-fi g nudinpnds:
YSuyfi  wwpwdmfdui  wwlliinlidy pogep apaypdidikpn
wilifnluynnpby punfupupfind Eu: Louoivf np qugop fbpunfop b i
F-p sflipPunfnp supuivfi qduyfitn iupmudnfdyncn L b nduf flspPunfnp
pussgfin: Shgmp F-p m-supuivfy b K- impplpf poivalyp Soguinup
E g-p: Neplafis, wjn fpgmdip$ £ (apuygla g uyfin umupudnfdyni)
Vi(K) = {(A1,....,.An) | Ai € K, i=1,2,...,m} M- suthuitfs
Elpnpulyuin wwpudmdyuivg e F-fi unopplpl puitnolyp oo ©

Vm(K)—ﬁ umuppkpf puitnulyfin, nyi ZLUL[Luuwp E qm: L|/1[uun_[7LnL[ wyu
I]_lumnllnL@ﬂL(lI(lllT[lLl K= Zp nEwypfin uflu/ilgwullru umufllnurlr(ll‘g\

q](llll_nLl_r 3 3o
JEpPunfnp  qupmfi wwpplbph puitnalip wpopy - [dif
(rpuspenfs pundfdusg plisf) wonnfbuin k:
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Puswybu  wpqby kol Liup  divpofulivg g bwjubph
oo fduit. dundiitndy (@knpla™ 1 4-fo idtanog gbugpned),
witnfbpudlyh pugpdivivgunding Sufwd qpfuafnp g bagh lpoadiodgs
lywinngifind pulpnnp-oquilyp quign b YppunEup (Sknpkad” 1 4-/r
diiiunfnp qlph qungnddyniinbpp pooupopy (B Swnlivp Fpr
fbpPuninp puipnfs it Sundivp:

Shymp n 22 b ()4 winfbpudlyp pupdidiigud” EFp - apupy
qugpmoad” b degf = n: Zunlivdwgfn  (nplal” 2 1-p Fplx]/(fx))
budpnnp opulyp sy b Pusmlbu goygy bfiup aufly (Okapkd” 2 1-f
dimiunfnp  qlwypp  nundoweppnddgeit Funbivinaly Fplx]/(f(x))
pupmfs  gmpmpuiigmp wwpp (Qwpulify s
(f(x) = Sx)gx) | gx) € Fplxl}  ppluyp)  wpupnitmulpned”  E
dfuspd tpnplin nprpud h(x) € Fplx] dpp puspliviugunt] npf Sunbiup
degh < degf: yflyh wmnyy, Cwpupy sl gropupeiugn
pugliiugundl” wugfu b dplungy W(X)  dinugnpgp: Loisp np
degh < degf = n, wupu h(x) = ao+ o1x +... 40 X"V b wyrugfruf
h(x)  pupdivivgunfiskpp puitadyp Susfunmnup £ p" - (puitf np
00,01, ..., On-1 gopdwlfubph pinnpnddyuin bquitnliubph puitnalp p*
B): Wpduyn b iwle, np gropupuinyneg Swpusyfg g wppocus by
- Sy dlbly Canir prsipliiton unl; mpfy wrssfuaips dinpps &1y (puaitfs np
ity dinugnpyubpp f()-fi dfpun puduivlyfun Sandfivlfunul” Eu CEuy
uyy punpliivgunfilipf Ckn): Yugpum] wnwguinp, np Fplx]/(f(x))
wnnppbpf puitnalyp Confunnop £ pU-fiz Nwpy £ np, BjdE npuybo
Fplx]/(f(x)) puaipenfs sl Spuunlyfry rpurbipf
ukplpyuignigfisubp ifbpgubup Cundivyunnunfunit h(x)
pugdivigundikpp, wpu Sopuolify quookph vlppodiodp qacdivpocdp
L pugdivgunnlpodiy undinspumfuuinks poen mod f(x)-fr h(x)
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pusgdisinqunfibpp qooliuplidup b pagdivageendpdiip: "puinlEup
O-mf h(x) = X punplivivepundfiy Canlivmpunmuofuuitng Saopuldify qop:
Ygnp f(x) = Bo + Prx +...+fux": Sumuphlup Bo + 10 +...+5,0"
Gwpulppy  quop: Nwpg b ap g Sanlivgpunmupunin. h(x)
pugdivtipundpn e (Bo + frix 4. +Bux") modf(x)  pugdiiugunfin F
mpits Canfunmup E O-fi: Wufipy, 0-u f(X) pusgliitgandli apliuein F
Fplx]/ (X)) qupnnud? Ymgfum]  fpunnegbgling  Fpr oflipPunfnp
qurpenp: Yuoed” B, np uyu qlaypoad” Fpr qupinp wmwgifnad” b Fyp-frg
b 9fivfin O wpdivap dhuwgjulyng:

Yympliv & ulppnnty, np npybo pugfo (pEup, np qupmp g duyfi
wmupwdnddyncn L Fp-fp o whpnmdivdp)  lpupng Eup o ofbpeguly
Lx,x?, ..., x" puwgdidugunfikplin Sanlimyunnufuniing Gupulifyg
by, wyofiupy Fpr qugump 1,0,0%,..,0"" wwpplpp: Puljuyl,
h(x) = a0+ a1x +... +0n 1 X" pugdivigundfitn Gondivupunmufuuitng
Cwpulpfg quup g Qo + 010 +... 40,10 gunit b (Younf, Fp
quigmfy grpmpuitgmp wwpp ubplogapdeal” 1,007,000
unppbph g duyfin fmlpfinagpuyng: Nwpy £ op 1,0,0%,..,0"
syl Sl wislyusps Ko F o tlpususlizdf: Doslpsssglas, g

Y0sV1se-s¥n-1 € Fp lyo+y10+...4y,-10™1 = 0:
Uw  wuinulppod™ - np Yo+ yi10+. . +y,10" wppfin
Cunlimyunmuufuuiing W(X) pugdidigundfy qur Yo + 71X+, +y po1x™
punpdiiigunfis & npp f(X)-f ofpun pduinkypu wlinp b uw gpoyulpeit
dinugnpuy, fiusp Sompunfop b dfugjuyo = y1 =...= Yot = 0 qplaypnod;
N, quipnfe hunlivpulyuiv: iwpp dfpopdbpapby ubplpyugdnol” E
1,0,0%, ....0"" wnpplp q Suyfin hndpfiuugfuyn:

Llhpnnkup, np dbup  wpugmgkgliup e, np Al
pupdiitigund”Fp|x]-py, npf Cunlivp 0-u wpdivn £, winwing dinagnp f
puduitnfnud” b f(X)-fi dfpu (puith np 0 wpdimn E oy ugfusfs
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pusgdiitupunds f(X)-f1 dfpu puduinkyng mmgwd dinvagopgfe h(x)-f
Sunlivp):  Wufivp,  (Ax))  ppbuyp uplifnd L pogpnp i
pusgliciug ik, apiug Canliup 0 wymliun E e f(X)-p wdEnaspnpg
winnfluitfs wyugfufs pugdiiuganfilpfy JEju L

Wyeregfrismf inbuinp, op Fpr spuigenp gl Sandivg posfudpuin b
aitbtiny Nopy wnnfluif Fo-fi lpmodiodi opll il St
pugdivitngund? Jnple lppupognegbup, op lppdivgalpnis Fp-fr g bgpno
prpnp 1> 1 Canlivg gopmefdyncts nculis n-pr. wnnfluiif wifbpodhyf

FUJLLLrLu(lIII_LULfl.llT[L' wu/ﬁl‘p(u, prynp uyuig p /Eh[lipﬁ n pryngp n Z 1
[LULrLup q_lynL/(?/nﬁl ﬂL(lll'l Fpn e

Opfivuly

Guwmngbnp Fy2 qugpmp: Dpus Sandinp fbpgubiup f(x) = 2 +x +x°
puglivitgundp, npu winfbpudtyf b F3[x]-nol? ool Fy2 qupmp g
F3[x]/ (2 +x +x%) quyuiv b, npp umopplpp 1 b 0 unopplph pognp
aduylt lpdpfinghuiubphy £y pungluges (apuoky 0 dhugday
wdivait B h(X) = X pugdiitgoundfis Sondivpunmufuniiog Supalfy
qunits £ F3[x]/(2 + X + X*)-nudd): @ufusplybp F2-fr unupplpyp

Fy =40,1,2,0,1+0,2+6,20,1+ 20,2 + 20}

Gwnmgkyp  goulispdicy b pugdivageanldidy wgpoeadiulpp
hnnwplym] gooliupood” b pogdivegeenlpood” o mod(2 + x 4+ x2)-fi,
uyufiup  ogumflym| win  puiupy, ap 2+0+07 = 0: Qpfiuwl
Ox0=0>=-2-0=1+20:
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+ oO/1/2] 6 1+6 | 2+6 20 1+20|2+26
0 o1 2 0 1+60 | 2+6 20 | 1+20|2+20
1 M2 0 1+0| 2+0 0 1+20 2+20| 26
2 HE 1 2+0 0 1+60 [2+20| 20 |1+20
0 H B Wl 20 1+20 2+20 0 1 2
1+606 A A B W 2+20 20 1 2 0
RN BN BE BB | m 1+26 2 0 1
20 H A H N N N 0 1+6  2+6
1+20 A A B N | | | 240 )
2+20 A A N H H | | 1+6
Romgdivgunnlpdivit wiggrewly
X 0|12 0 1+60 | 2+6 20 [ 1+20|2+26
0 0 00 0 0 0 0 0 0
1 12 0 1+60 | 2+6 20 | 1+20|2+260
2 H E | 20 |12+4+20|1+260 0 2+60 | 1+06
0 H BN 1+20 1 1+60  2+60 2+20 2
I1+6 A HEH N 2+0 20 2 0 1+26
2+0 /1A H N N 2 2+ 20 1 )
20 A AR N N M 1+20] 1+6 1
1+20 @ A R N N N | 2 20
2+20 @ AR N N N | | 2+0
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uipfbup O-p wnnnfuitivkpp

0 =1
0l =6
02 = 1+20

03 =0(1+20)=0+20>2=0+2(1+20)=2+20
0 =02 +20) =20+20%>=20+2+40 =2
0> = 20

0% =202 =2+0

07 =02+0)=20+0>=20+1+20=1+0

0 =01+0)=0+0>=0+1+20=1

lpuuﬂugn:.glfl{p, n g mlnlﬁ ﬂL(ll/l gy L[[TFXLUI{"[T q_w&mbpﬁ [wd;up:

U/unL[lrmlL FZ—nL[ ljiywitnu i Fup Fq nupwmfi s gpopulpeit viwppbpf
pwzyﬁu@n:fbﬂ, il Lulfu[uymnpb(u l[wzlLI;qubq -1 ljpg fr funodp [1uun
progdinuyunnlpdin q_nparnllnl_@w(u: FZ -p hnsynad”  E qupinfi
doynfugpljunnful  funcdp:  (\pkadi,  jocpupugmp o € F
punfipopnod” x1 =1 Sunfunnupdidup,  fiuly JnL[uu_[gLu(lJZ[an Ty
Fq—ﬁy\ x?9 =x [uu[luuw[urufllﬂ: -.Rlu(llil np x? —x FuulLrufln]_uuﬁl niufi s
LUI_[ITL, puitt § Lunn wipdivn, wig uwnnyg E np

193



xi-x=]]e-a (44)

a€F,

Wargp il 3 4.

‘]\ﬁgngg F, C K, n[unlnl K-u JEl ) L[lrpgw{np i
E: npu[lruzlfl K l}lu&lﬂfl o quml[w(llﬁ F, I;Lulm/fu
Lu(ll[[uuoLlrlm EL Fllll[lllplllﬂ, npad = a:

Uupugnyy. 0f = o wuydiviup nkgp oiup dpwju b dfugfie wi
iy, bpp 05 X4 =% pogdicugandf wpliaet b 2 anfiudougn
(44) puivwdlefy X4 —x puplivivgondfs wpdivaivlpp Fo qugmfe pogng
srnaprprligits Kus:

(Lnplal 3 5.
Fy spuspunfs divspesfrusygflysssfn] furidisp ghlyply E:

Uuprgnyy. (\cubiup, np Fo-fi lpupgp Gnupplph puitnulyp) Sonfusap
Eoq—=1: “Wumwphbup q—1-fi bppmdnddyniup upupy  [diflpf
wpg gy q—1=py'p5pS: puimllyp b = py,
i=12,....5: Dusugbu gqpunbyp (Phymp [Foopbdhg) x5 — 1
pusglisiugundly wpdinivbply puinp Fj-nul” sh g bpuquingnod” 2=

g1

Pi

l‘;l/'"'[[" neuwnfr l[q_uflu[ﬁ a; € F;, npfi {undiup Q) +1,i= 1,2,...,S:
g-1

\l,&w(luul[lr(l{g ﬂ,‘ = Otl-hi R = 1,2,...,5: (I]Lu[nl b, nn ﬂfll = aiq_l = 1,
nunnfe Bi-p fpopgp hi-p pudvwimupup b wyofinpu pi inbupf [Gfu] L
n[unlrllm < kl‘: b/&'l:m < kl‘, Ty 1 = ﬁ];;" I
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m pki—m—] k-1 ﬂ Di q-1
_ Di i _ APi _ hi P .
1—(/31') = B _(ai ) =a;" *1:

Newenft m = ki b Bi-fr lppap Soanfusp & hi-p:

Wpuivdptinp B = B1Po... Bs: Ummgbup, np B-p lppa p Lonfunmg
£ q— 1, wygufiug B Fio Subgu b munfs Fyp ghiyhly famdie £
Whuluyen & np BI" = 1: Whgowp B-p lpwpgp g — 1-p pruduimopug £,
app wwpplp Eoq = 1-fg: g playpoad” B-fp lpopgp lyfiuf
e o [k A pudvivagpyp: (\pnguslfue i
Canlivpy Kufdunpliup, np B-p lupgp S--p pudvivapapi B Y

-1 L B\ P By hici i
plprcd” B =1 1 B = (B") =1 pmpnp
.
i € {2,....5p: leplafic ﬁllé_l =1 b L wybanp E gfinp wpunnfily Bi-fr
fpapag i3 Ry = Py -fiv, slpgjis s wygagla sk Qhnbeapup B
lpaspgp g — 1 b (bmplafii wpugngifind E:
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\]‘lrpguu[np I}Lulmﬁ l??l/gw:}wlmbpﬂ

Wi 36,

1. x" =1 pLuLLLrLu(lu}LuLﬁl LLIILLLI(lIH Lﬁuugnpl}ﬁ
Flud‘w(lu[nurl,— xk—1 Fluzllrlu(llq_wllﬁ L[[uu I_Iilll(ll(ll N
Lllnly(ll uy(ll nplwypnul; Epp m-y lllILlll(llg Lﬁuugnplpﬁ
[zluoLuflu[nLLr[,— k—[1 L[FLLI

2. a gl /3L[/1 Lwndivpp a™ - 1-p Lun_Lu(llg
Lﬁuugnpq_ﬁ FLuoLLu(lu[nLLr F aF - 1—/1 L[[nu L/ﬁuy(ll I
I_Iillly(ll uy(ll l;lrulgnul; Epp m-y1 luILlll(llH lﬁuugn[n}ﬁ
Flud‘w(lu[nurb k—fl L[[uu

UquHnHH. UullugnLglr(ll_g 1"[': Ulfu[uym E npp M > k: Rwd‘w(llb(ll_[g
Lﬁ.uugn[n;nL[m—E k—/1 L[Flll\ m = kt+ r, 0<r«< k, Ly

m __ kt _ r__
X 1 _,rx 1 x -1

xk—1 xk—1  xk=1

kt _ 1 9 m _
Puitfr np ))Cck—ll = (.Xk)t + (Xk)t oAk 4 1, iy -_))Cck— 11 -

r

N i X SN

lrpp r = 0:
q](llq_lrlu(ll 2 l[[nn(ll Luu[LanLgL[nLLrL—(lurufluuu[bu:

(Lnplal37 .
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‘“hygnwp wpfwd L Fp oquigpp: n-p gmpupuitgngs d
puduitpupf Conlivp qrynddgnit nivfp Fpo g
dhuly Fo Eufdupupinp: Fpr quipmp wyy Eufdunpupnkbp
snilfi:

Ueyrgnyy. Yjuluym b np Fpr quupnfs pognp Eujduwpupmbpn ncuk
dplicungu pundduwg phsp, opt Sonfunnup £ p-fiz CShgmp Fpo © Fpre
Weragregliup, np d-u n-fr puduivwpuyiu b Fo-poupplpp p? =1
Cunn Ky b prfuspnod” By X7 — 1 = 0 Cunfunnupdisiug,  owdpji
qpuitp Wwle Fhy-py  Eu b pusfupwpead” B xP7N -1 =0
Confunmplisiup, nunnf Canliuduwfu (44) puinudlefs wnwivool Ep, o
X' =1 pugpliitgundfy puduifmad” £ X7 =1 pugdliitg andf s
wiuitny  dinngnpyp: Lunlivdwjy. Nugnul” 36-p 1. hfanh p" — 1-p
purduitnfnod F p¢ — 1-fi fpuu, puly Conlinduwfu uncfi ufungdiin Q. hanf
n-p puscuivafiid t d-fr s

‘Shynp uydid” d-u n-fi puduimupuyin b Qupugnegbup, np Fpr
qupinp gl EOF o Eufdwqupmp b owin dpliy E
Louinulbiny E = {a € Fpi | o = a}: Yo pusglivefdynivg gy L
huljunybin, EfdE o, B € E, wupu

(a+ )"

d d
= a? + pfF =a+
Lundiv o 43)

(ap)”" = ar'Br' = af
((Z_l)pd = <(Zpd>—1 =q! ljundivpulpuin Q. 0 Lunliup
wuu[ﬁunL[, 0,1 € E, mule (Z,ﬂ e E = a+ ﬁ, (Xﬂ e F L, L[l?pgwu[lru,
O+aeceE= (1_1 e E: ﬂl_umﬁ, E-u iy E

cukaip, mp E*_f gl xP° — 1 ity andle wndiviiki B
ip, 1 ppkpp prugdivitng " i
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Nugmd” 36-p p" — l-p puwduinfncd” E p? —1-fp sfpur L xP"71 =1
prgdiduunlp puduifod B P = 1 pugdivitngandly pos: (b,
X" =X pugdliiigandf puduiifaal B xP° =X pugdidugandf g b
hyuimfp dfp () pugdivugand; ap X" —x = (' -x)g() &
degg(x) = p" — p*: Pugupbus qfunkup, XV" — X punplisitgundis niup 8y
p" Cunn umupplyp wpupy (ny wpuonfly) wpdivn, apiup lpagdinad” Eu Fpr
qupp: Luivp op X —x b g(x)  pumpdiiugandikpp X7 — x-f
prurduiwpupivkpn B, wopu qpuing wpdoundubpp unguegba spopg Bu
(upunnfely skin): Wiy b, np (5P = ) gO0)-fr wpliuriulepfs_puitnlyp
o XP° = x-pp b g(X)-p wplimrinkpp puitnlfubph gk L Gk
XV = x pumpliitugundly wpliveivkph puiadp p-fy dimpp b wngu
X' —x = (& =x)g)-p  wpplivuivkpp  puiwlp  yfiup depp
pl+ (" —p?) = ppy,  fusy  wivlwp b Ckmliopop XP - x
purqdisiguntis ncupy 8fpn p? Sunn unopplp wppy wgnlioe, apaup by
hppiplincd "B F o quipinp: \Yyufiupy E = Fpa:

bt H-p udbly wyy Eufdunpupn b Fponud™ b niufy p* Sann wnpp,
gy Sondivduytn Wopnid” 3 4-p vy wmoppbpp wlbip b pofupopby
X —x = 0 Lunfunmpnbivitg, uyufipn H = E: @knpladis wngugnugud
E:

Opfivudy

\l_,lllu[uut;pb(ll_p F4()96 = F212 IIJ_LI&LH/I pryng lr‘ll/gwl;w&mbpﬂ:
éuurlu&u(lfll f(}-lrnplnr 3 7 —/1 vinuitincd” lT‘lgB b‘ll/gwq_wlmlrpﬁ
(ulrpq_[u[w&nl_@ufll [lrmllz/wL u[wml[lrpﬂ\
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\_Ll?pgwllnp q_LLIlLﬂbﬂfl q_IZInqulnL(llE

Nupnul 3 §.

Ygnwp f(x) € Fplx] witnfbpudbyfi pugdivtgund™E: x* — x
pugdiitigundp puaduwiinfnod” B ownwing dinugonpg fi () [
e dffin b dffin wijy qbwypoud; Epp k- pudainfnol”
b wnuivg dinugnpn i deg f(x)-fr tfpu:

Ueyprgingy. Wegmp degf(x) = n b X" — x-p puduivfacd” E f(x)-p
fprs: Pl qfunkinp, Fpr qupmp mnwgnol” b npugl Fpx]/ (f(x)
b 0 qur X psgliitgundf Sagulyfig qunit b Sfunkup b, np Fp
qupmfy  Gunliupelpein wepp ubplpgpugpdno” 0 1,60,02, 0,01
wnupplbpf  qduyfiv  ndpfiiwgfuymf:  Epgubup Fpr pupnfs
lunlivpuolyuit i yo+ 710 +...+y 10", vi € Fp,
i=0,1,....n—1: Ruinp np vi € Fyp i Eup Y7 = i pogops
i=0,1,....n—1 Cunlivp: Rupdpugiubyp  yo + 710 +...+y 10"
wsssppps P annfrSui

n—1

(vo+7v10 +...+7/n_19”_1 )pk = 7y0+ 7/19pk +. Y- <9pk>
Ruitp mp X — x-p puuduitnfacd” b fX)-f dfpuss, wrgrr f)-fr wiplig
Ll ka — X—/1 w,u[ium‘u b, nLuu1/1 9—‘[1 FLUL[Lu[uupnur b H‘Dk = 6

o+ 710+ 4710 ) = 70+ 710+ 47,10™

Neplbalic  Fpr gy pognp ampplpp X7 =X pusgdivitgundf
wpdiurikyin En, Canloapuy For-p F o Eufdugpapuiu E b Cunfivduju
(Nenplad 37 -fr Kt wylanp b prsduitlfs winuitg dinugopyf n-f g
‘Shynp wydd” ku puduitnad” b wning dinogopgf n-fr g
Niukup, np 0P = 0 L 0-u xP" — x-pp wyplivuit b, Cknliugpup, fitsugb
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Lu[n;[r‘ll ullu[ullrL l?‘ll_g, xP" —X-n lzlud‘w(lu[nur E f(X)—ﬁ l.[pl_ll (FP[X]—ﬁ
g Flutllrlu(lll]_UILﬁleE, npn‘lly Lunliup 0-u wipndionn Fwd‘uflu[nurlr(ll

L)-p dfpws): Qunbivdwjy  Wugnod 3@-p X7 —x-p fpp  Lhpldfin
pwd‘w‘lu[nurb Xpn —X—fl l.[pl_ll, nLum/1 ka —X—E li'lud‘llfllL[ﬂLlrl,_f(X)—fl

tfpiou:

(rbupbal39.

Shynp Fpr quipmp g b on-pg s fiSuitfs
witnflpdbyf f0)  punplivugudp dfifngm, wyufiupl Fp
nupmp wmugwd b onpyla Fplx]/((x) b 0-1 qur x
prgdiitupundfy Sopulify quniv B Yo qbwpocod” fx)
puspdiiigundfs prgnp wpdinsdubpp wpepy Eu (gpoing
wpunnfpndfdyniup 1B, qpuiup popnpp wpunnlpuiinal” B
For-fits b pprusitsp Shanbypusfts £

0,0r,07,....0r""

Uullugnyg. {]‘flgﬂL‘B f(X) =0aog+aix+...+o,x": \Rlll(llfl ny 0-1
Lu[urlum L Ly f(@) = 0o + 6119 +... +an0” =0: f()C)—ﬁ
q_np(}wl[ﬁg(lllrpﬂ Fp q_Lu&mﬁH Eu, [lnnluuplup a‘f = i, | = 0, 1, RN 124

upfbup

AOP) = ap + @107 + a2(07)* +...+a,(0P)" =
ah +al (@) +a5(0%)" +...+an(0"):
élULFLUALL‘lilI (43)—/1 umlu(unLLrElug\
A0P) = (ap +a10 + a20% +...+0,0")’ =0

[L Gp—(ll (llﬂy(llll[l?ll lllplrlllln bf \l_,lrlll‘llllllllhll lllll[lllHﬂLHl[nLlr L_, nn
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il B wale 077, .07 yuwppkpp:
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Sy umiup uyddd; ap 0,067,077, 07" wpdiniubpp napplp B
Wogmp 07 = 0", ppnby 0<k<m<n—1: Qunfummupm|duin
Eplpe fpnpdlpp puspdpuugubup p™" wnnnf i (9”k>pn_m N
Yeasinf, 67
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=0 L 04 xP"" — x pugdiitg ool wpliit b sl
qfunbup Fp[x]-fpympupuingnep pugdiiugund] npp Sundiog 0-u wipdium
Lo pwduitfond” b wnwing  dinagopgf fO)-f dfpo: Zlanlewpop
P X pugliiigandf puduifaud” B Qundindusi

q](llq_nur 38—[1 n+k-— m-p pwd‘w‘lu[nuf E n-/1 L[[nu: le[uy(ll
n+k—-m<nh n-p &/1 l[wpnl]_ L/flll?Ll’l +k— m-ﬁ [zlutflu(luu[uup: ﬂl_umﬁ
prynp 9, 81’,91’2, - ,Qpn_l Lu[urlum(lllrpﬂ lﬂlll[1[1[7[1 Eu: \Rll.l(ll/l o uyu
Lu[uﬁum(ubpﬁ ‘Bw(luul[E Zwllwuwp E f(X)—fl wumﬁ&w(u/fu, wiyun poapng
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Fw(luu&[LE\
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d|n
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lppnfuwplivkup spuin woengfugdud wnpdivdnpfaod pogdicigadin]
frulpuig Skpfy o Cuitbpm] X-p wndBunndbS wnnfduinf qopduldyfgp:
Ruinp np X" =X punpliugundpy unpdimfopnd E - angue wyy
qrpusdyfufulipfs wpunwg pyuyp yfiuf Confusup 1-p:

Qunlivdusjts Wi 3 8-fr, fX) witseflnudlyfy pusgdisitgundfy xP" — x
prgdivivgundfy pudvitpop b dpbaf e dfogs g qlagpoud; bpp
degf(x)-p n-p puduimupuyin b (\opladi X7 —X-p pognp wju
witnfbpudbyh wnpdivfnpefind pugdiiugundikpl wpowg iy b opitg
i eiyp N-fp pusdritnapugiy b @bopkdl ampognegdu b

Lpuitnwulbup Ng-mf Fp[x]-nud” prynp d - anonfSuinp wimfbpndtyh
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